VIASIer INE 9

HYDRAULIC FITTINGS

RIS ERFIERRAR
JIAXING MASTER FITTING CO.LTD

Hedik: HE - ATEEHRERLTWEXEHEIS

Add: 1 Jincheng Road, Qinshan industry region,Haiyan,Zhejiang,China
mi4w: P.C 314303

FiiE: TEL 0086-573-86408117 86408112 86408115

f&H: FAX 0086-573-86408222

#p#E: E-MALL mst@guanjiantou.com tzm@guanjiantou.com e
Http://www.guanjiantou.com G



vViASler INRER

T e

o H ° HEH

e EHE
ZEex+t

O X F
® FyEof

o ®
Q@ e
@, *

i

BAF T

BERAFRA—RIEM, PESR A nskit, B8 RMaE.
Master meet the challenge of global integration, diligently make the first-class brand by the consistent.

® mEAx

e

sk CONTENTS

ARIEN

Company Introduction

BARER

Technical information

FamBER

Contents

FE iR E A

General Instruction

FEamARY

Product Series



VASIer IDRBARK

TS HEFHIE R

PROFESSIONAL

MANUFACTURER OF FITTINGS

23R IHS4L

ma A Ak

HIGH-TECH ENTERPRISES
GBI % by i i o o4

GB NATIONAL STANDARD-SETTING UNIT

TS16949 A Gkl
TS16949CERTIFICATION

"'-%’iﬁ%%”ﬁﬁ%%ﬁﬁﬁ ‘_H_E_mef-aitﬁi, FEZENRIEEHESITIRK., b 810028, Eietii804

E"E m%*aﬁ IZ;E‘L BETE ., KIIRETE. NEIREPINBINERETR4%E, N NEFTHR20%, $5

B34, &D?ﬂfw%Z“ﬁ PUMEIEEIEE. MEEIEE, SHHITNFR. FIRER2688, HEE.
FE. B HE. wh B B B &E BANEEE20028 5. R T 25005 REFTEE D, FRER T —
VEFERNE IR TIMA, AFEFNEBEESHERRASE TS, RRASHERATIBIMERTZ,; BEEREMSH
ETE; FEXASH. INTHNZREREBE="SENEEESHEHIER. ATEAQATEEEIZISO9001: 2008
TAIELIR TS 16949100 .
NREIFRENZ. B, gE, AERRFIEEELERIFEFIT 82—, &R BiEL. OB RIiNgdR
M, RENEORESHRIFEARES . ATRBISO, DIN, GBiF#EHTE, EBitHEERE,ERK. IEEFE
mAET, TR, RRETLY, ~RIztEEE, £8, 85, 88, H52REMNSERFEST mi
TIRNRISTE

Jiaxing Master fitting Co., Ltd. is located in Zhejiang Haiyan Qinshan Industry Zone, which is 100 kilometers away from Shanghai,
80 kilometers from Hangzhou, and10kilometers from north outlet of Hangzhou Bay Bridge.

Our companies are equipped with high-quality facilities, advanced technique, scientific management systems and full sefs of
test equipments. We have four lines of intermediate frequency galvanothermy forging, 20 lines of robot, 3 lines of cold extruding,
2 importing burking equipments, 3 heat freatments, 3 throwing pills equipments and 168 sets of CNC machines and 200 more sets
of other machine tools. Cur company are specialized in hydraulic fittings according to ISO,DIN,GB standard, such as adapt-
er,nipple, straight ,elbow, tee, cross, connectors, couplings, forgings, steel wire knitting, stainless steel knitting assembly and
coupling assembly and so on. Our company have come into being the production capacity of annual 25 million pieces and
brings up a professional technical team. Different processes are used during manufacturing, such as siraight fittings by cold
pulling, special fittings by intermediate frequency electricity heating forging, nuts and bite-type fittings by cold exfruding and
machining. Our products are honored as the third place of national super-thin gas carbonHiltered technique. Meanwhile our
company is a consfitutor of the latest version of the national standard pipe connection and get ISO001: 2008 cerfification and
1516949 cerfification.

Our products are exported to America, Germany, Italy, and Britain that are in the field of the automotive indusiry, engineering
machinery industry, shipbuilding industry, etc.

We are dlso in-deep cooperation with the international famous company.
We warmly welcome our business friends to visit our company.




la?ﬁﬁmﬁ

’%J.LE’J“’“‘#FEF%J

ONAL MANUFACTURER OF FITTINGS

ROBO
BALEFL

IWE @r&%m SN

AR fRFRE SL I RAY KR

EENNE, SFNEE, SWElF, 2rlERKEBITENIR
R, EERENRTEHMBRFAIRWER. FEFERUREEE
SEYMERItEE, BRA—SIEMTEARE, FRS s,
ARFT s -

Neat environment, orderly management and effective operation is the
source for an enterprise to develop at high speed. Each employee of
Master has excellent occupational ethics, excellent occupational skills
and collaborative spirits, forming a powerful fleet that strides ahead in
the competition with eye-catfching talents.

Page 003

CIETRID TR ERERER, BAEECHT, TR LE

ERFR, WEHH. BR “NENTE" REBFHNESR
5, TEEHSTHHAVINE. &E. R8I TIS09001:2008
FREHEZFIME, TS16940HBRAINE, BEFEFETmICIA

Innovation is Master perpetual and unchanged pursuit. The
enterprise has been focusing on the innovation and constantly
developed more perfect products to win the market. The motto of
master is pursuing perfection. Meanwhile, it has been focusing on
the harmonious development of pipefitting and the market. The
enterprise has passed the ISOP001:2008 cerfification, 1516949
quality certification as well as the natfional mandatory 3C cerifica-
fion.

Page 004



VMASIer INRAK

TSRS 3

ADVANCE EQUIPMENTS

SCIENTIFIC PROCESS
FiHg s HETE

Page 005 Page 006




MASIer INRBAK

LA RS HEFHIE &

PROFESSIONAL MANUFACTURER OF FITTINGS

Page 007 Page 008



VMASIer INRERK

LARYEHEFHIE 5

PROFESSICNAL MAMUFACTURER OF FITTINGS

Page 009 Page 010



MASI=R WARISEE  Technical information

BEHFFENEES
BR, ARBEENEENERERERNLE

D+ +Q=1"% G RIRIE, FEBMEERSSHNEEE, B
T, M TR A R 2 I, R
FEEETET, R R AR
ST 4 1 F B R ) S T
RENFIES,

o O WW lci)l

18 BF R E N E R L AR IMER 6 R R iR M
TERMTHZENAEERNES, XRNTF
BB FFEMER RIS,

Technical information o FREEERAETERIARES.
N E B R, FEBB]JAFAF 7] BB LT A\
?§*1Elb\ B, SEANIOBIARETRER, LE 12 847 E 8]

FACIRE T 7 O B AEE FER G
B BE 4,

& HESHPEATNOFETRR, EBEFE
ETIOEEA. B. C=A4 SFMEZH
, BE—tIEBFRENRAE S MEMES SR
545 8R, MEFERIRDMENER ¥ e
WMFEBIRIMERER, F8EREF ‘ e
£ B3R Bl hE IR 6L,

o EEBFESHROGT. MEMRLET YOV BN
LEEEEAERARENESYE, Bl
BRI RERREMMRE, B Ppp—
3R G T 4 R S A O ) RS
%, M ARE-EE KA E TR
8 5 R,

.

BEBFEEREENEHEE, TERTXS
HITRFE aFsEZEMNEH, MFSE
B E R & ERE#AEE,

Page 012




BARER

Page 013

Technical information

Bite type fitting
D+@+@=1% O

= VD

Bite type tube fitting produces a leak free

connection of tubes and components in fluid

system,owing to the unique internal geometry of
master cutting ring.The design of cutting ring is
based on three essential functions.

¢ The front cutting edge (A) has already
started cutting into the tube before the
second cutting edge (B) starts. As soon as
both cutting edges have cut into tube to the
designed depth,further advance is limited by
the stop shape (C).

4 Owing to the design of both cutting edges (A
and B) and stop shape (C) all force arising
are equally distributed. This distribution
along with the specially designed interior
collar (D) of the ring guarantees increased
safety, particularly with regard to vibration
and flexure stresses.

® The special ring design,material and heat
treatment allow a defined elastic
deformation of the ring. The spring effect
compensates subsidences of tube bite and
threads, thus ensuring long term leakfree
performance without retightening.

Mater cutting ring have demonstrated a
remarkable ability to remain leak free under
various service conditions ranging from sealing
high vacuum and small molecule gases to high
pressure hydraulic {uids.

However, proper installation ensures the perfect
function. Poorly assembling may make the tube
leak and spring effect disappear to cause
anti-vibration. Please read the instruction
carefully or ask master company technician and
appointed distributors to prouide technical
training before assembling.

Before tightening the nut

e

After tightening the nut

MASIEre

Technical information

BARER

1B R R ENEEZ K HISEE

R AR TR

A FRER B c

® BN
AREENEETRREAE. ENFR
ERRAHE, WRKETSE, BRE
o BT HERKREN, TNARRE
RN EMIEN . IR,

o EHiieE
ERNpEE (WER0TFERE—R) -
WREER. EEEMLERRNER.

o mMEFREESEHL, B
RO BB

D E F
i '
- w
E
H#ig
-

o IR, FEfRRELRE
¢ iR FEMRERTHTERM

e I THRERNITERE, LATEE
EHWME LHFtc

o HiRFIERTEILE

® 20mmil ERLAR, BERGE TR
qi

o JLEEITEIEG £, BHFITE,
o EMELE, RLEwmMisEfiEa

G H-Ez{FE

® TENMENE T RARELER, T8

o A FESREREVOFNERIOMNA B, MhEEEs (AERSHERT

fb, BEREBA AR R T O ET. H—) RBESE/6~1/48. z—;‘;ﬁf%} fiﬁ:ﬁh
e MRYIATR (BEETR) . WAHH a1 /48 —— 00
BITE. SRBEKRE, TEAARESE o 400
., £3mEN FEATENE LR S 5
e 351 25-8 900
42-1 30-S 1200
38-S 1500

Page 014




FAR{ER  Technicalinformation AE e MASIeR FAR{EE  Technicalinformation

Bite type tube fitting assembly instruction LR REN TR LR

Adopt pre-assembly part to assemble KAEEFEEERE — —MESFERFEITRAmER!
A.Pre-assembly B c A TR B c
E#
£ S
Hiz
cone gauge
regular check (after 50pre-assembies) eg Using cone gauge to check pre-assembly part  Put the pre-assembly part in the vise and »
cone abrasion and deformation make cone. If the gauge surface is below cone, the lubricate the thread. o JUREEphELG
them out of service. pre-assembly part is nonconformity, must be e N o = ® ok
changed.Besides cone gauge, using the eyes S ° ::?iifgii?—?f&& o EREHT LM, HEETEIELAR
to check the cone whether worn or deformed. ° : 5 HE HIELE, BENESEE, BESEA
Bk .
D E F
D E F
Right
Wrong
-
A ; - HHRLHBGTEES, BAEED L HARESRE TR OMRERIOHA
Put nut and cutting ring into tube Tighten the nut. Mark positien of the nut and tube to . N 2 5l 2 0%, j
Note:Do not assemble the cutting ring in Press tube end firmly in the assembly body. ensure the tightening turns. o HRIC il i&%_ﬁﬁfiﬁﬁﬁ#—éfii&ﬁﬂ 3 ?11 G BELMBNE ¥EAEIJ?L7L?EW il
opposite direction Tighten the nut by 1-1/4 turns AlRFEsTE. B (BFTNEH IMRMARR (BEERR) . WEHH B, MIEAER (HERENERE
Recommended to use spanner extension ) . BITR. 8RB 61RE, FHARER H—m) BEITEI/6~1/44.
for sizes over 20mm. see below chart. 20mmMEL NS, I TR KR E. B, 23BN FEATENE LHHE {23 1/48!
.
G H-Formal assembly
| ) |
I
Loose nut to check that a visible collar Insert the assembly part into the fitting, tighten : . . . .
covers the front of the first cutting edge. nut, retightening 1/6-1/4turn from the increasing ke sﬁm:::;r chgin FACATE REMEL, HTER HENITESEEL R e Sy i BFEKE
Tighten if it is not be deep. After checkitis  torque pointthat torque changes obviously. RN R, EREEE. M EFSME A H (mm)
conformity, it could be process final Do not surpass 1/4 turn. i B s AR ] /A 18-L 16-S 300
assembly. It does not matter if the ring can 221 400 B 22-L 400
be rotated on the tube end. 28-L 20§ 500 281 20-S 500
35-L 25§ 200 350 255 900
42-L 30-S 1200 42-1 30-S 1200
38-S 1500 38-§ 1500

Page 015 Page 016




BRARER

Technical information

MASIER

Bite type tube fitting assembly instruction

Adopt fitting directly to assemble--one fitting allows one pre-assembly

A.Pre-assembly

Use new fitting
The threads should be lubricated.

¥

D.Mark position of the nut and tube to
ensure the tightening turns.

Tighten the nut by 1-1/2 turns (tube
should not be rotated)

Recommended to use spanner extension
for sizes over 20mm.see below chart.

In the formal tube assembly, tighten nut and
retightening 1/4turns from the increasing
torque point for all the pre-assembly bite
type tube fitting.

Page 017

B
Right

L .
wong l_h
=
Put nut and cutting ring into tube

Note: Do not assemble the cutting ring
and nutin opposite direction

g

Loose nut to check that a visible collar
covers the front of the first cutting edge.
Tighten if it is not be deep.After check it
is conformity, it could be process final
assembly.lt does not matter if the ring
can be rotated on the tube end.

3

Tighten the fitting
Put nut into fiting, press tube-end firmly into
cone, then tighten the nut by hand to ensure
tube-end is in touch with fitting.

F

s._——m-—"

formal assembly

Insert the assembly part into the fitting, tighten
nut, retightening 1/6-1/4turns from the increasing
torque point that torque changes obviously.

Do not surpass 1/4 turns

Size spanner length
H(mm)

18-L 16-S 300

22-L 400

28-L 20-§ 500
35-L 25§ 900
42-1 308 1200

38-S 1500

BARER

MASIER

Ot %8

Tightening torques for port connection

& FIF150 9974-1 /150 6149 / DIN 3852-T1-XZ4 380 / DIN 3852-T3-WEL O
2 HlISOIR LM

ISO 9974-1/1SO 6149 / DIN 3852-T1-form X port connections
/ DIN 3852-T3-form W port connections / ISO Metric thread

Technical information

MA / Nm
maEEEL
Straight male stud fitting
#51 B2 od. Lzer gl €] A B# ER Fal
Series Tube OD. Thread Form A Form B Form E Form F
6 M10x 1,0 9 18 18 15
8 M12x 1,5 20 30 25 25
10 M14x 1,5 35 45 45 35
12 M16 x 1,5 45 65 55 40
L 15 M18x 1,5 55 80 70 45
18 M22x 1,5 65 140 125 60
22 M27 x 2,0 90 190 180 100
28 M33 x 2,0 150 340 310 160
35 M42 x 2,0 240 500 450 210
42 M48 x 2,0 290 630 540 260
6 M12x 1,5 20 35 35 35
8 M14x 1,5 35 55 55 45
10 M16 x 1,5 45 70 70 55
L 12 _ M18x1,5 L 55 110 90 70
S 14 M20 x 1,5 55 150 125 80
16 M22x 1,5 65 170 135 100
20 M27 x 2,0 90 270 180 170
25 M33 x 2,0 150 410 310 310
30 M42 x 2,0 240 540 450 330
38 M48 x 2,0 290 700 540 420

LRI E NI R ITFHO0%HIRE
Tolerance of tightening torques listed in above table +10%
R NAT R G AR SRIIE | |PAIT R EER TR A BN RERN.
Lubricate stud with hydraulic oil before screwing in | Tightening torques related to counterpart made of steel
A
S RHEEEH
(DIN7603)

B y "
SEPEEH = %i =
metal ring sealing B

metal surface sealing

B1

e W Ll = Rz 25
& 4 23
d1 ) 3; ’ _
A Ex Fa WAL d3
e - ED OBmEH ' .
ED sealing 0-ring sealing 90
[ | & - d‘l - D)
«d1—- < d1 - |
’ d3 . 5 d3 . XAn

.al

- bl

Rz 25

Page 018




Technical information Technical information

BARER BARER

MASIer MASTere

HRimiT E %8

4 . . HE/RELE
T[ghtenlng torques for port connection yuﬂiTMiEE!iﬁME%:
i 1SO 1179-1/ DIN 3852-T2-X&!3h O, 3% (BSPP)E& 2L " oF AR
EAT / R0, %5 (BSPP)TERL How to order M-fitting s kB
ISO 1179-1/ DIN 3852-T2-form X port connections ,BSPP thread VZ W
(=H) e 1L
MA / Nm B
mEEEEL OMD FE@ERFE,
Straight male stud fitting B E B M,
75 BEFHE od. B G AR B R 4. M- SNEH B
Series 'El'ube 0.D. Thread Form A Form B Form E B M-GE 1§--SR3!8ED C|F X %Zﬁ%g'&
6 G 1/8A 9 18 18 FETHBR L LR
8 G 1/4A 35 35 35 —
10 G 1/4A 35 35 35
12 G 3/8A 45 70 70 pnIRe NER %ﬁ’%’%&ﬁﬂﬁ%)
L 15 G 1/2A 65 140 90 vIT EIET X
18 G 1/2A 65 100 90 (BTFRHMIEK)
22 G 3/4A 90 180 180
28 G 1A 150 330 310 LRt
35 G 11/4A 240 540 450 -
42 G11/2A 290 630 540 GEHENE
6 G 1/4A 35 55 55
8 G 1/4A , 35 55 55
10 G 3/8A 45 90 80
: 12 G 3/8A 45 90 80 | | |
14 G 1/2A 65 150 115 =
16 G 1/2A 65 130 1—1'“5 HEALERENINME EN¥ERRY] ) TR
20 G 3/4A 90 270 180 (16mm) LL 45423 ELBORAXBRRT N ;
| (=8) REEH
25 G1A 150 340 310 L #®3 SHY ISO 6149 ORI
30 G11/4A 240 540 450 S EA M. NEEE M/R )
38 G11/2A 290 700 540 M..KEG  2iilsHEeE M/RKEG #Es241
R... EHEE UN/UNF O#!HE
. . : T NPT 143
ERFDSENERIOMRE i " GNUNF SAcR Eo MR EDmds
Tolerance of tightening torques listed in above table +10% (=H) DI/DPR/PSR NPT R KD WHITH  ERiiEss
IRET ANBTR R EREE | RPRFITENEERATRE BN REMN. DEERTFLLATINERAIEE. Rt ~ ) KDS WH/TH  miftisRiiess:
Lubricate stud with hydraulic oil before screwing in ! Tightening torques related to counterpart made of steel DPRFERFAHNAE % FRAEARELA /N
PSREERFHRNNE
Am Bm
ERERPEEY EEFEED
(DIN7603) metal surface sealing
metal sealing ring
‘ s d3 _ T EREA
‘ = = - TS ik
' - L dl—+ | = WEE
_— Ex - Rl /RZ25 N-GE125R1/2EDCF 12mE5hE, ERFRT, 61/285PP, EDETREIRALTEY, ASRERFE, TAMBEERNEL.
< dl - spitEms - ED w gl =
i d3 ] ED sealing L d3 J | HEIE
M~GE12LR71X 12mESMZE, 2BFAF], 63/8BSPP, &EMBREH, ASEERFE, TAMEERNEE.
M-EVTOBLOMDMS WiRm=iE, smEME, BE, HEHL, TARERFE.
peik:igm|
_ AARSE=E, BmE/ME, BR, LAMBEERNEL, T2BE8EFE,
M \ELSESVITONDCF AR BHA T A bR o WARAS
- d7

Page 019

Page 020




Technical information

BARER

HR{ER  Technicalinformation MASI=r MAST=R
o__1
Eam—i
MO SRS
Male stud connector % m% @ % Banjo fittings
| 1 _ 1 7 | o
M-GE-R M-GE-M M-GE-R-ED M-GE-M-ED M-GE-R (KEG) M-GEO 1 ) MTH-M
P28/29 P30 P31 P32 P34 P35 M-WH-R ~ M-WH-M-KDS  M-WH-M
P53 P53 P54 P54 P56 P56
M-GE-UNF/UN
P33 P36
TEEk P55
Non adjustable
: BN _ N BB
Tube to swivel
%) %)
M-WE-M(KEG) M-WE-R (KEG) M-WE-NPT
P37 P37 P38
T oy
MIE-R (KEG)  M-TE-M(KEG) M-TE-NPT  M-LE R (KEG)
P3? P39 P40 P40
HiBEEEE — |
Male stud connector ? Wﬂ:izﬁ
M-LE-M(KEG)  M-LE-NPT ey g
P4l P42 ‘ 4 2"
M-EGE-R-ED  M-EGE-M-ED  M-EGE-NPT - -
o s s
fu?eﬁﬁe P61 P62 Pé3 P64 P65
M-G M-GR
P43 P44
M-SV M-WsSV
P49 P50

Page 021

Page 022




BARER

Technical information

FR—b

MASI=re

Eh s

Pressure gauge adapter

-Im
S

M-MAV M-MAVE
Péé P&7

RIRGUERE

Tube to female

M-GAI-R M-GAI-M
P68 P62

O R

Port reducers

M-RI M-RI-ED
P70/71 P72/73

Tl i sk

Locknut adjustable

M-WEE-M M-WEE-M-OR M-WEE-R

E%? ﬂ%%‘

M-WEE-UNF M-TEE-M M~TEE_M-OR

P78 P79 P80 P81 P82 P83

% : =] | =] |
M-TEE-R M-TEE-UNF M-LEE-M M-LEE-M-OR M-LEE-R M-LEE-UNF

P84 P85 P8é P87 P88 P82
M-VEE-M M-VEE-OR M-VEE-R M-VEE-UNF

P90 PZ1 P92 Pg3

Page 023

PR

Technical information

BARER

NERRIR RS
Higg
Nut
|
F682EDML
P94
N CEIe = T==H
IS06149-24845 ffi ﬂ@ =l
Stud ends Metric muEn 4
thread =
1S06149-2 thread '
CC870MLO S870MLO R87OMLO
P95 P26 P101 P105 P109
EhlRy 5EEE
Stud ends UN/UNF
thread
CC50L0 S50MLO R50MLO
P97 P28 P102 P106 P110
e LET ==
Stud ends BSPP T
thread .l'iir
&8
R40MLO S40MLO
P99 P103 P107 P111
AHRA 5T ER ==61-
DIN38524241 : [-I'=
Stud ens Metric
thread !
PINSBSZ hrend C8OMLO VBOMLO R8OMLO S8OMLO
P100 P104 P108 P112

Page 024




FAR{EE  Technicalinformation VIASI=re WMASIere AR{SEE  Technical information

Parias

FERXEEREL swaged Hose Fitting

(LY

Plugs — BE 00110-A 00110 03310 00200 00210 00400 01400 00401
Ferrule — .
~F

M-VSTIM/R-ED M-VSTI M-OR M-ROV M-VKA 00018 00TFO 00710
P115 P116 P117 P120

298 5 : : g =
i FEEH | s ¢

b, p

Flat seal ~U &

Components —
10311, 10312 20211, 20212 20231. 20232 20241, 20242 20291. 20292

> ’zl‘ﬁiJ #2 47 =
60 HEEEH = J e Lg,,,,,,,ﬁ,

o 60°Cone I e

seal

10611. 10612 20611, 20612 20641. 20642 20691. 20692

ERE & R <

M-GM M-ED M-VH Multiseal Ao
P14 P121 P124 20111, 20112 20141. 20142 20191. 20192

4o il 48 & x ’
74" e 1[I — A
74°Cone

seal

) 10711. 10712 20711, 20712 20741. 20742 20791. 20792
DKAD DKA M-DKI KDS KD

P118 P118 P119 P122 P123 2 i 4R 5
90° HdE
oL

90°Cone
seal 10811L

HIBE 24"
HEEIIIR
BE7
24°Cone 0
-Ring Seal T

LT 10411. 10412 20411, 20412 20441. 20442 20491. 20492

R4
ERT —
24°Cone 0
-Ring Seal
H.T

10511. 10512 20511, 20512 20541. 20542 20591, 20592

wikiRgr24”
EERE R
R RS

24°Cone

Multiseal | 30411¢. 20412¢ 20491 20492¢

Page 025 Page 0246




BRARER

Technical information

BARER

Technical information

AL el

HEERE 3
HIEERY
24°Cone
Multiseal
H.T

s
Ay
R

\\ J

20511C. 20512C

20541C. 20542C

20591C. 20592C

NHFE
BE
Standpipe
straight

1 A
! &

50011, 50012 50041, 50042

(2
‘
|

50091, 50092

NL NS

RLRS

EHERRL0
bk
BSP O-Ring
Seal

12211, 12212

FHEEIRLL
BSPT

13011-SP . 13012-SP

EHIJIcHZ
Wr4®
3|

Incz4°
Cone Seal

EHISAEIZ
290" $EE
ZH
SAE90 °
Cone Seal

EHIORFSIR
WEmERH
ORFS

Flat Seal

16711, 16712

26711, 26712

26711D-SM . 26712D-SM

17811. 17812

14211, 14212

27811, 27812

24211, 24212

@

26741, 26742

26791K. 26792K

24241, 24242

26791, 26792 26711D. 26712D

27891. 27892

24291, 24292

gL
PR EEH
BSP
Multiseal

&
,

5.

22111, 22112 22141, 22142

22191, 22192

HEWEL
EmEH
BSP

Flat Seal

22211, 22212

22241, 22242

22291, 22292

Ulp-oq H

12611, 12612

22611D. 22612D

12611A. 12612A

22611, 22612

22611D-SM . 22612D-SM

’/

G

22691K. 22692K

22641, 22642

22691, 22692

ZEHINPSMIZ
&60° @
=E

NPSM 60 °
Cone Seal

SAEFE=R
BERY

SAE

Flange L.T

SAEZE =R
EET

SAE

Flange H.T

21611, 21612

87311. 87312

87611, 87612

21641. 21642

N
Ty

87341. 87342

NS

L

87641. 87642

21691, 21692

87391. 87392

87691, 87692

FL

FS

REE=
Flange

88111, 88112

’/.
&4
b

88141. 88142

88191, 88192

SEAO
-Ring Seal

E ISR
NPT

16011, 16012

15611, 15612

H=2H
BRET60° HE
£
Metric 60°
Cine Seal

18611. 18612

28611. 28612

L

28641, 28642

gal
28691. 28692

BR&EE
124760 ° HE
LS
GAS60 °
Cone Seal

29611, 29612

SR

o
&

29641. 29642

20691, 29692

Page 027

Page 028




FAR{EE  Technical information MASIeR MASi=re KZAR(EE  Technicalinformation

R IMEENE 1L Interlock Hose Fitting

2 il B g ' st
IR Ic |1-
Metric — =7
Waterwash 200117 Ferrule i
00621 00621-R15
taplelok 60011, 60012 67011, 67012 British o o s AE -
13013-SP 12613 22613 22643 22693 22613-0R
sk - o o e ETThE
figtys 70011. 70012 700M 72011, 72012 7208 NPT
15613
EH| 2 ar ) | JHHIIIT 2 S|0RFS T
ek L éziﬁﬁ [y gy ]ﬁ
Awivel - ’ :
ORFS
156115W 15691KSW Flat Seal 24213 24243 24293
EHISAESRR
o JiE ¥ % | e =
SAEO .
-Ring Boss I
Awivel _ 16011SW 16091KSW
W E = : | |
fEEsk L] ! I T
Double
Connection 90011 90012
Page 029 Page 030




HAR{EE  Technical information MASI=rR MASIErR FER$#L Pipescrew-joints

5 S
EHlJicg g 7
574" FE LTI T T [
gc 74; |
Bl 26713 26793
NLTH =
EE ] I | . (b ([
Metric 24 ° e i - ‘ .
Cone:Seal 10513 20513 20593 S
HT | : i |‘| |
/d—_, /__7 M — L,I |.‘|
SAE Flange = =
87313 82343 82393 87613 87643 87693
9000PS| e
! I KRIT| . 2 & —_—t .
Flange J‘ ; LEEEIEEJ:-%%M?EQ
87913 87943 87993 Male Stud Coup“ngs
T e - - order code: M-GE-R
Double [T
Connection
90013
BB
WEIHNE  FH F5=/1001F =
pipe OD PN/PB S 5, E I, d, i G kg for% pc. ordercode
s fopy popo i > - 4 11 10 26 16 - 8 R1/8"K 1,4 M-GEO4LLRCF
5] Reusable Hose Fittin S - ST L T il S it
ARV E RS 9 6 enio 11 12 26 145 - 8 R1/8"K 1,6 M-GEO6LLRCF
8 MO0 42 14 28 16,5 - 8 R1/8"K 1,8 M-GEOSLLRCF
. 6 14 14 23 85 14 8 G1/8" A 2,5 M-GEO6LRCF
: _ - — B 6 19 14 25 10 18 12 G1/4" A 3,5 M-GEQ6LR1/4CF
S - 6 2 14 26 11,5 22 12 G3/8" A 5,6 M-GEO6LR3/8CF
wo1E LaB1eRs ZAEDHE 1a7IE:RE T 6 27 14 27 12 26 14 G12°A 7.3 M-GEO6LR1/2CF
= : 8 19 17 25 10 18 12 G1/4"A 4,5 M-GEOSLRCF
N 8 14 17 24 95 14 8 G1/8" A 3,1 M-GEOBLR1/8CF
& 8 2 17 26 11,5 22 12 G3/8"A 6,0 M-GEOSLR3/8CF
B 8 27 17 27 12 26 14 G1/2°A 9,0 M-GEOSLR1/2CF
26718D-R5 26798D-R5 17818-R5 27818D-R5 26718D-R5T _ 10 g 19 19 26 11 18 12 G1/4"A 4,7 M-GE10LRCE
10  PN400 22 19 27 125 22 12 G3/8" A 6,2 M-GE10LR3/8CF
RV . 0 "™ T 9 8 13 26 14 GI'A 9,2 M-GE10LR1/2CF
i HNE B &Sk Socketless Hose Fitting 12 2 22 27 125 22 12 G3/8A 7,0 M-GE12LRCF
12 19 22 27 12 18 12 G1/4"A 5,8 M-GE12LR1/4CF
12 37 22 .38 13 26 14 G1/2'A 94 M-GE12LR1/2CF
12 32 22 29 14 32 16 G3/4"A 14,7 M-GE12LR3/4CF
- : 15 27 I 3% 14 26 14 G1/2°A 11,5 M-GE15LRCF
13011-SP(PO) 15611-PO 12611-PO 22611-PO 22691-PO LB 24 27 29 135 22 12 G38°A 9,7 M-GE15LR3/8CF
15 32 27 30 15 32 16 G3/4"A 16,1 M-GE15LR3/4CF
18 27 32 31 145 26 14 G1/2"A 13,2 M-GE18LRCF
18 27 32 295 14 2 12 G3/8"A 13,3 M-GE18LR3/8CF
44 I ‘ 18 32 32 30 145 32 16 G3/4" A 17,3 M-GE18LR3/4CF
16711-PO 26711-PO 26791K-PO 27811K-PO AFRERER MR S5 M-GE06 LR CFX
order code of items without nut and DS-Ring for example: ~ M-GE06 L/R CFX
Page 031 Page 032




+E3\$E3L Pipe screw-joints MASIeR MASTere +E3#EL Pipescrew-joints

S 51
0
o
=] W —
i
I i N |
i h i L1
L1
s B 188 45 - S Tl MR &1 i L 38 1 k- 1l MR 4L
Male Stud Couplings Male stud couplings
order code: M-GE-R order code: M-GE-M
e =R -
qEE F5l A ng RMUsE 751 . 55/100f¢ ns
pipeOD PN/PB S 5 L, L, d, i G kg for% pc. ordercode pipeOD PN/PB 5 5 L L d : G kg for% pc. ordercode
22 32 3 33 165 32 16 G 3/4"A 18,5 M-GE22LRCF 4 10 10 25 16 = 8 M 8x1 K 1,4 M-GEOALLMCF
22 L 33 36 47 265 26 14 G 1/2°A 17,7 M-GE22LR1/2CF 4 pyjge 9 1026 16 TN NN 2 0 ECRLMES e
%2 pnaso . : ’ 6 aog, 11 12 25 145 - 8  MI10x1K 1,6 M-GEO6LLMCF
28 [1000] 41 41 34 17,5 39 18 G 1"A 25,9 M-GE28LRCF 8 12 14 27 16,5 = 8 M10x1K 1,8 M-GEOSLLMCF
28 41 41 34 175 32 16 G 3/47A 25,6 M-GE28LR3/4CF 6 14 14 23 85 14 8  MI0x1 2,5 M-GEO6LMCF
5, 8% 3 s m o cun S pEoZoEou g Muas a Semw
PB 250 = I x1, , - .
___ e - 0 o o s 1 eyt M TR 0 19 10 26 1 19 12 Midxis 4,9 M-GETOLAMSC
42 55 60 42 19 55 22 G11/2°A 56,9 M-GE42LRCF 10 22 19 27 12 21 12 M16x1,5 6,0 M-GE10LM16x1.5CF
6 19 17 28 13 18 12 G 1/4°A 5,0 M-GEG6SRCF 0 24 19 27 125 23 12 MI18x1,5 7,0 M-GE10LM18x1.5CF
6 27 17 33 18 26 14 G 1/2" A 10,8 M-GE6SR1/2CF 10 ! 27 19 29 14 27 14 M22x1,5 9,2 M-GE10LM22x1.5CF
8 19 19 30 15 18 12 G 14'A 5,5 M-GEBSRCF RN i o, TR S S N S N Sl . s
N . T2 'Tengy 19 22 26 I 19 12 M14x15 5,7 M-GE12LM14x1.5CF
8 e B 8 - = 8,0 M-GE8SR3/8CF 12 24 22 27 125 23 12 MI18x1,5 7,4 M-GE12LM18x1.5CF
10 2 22 31 15 22 12 G 3/8"A 8,8 M-GE10SRCF i 27 22 29 14 27 14 M22x1,5 10,3 M-GE12LM22x1.5CF
10 19 22 31 145 18 12 G 1/4" A 7,5 M-GE10SR1/4CF 1550 24 27 29 135 23 12 M18x1,5 9,5 M-GE15LMCF
10 s 27 22 34 175 26 14 G 1/2°A 12,9 M-GE10R1/2CF B L2 8 1 Al 12 _Miteis =4 M-GELSLMI G215 CE
T - 15 27 27 30 15 27 14 M22x15 12,1 M-GE15LM22x1.5CF
12 pee0 22 24 33 17 22 12 G 3BA 10,0 M-GE125RCF 18 27 32 31 145 27 14  M22x15 13.7 M-GE18LMCF
12 ™% T4 33 165 18 12 G 1/4TA 9.3 M-GE125R1/4CF 18 27 32 30 14 23 12 M18x15 13,2 M-GET8LM18x1.5CF
12 27 24 34 175 26 14 G 1/2°A 13,3 M-GE125R1/2CF 22 32 36 33 165 31 16 M6x15 18,8 M-GE22LMCF
14 27 27 37 19 26 14 G 12°A 14,8 M-GE14SRCF 2 nog 3236 33 165 47 14 Maxla 173 M GEsaL i dx1.oLE
IS | L " ’ X ri b
N 24. 27 36 A5 A 12 G F/A-; 128 W:taETASH/BEE 35 2o 50 50 39 175 49 20  M42x2 42,0 M-GE35LMCF
16 27 30 37 185 26 14 G 1/2"A 16,1 M-GE16SRCF 42  [629 55 60 42 19 55 22 M48 x2 57,5 M-GE42LMCF
16 27 30 36 18 22 12 G 3/8°A 15,3 M-GE16SR3/8CF 6 17 17 28 13 17 12 Mi2x1,5 4,7 M-GEO6SMCF
16 32 30 39 205 32 16 G 3/4"A 22,6 M-GE16SR3/4CF 7137 ;g ;113 i? lg ;19 1% mgqg 68,2 mgg?ggmg
" X1, r 7,
sl 2 26 a2 X0s 32 s G e d 253 M-GE20SHCE 12 s 24 24 33 17 23 12 M18x15 10,9 M-GE125MCF
20 ee400 32 36 42 205 26 14 G 1/2°A 243 M-GE20SR1/2CF 12 PBE0* 27 24 34 175 27 14 M22x15 13,0 M-GE125M22x1.5CF
25 1000 41 46 47 23 39 18 G 1A 48,7 M-GE25SRCF 14 2727 37 19 25 14 M20x15 14,8 M-GE14SMCF
25 41 46 47 23 32 16 G 34A 46,5 M-GE25SR3/4CF 16 27 30 37 185 27 14 M22x1,5 16,6 M-GE16SMCF
30 50 50 50 235 49 20 G11/4'A 66,3 M-GE30SRCF ;g %Z gg ig ;3 : gg : g m ;? X ; 5 ;gg mggggm%ﬂ 5CF
AV pozo SIS SN U 24,8 e 95 0w 41 46 a7 23 3 18 Mk 26,5 M-GE25SMCF
38 ¥ 55 60 57 26 55 22 G11/2°A 90,1 M-GE38SRCF 30 psaso 50 50 50 235 49 20  M42x2 64,4 M-GE30SMCF
38 55 60 57 26 49 20 G11/4" A 91,9 M-GE385R1 1/4CF 38  [625] 55 60 57 26 55 97 M48x2 87,3 M-GE38SMCF
AR FENPTT SR S5 M-GE06 SR 1/2 CFX e FEN ML ER SR M-GEO6LMCFEX
order code of items without nut and DS-Ring for example: M-GEO6 SR 1/2 CFX order code of items without nut and DS-Ring for example: ~ M-GEO6LMCFX
Page 033 Page 034




FE L Pipe screw-joints MASIER MASIER <& 1L Pipe screw-joints

=
7

&=

s v s v
i I i T
L1 L1
S84 B 4 k- S SR AT WD B B
Male stud couplings
order code: M-GE-R-ED
: = T S B ST WD B [
ez R /1004 Hl= -
pipe OD PN 5 5 L, I, d, i G kg for% pc. ordercode Male Stud Coupl[ngs
6 4 14 23 85 14 8 G 1/8°A 2,5 M-GEOGLREDCF
6 19 14 25 10 19 12 G 1/4"A 3,9 M-GEO6LR1/4EDCF order code: M-GE-M-ED
8 19 17 25 10 19 12 G 1/4A 4,5 M-GEOSLREDCF
8 oy 14 17 23 85 14 8 G 1/8°A 2,9 M-GEO8LR1/8EDCF
8 g 22 17 26 115 22 12 G 3/87A 5,9 M-GEOBLR3/8EDCF
0 19 19 26 11 19 12 G 1/4A 4,7 M-GE10LREDCF e =g -
10 22 19 27 125 22 12 G 38"A 6,2 M-GE10LR3/8EDCF i Lo o . /1004 T
10 27 19 28 13 27 14 G 12°A 9,2 M-GE10LR1/2EDCF pipeOD PN ST n ] : kgfor%pc.  ordercode
12 2 22 27 125 22 12 G 3/8"A 6,9 M-GE12LREDCF 6 L 14 14 23 85 14 8 M10x 1 2,5 M-GEO6LMEDCF
12 19 22 27 12 19 12 G 1/4A 5,8 M-GE12LR1/4EDCF 8 s0 17 17 25 10 712 MI2x1,5 4.0 M-GEOSLMEDCF
12, 27 22 28 13 27 14 G 1/2'A 9,4 M-GE12LR1/2EDCF T, [ah) et T e T
R o TR0 27 14 G 1/7A 11,5 M-GE15LREDCF : ,
15 24 27 29 135 22 12 G 3/8"A 9,7 M-GE15LR3/8EDCF 12 22 22 27 125 2 12 M16x1,5 6.8 M-GE12LMEDCF
18 2732 31 145 27 14 G 1/2"A 13,2 M-GE18LREDCF 2 24 22 27 125 24 12 MI18x15 7,4 M-GE12LM18X1.5EDCF
;g g% ié g; 122 gg_lg g gﬁ»ﬁ 1;{; mgﬂgtﬁﬁﬁ‘&” 12 L7 M 27 14 M22x15 10,3 M-GE12LM22X1.5EDCF
5% 20 41 41 34 175 40 18 G 1"A 250 M-CE28LREDCE 15 pzoo 24 27 29 135 24 12 M18x1,5 9,5 M-GE15LM18X1.5EDCF
35 00 55 50 39 175 50 20 G11/4"A 42,2 M-GE35LREDCF 15 27 27 30 15 27 14 M22x1,5 12,0 M-GE15LM22X1.5EDCF
42 55 60 42 19 5 22  GU/2A 56,9 M-GE42LREDCF 18 27 32 31 145 27 14 M22x15 13,7 M-GE18LMEDCF
e 19 17 28 13 19 12 G 1/4" A 5,0 M-GEQ65REDCF 20 32 3% 33 165 32 16 M26x1,5 18,8 M-GE22LMEDCF
— s, 2 BB 2 B 1 12 1Al 22 N R B o, 41 41 34 175 40 18 M33x2 258 M-GE28LMEDCF
10 [?2801 22 22 31 15’ 22 12 G 3/8"A 8',8 M-GE10SREDCF 35 [1oo] 50 50 39 17,5 50 20 M4a2x2 42,0 M-GE35LMEDCF
0 19 22 31 145 19 12 G 1/4"A 7.3 M-GE10SR1/4EDCF V) 55 60 42 19 55 22  M48x2 57,5 M-GE42L MEDCF
12 %5 %i %;' };5 %; 13 fGS 13%’:_? 1%’3 MEESEEE&EFDCF i . 17 17 28 13 17 12 M12x1,5 4,7 M-GE06SMEDCF
12 22 24 33 165 19 12 G V4A 9,3 M-GE125R1/4EDCF D T e LTS 19 __2___H 1415 6,5 MGEOBSMEDCF
12 . 27 24 34 175 32 14 G 1/2°A 13,6 M-GE125R1/2EDCF 1 e e 8.6 MGEIMEDCE
14 g 37 27 37 19 27 14 G 1/2"A 14,8 M-GE14SREDCF 12 24 24 33 17 24 12 M18x 1,5 10,9 M-GE12SMEDCF
16 27 30 37 185 27 14 G 12A 16,1 M-GE16SREDCF 14 ooy e 26 14 M20x15 14,8 M-GE14SMEDCF
16 g; gg gg ;g 52 12 g 3;%,? 5;2! m*gEﬁggsEgg 16 27 30 37 185 27 14  M22x15 16,6 M-GE16SMEDCF
1 2 3 3 &5 4 18 LMs 2L pa i 20 32 36 42 205 32 16 M27x2 253 M-GE20SMEDCF
25 41 46 47 23’ 40 18 G 1A 46:5 M-GE25SREDCE 25 400 41 46 47 23 40 18 M33x2 46,5 M-GE25SMEDCF
25 oy 41 46 47 23 27 14 G 1/2°A 45,0 M-GE255R1/2EDCF 30 9 50 50 50 235 50 20  M42x2 64,4 M-GE30SMEDCF
30 50 50 50 235 50 20 G11/4"A 63,5 M-GE30SREDCF 38 55 60 57 26 55 22 M48x2 87,3 M-GE38SMEDCF
38 5 60 57 26 55 22 GI1U/2'A 87,0 M-GE38SREDCF
e TS FENMITHRRSSE:  M-GEOGLMEDOMDCF
;ﬁﬁrﬁﬁa*’ﬁaﬁ"] ﬂ"}'ﬂf‘?’T@: M'GEO,ﬁLREDOMDCF order code of items without nut and DS-Ring for example: ~ M-GEO6LMEDOMDCF
order code of items without nut and DS-Ring for example:  M-GEO6LREDOMDCF
Page 035 Page 036




FEIESL Pipe screw-joints MASIEe MAST=re FERIEL Pipe screwsjoints

) S1
S S1
L] —
.‘ﬁ
o !
|
i =
I3 ;
L —¢
; 4 | _ I
iy L 168 3 3k - S5 | $E IR 41 _ L1
Male Stud Couplings
order code: M-GE-NPT
RESE 7 :ﬁf,%oﬁ me
pipeOD PN S S, L, I i G kg for% pc. ordercode
4 " 11 10 28 18 10 1/8" NPT 1,5 M-GEOQ4LL1/8NPTCF
6 100 11 12 28 16,5 10 1/8" NPT 5 M-GEO6LL1/8NPTCF
8 00 42714 30 185 10 1/8" NPT 2,0 M-GEO8LL1/8NPTCF
6 12 14 32 18 10 1/8" NPT 26 M-GEO6L 1/8NPTCF
6 17 14 38 23 15,1 1/4" NPT 3,8 M-GE06L1/4NPTCF
& 17 17 38 23 15 U4 NeT 40 MGEBLVANPTCF gt o] e
10 17 19 39 24 15 /4 NPT 48 M-GE10L1/4NPTCF ity L 38 43 Sk- S | R 47
10 315 19 19 40 25 15,2 3/8" NPT 6,0 M-GE10L3/8NPTCF .
12 (1260 19 22 40 25 15 3/8" NPT 6,5 M-GE12L3/8NPTCF Mate StUd Couphngs
2 19 22 40 25 151  1/4” NPT 58 M-GE12L1/4NPTCF Sidercode MEGEERCKEG
12 24 22 45 30 19,8 1/2" NPT 8,9 M-GE12L1/2NPTCF
15 | 24 27 46 31 20 1/2" NPT 11,0 M-GE15L1/2NPTCF
18 27 32 48 31,5 20 1/2" NPT 13,5 M-GE18L1/2NPTCF
22 32 36 50 33,5 20 3/4" NPT 19,0 M-GE22L3/4NPTCF
28 1 41 41 56 395 25 1" NPT 27,5 M-GE28L1NPTCF WEsSNE R A me
35 % 46 50 62 40 256 11/4" NPT 40,5 M-GE35L1 1/4NPTCF [ pipeOD PN Lk i S S G kg for% pc. ordercode
42 55 60 65 42 26 11/2" NPT 57,0 M-GE42L1 1/2NPTCF 6 30 15 8 12 14 R 1/8" K 2,2 M-GEO6LR1/8KEGCF
6 17 17 43 26 15 1/4" NPT 5,0 M-GE0651/4NPTCF [ 8 35 20 12 17 17 R 1/4" K 3,8 M-GEOSLR1/4KEGCF
8 7 19 43 28 15 1/4: NPT 5,5 M-GE0851/4NPTCF ) 10 1 32 220 12 17 19 R 1/4"K 43 M-GE10LR1/4KEGCF
L Ll e e e HEENET &0 WGE 05 HBREICE 12 35 37 2 12 19 22 R 3/8"K 6,0 M-GE12LR3/8KEGCF
10 . 19 22 44 27,5 15,1 1/4" NPT 7.6 M-GE1051/4NPTCF 15 11260 40 25 14 24 27 R 1/2"K 10,3 M-GE15LR1/2KEGCF
12 630 22 24 46 29,5 15 3/8" NPT 10,0 M-GE12S3/8NPTCF ] 18 42 255 14 97 32 R 1/2"K 12,7 M-GE18LR1/2KEGCF
12 (25201 22 24 46 29,5 15,1 1/4" NPT 94 M-GE1251/4NPTCF ] 22 46 295 16 32 36 R 3/4"K 18,5 M-GE22LR3/4KEGCF
12 24 24 51 345 198 172" NPT 1,9 M-GE1251/2NPTCF ' 28 60 51,5 345 18 41 41 R 1K 25,8 M-GE28LR1KEGCF
14 24 27 54 36 20 1/2" NPT 15,5 M-GE1451/2NPTCF ) 35 6400 56 345 20 50 50 R11/4"K 41,5 M-GE35LR1 1/4KEGCF
16 27 30 54 355 20 1/2° NPT 16,0 M-GE1651/2NPTCF 42 61 38 22 55 60 R11/2°K 56,7 M-GE42LR1 1/2KEGCF
20 32 36 59 37,5 20 3/4" NPT 25,0 M-GE20S3/4NPTCF - T
] : AR ENIT SR 2R M-GEO6LR1/8 KEGOMDCFX
BN | 400 Al 60060 4 2 AENET Lt NG S INEICE order code of items without nut and DS-Ring for example:  M-GE06LR1/8 KEGOMDCFX
30 DM 46 50 73 46 256 114" NPT 62,0 M-GE30ST 1/4NPTCF 2 e
38 55 60 80 49 26 11/2" NPT 89,0 M-GE38S1 1/2NPTCF
TR FENMITERSRE:  M-GE06S 1/4NPTOMD CFX
order code of items without nut and DS-Ring for example: ~ M-GE06S 1/4ANPTOMD CFX
Page 037 Page 038




+EF$EL Pipe screw-joints +E3 3% Pipe screw-joints

S1 52

Kennrille

Groove for jdentification
Rainured identification

g v
h:-/;(j..;.
) [ o
[ h T
Ly
im BB % L-ERE L OB B %
Male Stud Couplings
order code: M-GE-UNF/UN
mENE  F5l N ms
pipeOD PN d, i I SIS, G 0-Ring kg for% pc. ordercode
8 14 9 10 25 17 17  7/16-20 UNF-2A 892 x 1,83 3,6  M-GE0BL7/16UNFCF
10 14 9 11 26 17 19  7/16-20 UNF2A 892 x 1,83 42  M-GE10L7/16UNFCF
12 17 10 11 26 19 22 9/16-18 UNF-2A 12,00 x 2,00 56  M-GE12L9/16UNFCF
12 22 11 13 28 24 22 3/4-16 UNF-2A 1636 x 221 7,6  M-GE12L3/4UNFCF
Ll + Xy ] FAN 3 1 r}—ei‘ | L f ’ ’
iy ELIE £ k- H R G OB B & % 12 a0 27 12,7 143 29 27 22 7/8-14 UNF-2A 19,18 x 2,46 10,1 M-GE12L7/8UNFCF
Male Stud Couplings 7 15 0700 722 91 14 29 24 27 3/4-16 UNF-2A 1636 x 2,21 97  M-GE15L3/4UNFCF
, 15 27 12,7 153 30 27 27  7/8-14UNF-2A 19,18 x 2,46 12,0  M-GE15L7/8UNFCF
order code: M-GEO-M 18 22 11 145 31 27 32 3/4-16 UNF-2A 1636 x 2,21 13,1 M-GE18L3/4UNFCF
18 27 12,7 148 31 27 32  7/8-14 UNF-2A 19,18 x 2,46 13,7  M-GE18L7/8UNFCF
22 27 12,7 16,8 33 32 36  7/8-14 UNF-2A 19,18 x 2,46 18,0  M-GE22L7/8UNFCF
e 5E e 20 32 15 165 33 32 36 11/16-12UN -2A 23,47 x 2,95 18,8  M-GE22L11/16UNCF
mESNE AR5 f " . _ T /1008 e _ 22 41 15 17,5 34 41 36 15/16-12UN -2A 29,74 x 2,95 24,8  M-GE22L15/16UNCF
pipeOD PN dy, i |, s 2 G ORing  kgfor%pc.  ordercode 28 50 32 15 17,5 34 41 41  11/16-12UN 2A 2347 x 2,95 252  M-GE28L11/16UNCF
6 14 95 85 23 14 14 M10x1 81 x 1,6 24 M-GEOO6LMCF 28 (1100 41 15 17,5 34 41 41 15/16-12UN -2A 29,74 x 2,95 26,2 M-GE28L1 5/16UNCF
8 17 11 10 25 17 17 M12x15 93x22 38 M-GEOOBLMCF 35 41 15 17,5 39 46 50 15/16-12UN -2A 37,46 x 2,95 37,6  M-GE35L15/16UNCF
] R S T I 26 19 19 M14x15 113 x 22 5.1 M-GEO10LMCF 35 50 15 17,5 39 50 50  15/8-12UN -2A 37,46 x 3 41,0 M-GE35L15/8UNCF
12 prpo 22 12,5 125 27 22 22 M16x1,5 133 x 22 6,8 M-GEO12LMCF 42 50 15 19 42 55 60  15/8-12UN -2A 37,46 x 3 57,6  M-GE42L1 5/8UNCF
15 24 14 13,5 29 24 27 M18x15 153 x 2,2 9,5 M-GEO15LMCF 8 14 9 15 30 17 19  7/16-20UNF-2A  8,92x 183 54 M-GE0857/16UNFCF
Tel D705 14,5 31 27 32 M22x1,5 193 x 2,2 14,0 M-GEO18LMCF 10 17 10 14,5 31 19 22 9/16-18 UNF-2A 12,00 x 2,00 74 M-GE1059/16UNFCF
22 32 185 16,5 33 32 36 M27x2 236x 29 18,8 M-GEO22LMCF 12 S, 17 10 145 31 22 24  9/16-18 UNF-2A 1200 x 2,00 86  M-GE1259/16UNFCF
28 fom 41 185 17,5 34 41 41 M33x2 296 x 29 26,8 M-GEO28LMCF 12 prom 22 11 17,5 34 24 24  3/4-16 UNF-2A 16,36 x 2,21 10,8  M-GE1253/4UNFCF
35 50 19 175 39 50 50 M42x2 386 x 2.9 43,4 M-GEO35LMCF 16 ;2 1; 12’2 24 ;4 ;g 3;;“ Bmigi 12'32 X 5'21 13,5 mggmﬁgﬂmig
6 17 11 13 28 17 17 M12x15 93x22 48 M-GEOO6SMCF I Il BT 3E e R e
20 22 11 20,5 42 32 36 3/4-16 UNF-2A 16,36 x 2,21 24,0  M-GE20S3/4UNFCF
8 19 11 15 30 19 19 M14x15 113 x22 6,4 M-GEO08SMCF . i — = . i
- LA - — L e e e TR 20 27 12,7 208 42 32 36 7/8-14 UNF-2A 19,18 x 2,46 252  M-GE2057/8UNFCF
. R R T S — M18" T _ o e M'GED125MCF 20 32 15 205 42 32 36 11/16-12UN -2A 23,47 x 2,95 26,0  M-GE20S1 1/16UNCF
X 2, i X : i 25 a0 32 15 23 47 36 46 11/16-12UN -2A 23,47 x 2,95 42,5  M-GE2551 1/16UNCF
16 27 15 185 37 27 30 M22x15 193 x 22 16,6 M-GEO165MCF 25 07000 41 15 23 47 41 46 15/1612UN -2A 29,74 x 2,95 47,7  M-GE2551 5/16UNCF
0 S 8 Ao #2436 Mamxz AsSix AR 26 M=GEDJUSMER 30 41 15 235 50 46 50 15/16-12UN -2A 29,74 x 2,95 56,3  M-GE30S15/16UNCF
25 g 41 185 23 47 41 46 M33x2 296 x 29 48,8 M-GEO255MCF 30 50 15 235 50 50 50  15/812UN -2A 37,46 x 3 63,4 M-GE3051 5/8UNCF
30 50 19 235 50 50 50 M42x2 386 x 29 66,2 M-GEO305MCF 38 50 15 26 57 55 60  15/8-12UN -2A 37,46 x 3 89,4 M-GE38S1 5/8UNCF

THEEFENITERSRE:  M-GEO 06LMOMDCF
order code of items without nut and DS-Ring for example:

AHRBERENITHEASRE:  M-GE 08L 7/16 UNFOMDCF

M-GEO 06LMOMDCF order code of items without nut and DS-Ring for example:

M-GE 08L 7/16 UNFOMDCF

Page 032 Page 040




+E5( %L Pipescrew-joints

I3

G G |
I2 |
L2 L2
ity B F 1% k- S i HERR 4L
i B A - R
Male Stud Elbows
order code: M-WE-R(KEG) order code: M-WE-M(KEG)

) R - EE =
MENE R F&/100g ES Fz/00  ES
pipeOD PN S, S, L, I, i G kg for% pc. ordercode G kg for% pc. ordercode

4 L 10 11 21 11 17 8 R1B'K 2,2 M-WEO4LLRCF M 8x1 K 21 M-WEOALLMCF
6 10 12 11 21 9,517 8 R1/8°K 2,5 M-WEO6LLRCF M10x1 K 2,5 M-WEO6LLMCF
8 MO0 9492 23 11,5 20 8 R1/8°K 3,4 M-WEOSLLRCF M10x1 K 3,4  M-WEOSLLMCF
6 14 12 27 12 20 8 R1/8°K 4,0 M-WEO6LRCF M10x1 K 4,0 M-WE06LMCF
8 17 14 29 14 26 12 R1/4"K 66 M-WEOS8LRCF M12x1,5K 6,6  M-WEOSLMCF
10 &, 1917 30 15 27 12 RI4'K 83 M-WEIOLRCF  M14x1,5K 83  M-WE10LMCF
12 n2a 22 19 32 17 28 12 R3/8"K 11,8 M-WE12LRCF M16x1,5K 11,8  M-WE12LMCF
15 27 19 36 21 342 142 R1/2°K 13,0 M-WEISLRCF M18x1,5K 120  M-WET5LMCF
18 32 24 40 235 36 14 R1/2°K 16,6 M-WE18LRCF M22x1,5K 19,1  M-WE18LMCF
_ 6 17 14 31 16 26 12 R14K 7.2 M-WE06SRCF M 12x1,5K 7,5 M-WEO6SMCF
8 19 17 32 17 27 12 R1/4°K 8,8 M-WE08SRCF M14x1,5K 10,0 M-WE08SMCF
10 S, 22 19 34 17528 12 R3/8"K 13,4 M-WE10SRCF M16x1,5K 13,8 M-WE10SMCF
12 25200 24 22 38 21,5 28 12 R3/8"K 16,5 M-WE12SRCF M 18x1,5K 16,5 M-WE12SMCF
14 27 19 40 22 32 14 RI1/2°K 153 M-WE14SRCF M20x1,5K 153  M-WE14SMCF
16 30 24 43 245 32 14 R1/2°K 17,9 M-WE16SRCF M22x1,5K 19,0 M-WE16SMCF

A EFENHTTEA SR : M-WE12LROMDCFX

order code of items without nut and DS-Ring for example:

Page 041

M-WE12LROMDCFX

MASI=re

I3

+EF\ FEL Pipe screw-joints

G |
G |
_ | 12 |
!. L2
i B A 15 k- S5 Il $E UR 4T
Male Stud Elbows
order code: M-WE-NPT
MEE 75 o e
pipeOD PN 5, S L L, i G kg for% pc. ordercode
4, 1 1 2 om0 10 1/8” NPT 21 M-WEO4LL1/8NPTCF
6 w12 11 21 95 17 10 1/8" NPT 2,4 M-WEO6LL1/8NPTCF
8 400 9492 23 1m,5 20 10 1/8" NPT 3,3 M-WEOSLL1/8NPTCF
6 14 12 27 12 20 10 1/8" NPT 4,0 M-WEO6L 1/8NPTCF
8 17 14 29 14 26 15 1/4" NPT 6,3 M-WEO8L1/4NPTCF
10 Lo 19 17 30 15 27 15 1/4" NPT 8,2 M-WET0L1/4NPTCF
12 ny 22 19 32 17 28 15 3/8” NPT 11,6 M-WE12L3/8NPTCF
15 27 19 36 21 34 20 1/2" NPT 14,0 M-WE15L1/2NPTCF
18 32 24 40 235 36 20 1/2° NPT 16,5 M-WE18L1/2NPTCF
22 36 27 44 275 42 20 3/4” NPT 235 M-WE22L3/4NPTCF
28 160 41 36 47 305 48 25 17 NPT 37,5 M-WE28L1NPTCF
35 4 50 41 56 345 54 255 11/4" NPT 57,5 M-WE35L1 1/4NPTCF
42 60 50 63 40 61 26 11/2" NPT 83,0 M-WE42L1 1/2NPTCF
6 17 14 31 16 26 15 1/4" NPT 6,9 M-WE651/4NPTCF
' g8 19 17 32 17 27 15 1/4" NPT 8,5 M-WE8S1/4NPTCF
10 s 2 19 34 175 28 15 3/8" NPT 13,3 M-WE1053/8NPTCF
12 25200 24 22 38 215 28 15 3/8” NPT 16,8 M-WE1253/8NPTCF
14 27 19 40 22 34 2 172" NPT 16,6 M-WE1451/2NPTCF
16 30 24 43 245 36 20 172" NPT 18,6 M-WE1651/2NPTCF
20 36 27 48 265 42 20 3/4" NPT 30,0 M-WE20S3/4NPTCF
25 w0 46 36 54 30 48 25 1" NPT 56,5 M-WE2551NPTCF
30 e 50 41 62 355 54 255 11/4” NPT 82,0 M-WE30S1 1/4NPTCF
’ 38 60 50 72 41 61 26 11/2" NPT 116,0 M-WE3851 1/2NPTCF

ARG FENANTTER S 6

M-WE 06L 1/8NPT CFX

order code of items without nut and DS-Ring for example:

M-WE 06L 1/8NPT CFX

Page 042




<& FEL Pipe screw-joints _W—IE_R WE_R +E& X $ESL Pipe screw-joints

S2 51
S3 Sq
Y ¢
G g T
G 12 2
12 2 L2 L2
5 L2
L
i = 18 ¥ 3-S5 Il AR 4L
Male Stud Branch Tees
order code: M-TE-NPT
i = 18 12 S-SRl HERE 41 ==
i BLA =i R @%?S*D% fﬁf c s L | _ ; /1004 dﬂ% ;
PIPE 1 2 2 3 ) i kg for% pc.  ordercode
Male Stud Branch Tees 4 i 10 11 21 17 11 10 1/8" NPT 2,2 M-TE 4-LL/NPT
order code: M-TE-R(KEG) M-TE-M(KEG) ol 1o BRI 2 IO RS N 2SS G LN
8 14 12 23 20 11,5 10 1/8" NPT 3.7 M-TE 8-LL/NPT
6 14 12 27 20 12 10 1/8"NPT 4,5  MTE 6L/NPT
87 17 14 29 26 14 15 1/4" NPT 6,5 M-TE 8-L/NPT
e EE EBE 10 3'1-5 19 17 30 27 15 15 1/4" NPT 8,5 M-TE 10-L/NPT
mESME R F=/1004 2S5 Fx004  Hs 12 n2%0 22 19 32 28 17 15 3/8"NPT 12,0 M-TE12-L/NPT
pipe OD PN SI S B L, i G kg for% pc. ordercode G kg for% pc. ordercode 15 27 19 36 34 2 20 172" NPT 21,0 M-TE15-L/NPT
4 L 10121 1 17 8 RIBK 2,9 MTE 4RUCF M 8x1 K 2,8 M-TE 4-MLLCF 18 32 24 40 36 235 20 172" NPT 28,0 M-TE18-L/NPT
6 0 12 11 21 9,5 17 8 R1/8"K 3,4 M-TE 6-RLLCF M 10x1 K 3,4 M-TE 6-MLLCF 22 36 27 44 42 27,5 20 3/4" NPT 38,0 M-TE22-L/NPT
8 Mool 44 12 23 11,520 8 R1/8K 47 MTE 8RILCF M10x1 K 47  M-TE 8-MLLCF 28 10 41 36 47 48 305 25 1" NPT 56,0 M-TE 28-UNPT
6 14 12 27 12 20 8 R1/8°K 6,0 M-TE 6-RLCF  M10x1 K 6,0 M-TE 6-MLCF 35 [640] 50 41 56 54 345 255 11/4"NPT 91,0 M-TE 35-L/NPT
8 17 14 29 14 26 12 R1/4°K 9,2 M-TE 8-RLCF M12x1,5K 9,2 M-TE 8-MLCF 42 60 50 63 61 40 26 11/2" NPT 137,0 M-TE42-L/NPT
10 3'1-5 19 17 30 15 27 12 R1/4°K 1,7 M-TE10-RLCF M 14x1,5K 11,7 M-TE 10-MLCF 6 17 14 31 26 16 15 1/4" NPT 8,5 M-TE 6-S/NPT
12 (260 22 19 32 17 28 12 R3/8"K 16,0 M-TE12-RLCF M 16x1,5K 16,0 M-TE 12-MLCF 8 19 17 32 27 17 15 1/4" NPT 10,5 M-TE 8-S/NPT )
15 27 19 36 21 34 14 R1/2°K 203  MTE15-RLCF M18x1,5K 193  M-TE15-MLCF 10 S 22 19 33 28 175 15 3/8” NPT 15,0 M-TE 10-S/NPT
18 32 24 40 23,5 36 14 R1/2°K 29,2 M-TE18-RLCF M 22x1,5K 29,2 M-TE 18-MLCF ' 12 [fss-fo] 24 22 38 28 21,5 15 3/8" NPT 18,0 M-TE 12-S/NPT
6 17 14 31 16 26 12 R1/4"K 10,9 M-TE 6-RSCF M 12x1,5K 10,9 M-TE 6-M SCF 14 27 19 40 34 22 20 1/2" NPT 25,0 M-TE 14-S/NPT
8 19 17 32 17 27 12 R1/4"K 14,0 M-TE 8-RSCF M14x1,5K 14,0 M-TE 8-MSCF 16 30 24 43 36 245 20 1/2" NPT 34,5 M-TE 16-S/NPT
10 430 22 19 34 175 28 12 R3/8"K 19,0 M-TE10-RSCF M 16x1,5K 19,0 M-TE 10-MSCF 20 36 27 48 42 26,5 20 3/4" NPT 49,5 M-TE 20-5/NPT
12 neon 24 22 38 21,5 28 12 R3/8°K 245  MTE12-RSCE M18x15K 245  MTE12-MSCF 25 4 46 36 54 48 30 25 1" NPT 92,5  M-TE25-S/NPT
14 27 19 40 22 32 14 R1/2°K 24,4 M-TE 14-RSCF M 20x1,5 K 24,4 M-TE 14-MSCF [ 30 16000 50 4] 62 54 355 255 11/4”NPT 128,0 M-TE30-S/NPT
16 30 24 43 245 32 14 R1/2°K 284  MTE16-RSCF M22x1,5K 284  M-TE 16-MSCF 33 60 50 72 61 a 26 1172° NPT 189,0 MTE38.S/NPT
AR RERITSERS A M-TE-4RLLCFX $ﬁﬂ%‘ﬁﬁﬁjﬁ’ﬂﬂ‘&iﬁ%%ﬁﬂ : M-TE 4LL/NPTCFX
order code of items without nut and DS-Ring for example: ~ M-TE-4RLLCFX order code of items without nut and DS-Ring for example: ~ M-TE 4LL/NPTCFX
Page 043 Page 044




+<ER FEL Pipe screw-joints MASIeR +ER FEL Pipe screw-joints

52 51 51 51

«H

L3
L3

I3
i
I3

L2

BEin =B E k-5 HER
Male Stud Barrel Tees
order code: M-LE-NPT

B 5% i = i 43 K- S SEAR AT

Ll — il VAN 3
B R um = @ 1 k- I #ER 41 WENE  EF :FﬁE/%OO{fF it
Male Stud Branch Tees pipeOD PN 5 ST L L I, L, i G kg for% pc. ordercode
4, 10 9 21 11 15 36 10  1/8" NPT 2,3 MLE 4LL/NPTCF
order code: M-LE-R(KEG) order code: M-LE-M(KEG) 6 100 12 9 21 95 15 36 10 1/8" NPT 2,9 M-LE 6-LL/NPTCF
8 A 14 12 23 11,5 19 42 10 1/8” NPT 3,7 M-LE 8-LL/NPTCF
6 14 12 27 12 19 46 10 1/8" NPT 50 M-LE 6-L/NPTCF
8 17 14 29 14 23 52 15 1/4" NPT 6,5 M-LE 8-L/NPTCF
=5 L3 10 L 19 17 30 15 24 54 15 147 NPT 85  MLE10-L/NPTCF
WESNME A5 Fxioog 25 Fw/l00 S 12 paeq 22 19 32 17 25 57 15 3/8" NPT 12,5 M-LE12-L/NPTCF
pipeOD PN S, S, L, L L L i G kg for% pc. ordercode G kg for% pc. ordercode T 15 27 19 36 21 30 66 20 172" NPT 20,5 M-LE 15-L/NPTCF
4 10 11" 21 11 17 38 8 R1/8°K 2,9 M-LE 4-RLLCF M 8x1K 2.8 M-LE 4MLLCF 18 32 24 40 235 33 73 20 1/2" NPT 26,5 M-LE 18-L/NPTCF
6 100 12 11 21 95 17 38 8 R1/8°K 3,5 M-LE 6-RLLCF M10x1K 35 M-LE 6MLLCF 77 36 27 44 27,5 42 86 20 3/4" NPT 36,5 M-LE 22-L/NPTCF
8 MO0 14 12 23 115 20 43 8 R1/8°K 4,7 M-LE 8RLLCF M10x1K 4,7  M-LE 8MLLCF T 28 10 41 36 47 305 48 95 25 17 NPT 56,0  M-LE 28-L/NPTCF
6 14 12 27 12 20 47 8 R1/8°K 6,0 M-LE 6-RLCF M10x1K 6,0 M-LE 6MLCF 35 [640] 50 41 56 34,5 54 110 25,5  11/4” NPT 81,0 M-LE 35-L/NPTCF
8 17 14 29 14 26 55 12 R1/4°K 9,1 M-LE 8RLCF M12x15K 9,1 M-LE 8MLCF VY 60 50 63 40 61 124 26 11/2°NPT 115,0 M-LE 42-L/NPTCF i
10 3'1-5 19 17 30 15 27 57 12 R1/4°K 11,4 M-LE10-RLCF M14x1,5K 114 M-LE 10MLCF 6 17 14 31 16 23 54 s 1/4" NPT 9,0 M-LE 6-S/NPTCF
12 20 22 19 32 17 28 60 12 R3/8°K 16,2 M-LE12-RLCF M16x1,5K 16,2 M-LE 12MLCF 8 19 17 32 17 24 56 15 1/4" NPT 10,5 M-LE 8-S/NPTCF
| 27 19 36 21 34 70 14 R1/2"K 200 M-LE15-RLCF M18x1,5K 186  M-LE 15MLCF 10 s 22 19 34 175 25 59 15 3/8” NPT 15,6 M-LE 10-S/NPTCF
18 32 24 40 235 36 76 14 R1/2°K 26,7 M-LE18-RLCF M22x1,5K 26,6 M-LE 18MLCF 12 [26_350] 24 22 38 215 28 66 15 3/8" NPT 18,0 M-LE 12-S/NPTCF
6 17 14 31 16 26 57 12 R1/4°K 10,8 M-LE 6-RLCF M12x1,5K 10,8 M-LE 6MSCF 14 27 19 40 22 30 70 20 1/2" NPT 24,5 M-LE 14-S/NPTCF
8 19 17 32 17 27 59 12 R1/4"K 13,8 M-LE 8-RLCF M14x1,5K 13,8 M-LE 8MSCF 16 30 24 43 245 33 76 20 172" NPT 32,0 M-LE 16-S/NPTCF
7107 430 22 19 34 17,5 28 62 12 R3/8"K 19,0 M-LE10-RLCF M16x1,5K 19,0 M-LE 10MSCF 20 36 27 48 265 42 90 20 3/4” NPT 49,0 M-LE 20-S/NPTCF
12 peoop 24 22 38 21,5 28 66 12 R3/8°K 243  M-LE12-RLCF  M18x1,5K 243  M-LE 12MSCF 25 40 46 36 54 30 48 102 25 1" NPT 822  M-LE25-S/NPTCF
14 27 19 40 22 32 72 14 R1/27K 23,4 M-LE14-RLCF M20x1,5K 23,8 M-LE 14MSCF 30 (e 50 41 62 355 54 116 255 11/4"NPT 109,5 M-LE 30-S/NPTCF
16 30 24 43 245 32 75 14 R1/2°K 30,7 M-LE16-RLCF  M22x1,5K 31,9 M-LE 16MSCF 38 60 50 72 41 61 133 26 11/2" NPT 155,0 M-LE 38-S/NPTCF
AHRETEMNIENRSRP:  M-LE-4RLLCFX Tt m-RERGITHASRE:  M-LE ALL/NPT CFX
order code of items without nut and DS-Ring for example: ~ M-LE-4RLLCFX order code of items without nut and DS-Ring for example: ~ M-LE 4LL/NPT CFX
Page 045 Page 046




+EREL Pipe screw-joints MASI=r MASIErR ~EX L Pipe screwjoints
S S
I
Ly
l
L1
HETEES
Straight reducing Couplings
. order code: M-GR
HiE#E %k
Straight Couplings e e -
Z t‘: \5' —'|=I:l
order code: M-G pipEe 0D PN T/ 10t Orde;zode
: S L, I, 5 5, 2y kg for% pc.
1 2 it
6 4 L 32 10,5 11 10 12 8 M-GRO6/04LLCF
8 4 w0 34 12,5 12 10 14 2,1 M-GRO8/04LLCF
== 8 6 [0l 34 11 12 12 14 23 M-GR08/06LLCF
e e — R
H L | 0, 4 2 =
Bipe (ORI ' ' ko forRpe oidercode 10 8 12200 43 12 17 17 19 5.7 M-GR10/08LCF
4 - 9 10 31 12 14 M-GOALLCF 12 6 42 13 19 14 22 6,5 M-GR12/06LCF
6 100 11 12 32 9 2,1 M-GO6LLCF 12 8 42 13 19 17 22 70 M-GR12/08LCF
8 [400] 12 14 35 12 M-GOSLLCF 12 10 43 14 19 19 22 7,5 M-GR12/10LCF
2,6 15 10 400 45 15 24 19 27 10,7 M-GR15/10LCF
6 ) 12 14 39 10 35 M-GO6LCF 15 12 D700 45 15 24 22 27 114 M-GR15/12LCF
e S gl 4 49 2T 2 S T A— 3 150 MCRIS/ILCE
10 17 19 42 13 6.9 EEUEe 18 15 48 16,5 27 27 32 17.2 M-GR18/15LCF
12 19 22 43 14 8,5 M-G12LCF 22 12 48 17,5 32 22 36 19,3 M-GR22/12LCF
o e I I e i
;113 §§ §§ ;‘3 ;118 193 2L 88T iy D52 19 41 EY) 41 30,6 M-GR28/18LCF
2 26,2 M-G22LCF 28 22 54 21 4 36 Iy 32,6 M-GR28/22LCF
— 35 (100 46 50 63 20 £ M-G35LCF 35 28 59 21 46 41 50 46,1 M-GR35/28LCF
2 494 i 8 6 s 47 18 17 17 19 74 M-GRO8/065CF
42 55 60 66 21 72,8 M-G42LCF 10 6 80 48 17,5 19 17 22 9,1 M-GR10/065CF
6 S 14 17 45 16 59 M-G06SCF 10 8 [34000 48 17,5 19 19 22 9,5 M-GR10/08SCF
— BT ’ T 12 6 50 19,5 22 17 24 11,1 M-GR12/065CF
e [0 78 - 12 8 50 19,5 22 19 24 11,5 M-GR12/08SCF
10 19 22 49 17 11,0 M-G10SCF 210 . 5l 19 22 22 24 12,7 M-GR12/10SCF
I N TR R —— "
- o | 630 14 1z " r i-
4 g 24 27 57 22 18,2 M-G14SCF 16 12 54 20 27 24 30 188 M-GR16/125CF
16 27 30 57 21 223 M-G16SCF ;g 13 57 21,5 27 27 30 21, M-GR16/14SCF
v 1 60 22 32 22 36 27,1 M-GR20/10SCF
L 22N R o L M:205eE 20 12 60 22 32 2 36 277 M-GR20/125CF
B, M 46 74 26 66,9 NEGESSCE 20 16 63 23 32 30 36 313 M-GR20/165CF
30 7 46 50 80 27 80,9 M-G30SCF %‘5_12“8‘ L. 68 25,5 4 30 46 51,2 M-GR25/165CF
38 z [ i 25,5 Iy 36 46 56,4 M-GR25/20SCF
38 55 60 90 29 1194 iy X% 74 2 46 36 50 65,1 M-GR30/20SCF
AR RENMITRRSSE:  M-G 12LCFX - 30 5 77 26,5 46 46 50 77,8 M-GR30/255CF
order code of items without nut and DS-Ring for example:  M-G 12LCFX 38 30 &7 2.5 2 20 60 110.3 M-GRIBIIOSCE
@G RERNITERSHE:  M-GRO8/06LCFX
order code of items without nut and DS-Ring for example:  M-GR08/06LCFX
Page 047 Page 048




KER $EL Pipe screw-joints +Z&RJEL Pipe screw-joints

i)
LY
-
S
12 12 |
L2 - L2
=miEsk
BiEL Equal Tees
Equal Elbows order code: M-T
order code: M-W
, 52 =
‘ =g - WESNE R . W T
meEsiE Rl F7/1004 ZS pipeOD PN s, s, L , kg for% pc.  ordercode
pipedD PN 5, 5, L 1 kgfor%pc. ordercode 4 10 9 21 11 2,9 M-TO4LLCF
LL r &
4 w10 9 21 1 2,5 M-WOALLCF 6 100 12 11 21 9,5 38 M-TO6LLCF
6 100 12 11 21 9,5 2,8 M-WO0eLLCF 8 [400] 14 12 23 115 51 M-TOSLLCF
8 ool 14 12 23 115 38 M-WOBLLCF 6 [ 14 12 27 2 71 M-TO6LCF
g = L L L a3 M-WOGLCF 8 500 17 14 29 14 10,1 M-TO8LCF
500 - 220 - . o
10 [2200] 1; :; gg i ot m w?gtg:z 10 129 N 17 30 15 13,0 M-T10LCF
> 1 s 15 9.6 M_W e 2. 2 19 3 17 17,7 M-T12LCF
wo 2 17 13,5 nii B on DG 23,2 M-T15LCF
15 o 27 19 36 21 15,8 M-W15LCF _ 18 32 24 40 23,5 35,4 M-T18LCF
18 32 24 40 23,5 23,9 M-W18LCF 22 36 27 44 75 443 M-T22LCF
g; 36 g; a4 275 37 Hﬁétﬁi 8 20 41 36 47 305 61,1 M-T28LCF
250 - ] T
3z Moo 2 - :Zj B =2l NOWISLCE 35 50 41 56 34,5 0,1 M-T35LCF
50 345 75,9 - 42 60 50 63 40 136,8 M-T42LCF
42 60 50 63 40 107.8 M-W42LCF 6 g 17 14 31 16 12,0 M-TO6SCF
6 s 7 W 31 6 8,5 M-W6SCF _ 8 80 19 17 32 17 15,7 M-TO8SCF
S B N e 212 1,7 M-WeSLE 10 P 9 3 s 21,2 M-T105CF
10 22 19 34 17,5 16,1 ‘M-W105CF . 12 24 22 38 21,5 28,5 M-T12SCF
2 24 2 38 25 205 MEN25CE . 4 goq 27 19 40 2 285 M-T14SCF
14 g 27 19 40 22 20,7 M-W145CF 16 30 24 43 24,5 359 M-T16SCF
16 30 24 43 24,5 25,0 M-W165CF 20 36 27 48 26,5 55,8 M-T20SCF
20 36 27 48 265 40,7 M-W205CF _ 25 46 36 54 30 106,7 M-T255CF
25 L, 4 36 54 30 77,6 M-W25SCF 30 on 50 41 62 355 134,9 M-T30SCF
39 npo 50 41 62 355 97,4 M-W30SCF — T i o TR
38 60 50 72 a4 1318 M-W38SCF

B FENTITER SR M-TO8BLCFX
RS EENFITSERZSRE: M-W 06LCFX order code of items without nut and DS-Ring for example M-TO8LCFX
order code of items without nut and DS-Ring for example: ~ M-W 06LCFX

Page 049 Page 050




+E L Pipe screw-joints MASI=ER ' MASIErR +<E4ESL Pipe screw-joints

51 54 53
=y =%
m
=3 | A7 vy
SETEEk
Reduction Tees
order code: M-TR )
L2
MEIME =5 EE bilhes
pipe OD PN F7/100+ order code
D| 2 3 LI Lz La I! Iz lz 5\ sz Sz 54 kg for% e
8 I 3 33 23 13 13 5 0 1 0 2 4,3 M-TRO4/08/04LLCF
100[400] 21 2] 21 9,5 9,5 1 2 0 2 1 3,5 M-TRO6/04/06LLCF
29 29 29 14 T4 1 1 7 1 ) 9,2 “TROG/08/06LCF
29 29 29 14 14 4 17 14 17 14 9,5 M-TRO8/06/08LCF N
L 30 30 30 15 15 15 14 19 14 14 11,4 M-TR06/10/06LCF P05 L
500 30 30 30 15 15 15 17 19 17 14 12,2 M-TRO8/10/08LCF ~
[2200] 30 30 30 15 15 15 19 14 19 14 12,1 M-TR10/06/10LCF
30 30 30 15 15 15 19 17 19 14 12,2 M-TR10/08/10LCF Equal Crosses
30 30 30 15 15 15 19 19 14 14 12,1 M-TRT0/10/06LCF
32 32 32 17 17 17 17 22 17 17 16,0 M-TRO8/12/08LCF q q
37 32 32 17 17 17 2 14 22 17 15,9 M-TRT2/06/12LCF - M-
32 32 32 17 17 17 2 17 17 17 16,0 M-TR12/08/08LCF order code: M-K
37 32 32 17 17 17 22 17 22 17 16,4 M-TR12/08/12LCF
32 32 32 17 17 17 22 19 19 17 16,2 M-TR12/10/10LCF
2 a0 32 17 17 17 2 19 22 17 16,7 M-TRT2/10/12LCF
32 32 32 17 17 17 22 22 19 17 16,7 M-TR12/12/10LCF
10 15 10 36 36 36 21 21 21 19 27 19 19 18,8 M-TRT0/15/10LCF T
12 15 12 36 36 36 21 21 2 22 27 2 19 19,2 M-TR12/15/12LCF -
15 615 400 36 36 36 21 21 21 27 14 27 19 19,4 M-TR15/06/15LCF MENE F5 F/1004 Eilt=
1510 15 17000 36 36 36 21 21 21 27 19 27 19 20,7 M-TR15/10/15LCF :
212 36 36 36 21 21 21 27 2 22 19 18,8 M-TR15/12/12LCF pipeOD PN 5, 5, L, l, kg for% pc. ~ ordercode
36 36 36 21 21 21 27 22 27 19 21,1 M-TR15/12/15LCF
36 36 36 21 21 21 27 27 p7) 19 20,8 M-TR15/15/12LCF 6 i 14 12 27 12 7,7 M-KO6LCF
39 39 10 24 24 23,5 22 32 22 24 26,3 M-TR12/18/12LCF
0 39 39 235 24 2 32 19 19 % 25,9 M-TR18/10/10LCF e [252030] 17 12 29 14 10,9 M-KO8LCF
40 40 39 235 2375 24 32 19 32 24 29,7 M-TR18/10/18LCF 10 19 14 30 15 15,5 M-K10LCF
20 40 39 235 235 24 32 22 32 24 29,7 M-TR18/12/18LCF !
40 40 39 235 23,5 24 32 27 32 24 31,6 M-TR18/15/18LCF 12 i 22 17 32 17 19,2 M-K12LCF
20 39 40 235 24 235 32 32 19 24 29,6 M-TR18/18/10LCF =
4 44 43 275 275 28 36 19 36 27 39,1 M-TR22/10/22LCF 15 noo] 27 19 36 21 31,1 M-K15LCF
23 44 43 275 275 28 36 2 36 27 39,7 M-TR22/12/22LCF 7
4 43 43 275 28 28 36 27 27 7 37,7 M-TR22/15/15LCF 18 32 24 40 23,5 48,3 M-K18LCF
44 a4 43 27,5 27,5 28 36 27 36 27 41,0 M-TR22/15/22LCF 22 36 27 44 275 72,4 M-K22LCF
3 44 14 275 275 275 36 Ep) 32 7 422 M-TR22/18/18LCF e : ’
T S S— T —" - R/ S—J — — E— W— p_— 1 M-TR22/23/18LCE SN o B lo12  MKaSLCF
; ; ; ; : 110
47 47 46 305 30,5 3 1 19 1 36 55,7 M-TR28/10/28LCF 35 1100 g 41 56 34,5 122,8 M-K35LCF
7 47 16 305 305 31 73| 2 a 36 56,3 M-TR28/12/28LCF z
47 47 46 305 305 3 11 27 41 36 50,7 M-TR28/15/28LCF 42 60 50 63 40 1756 M-ka42L.CF
7 47 47 305 30,5 30,5 a 32 Zy| 36 50,7 M-TR28/18/28LCF 6 17 12 31 16 123 M-K065CF
a7 47 47 30,5 305 30,5 a1 36 36 36 60,2 M-TR28/22/22LCF S :
a7 47 a7 305 305 30,5 a1 3 gy 35 603 M-TR28/22/28LCF 8 800 19 14 32 17 14,8 M-K08SCF
34 34 33 17,5 17,5 13 22 17 22 17 19,9 M-TR10/06/10SCF [3400]
38 37 37 21,5 22 22 24 19 19 17 25,1 M-TR12/08/08SCF 10 22 17 34 17,5 23,0 M-K105CF
38 38 37 215 215 22 24 19 24 17 26,6 M-TR12/08/125CF B
33 33 38 215 21,5 215 24 22 24 17 27,5 M-TR12/10/125CF 12 B 24 17 38 21,5 28,2 M-K125CF
42 42 43 25,5 25,5 24,5 24 30 24 24 32,9 M-TR12/16/125CF 14 [2700] 27 19 40 22 354 M-K14SCF
23 43 41 245 245 26 30 17 30 24 33,3 M-TR16/06/165CF T
43 43 1 24,5 24,5 26 30 19 30 24 33,2 M-TR16/08/16SCF 16 30 24 43 24,5 45,1 M-K165CF
3 a3 42 245 245 255 30 22 30 24 34,8 M-TR16/10/165CF
43 43 4 245 245 255 30 24 30 24 35,6 M-TR16/12/165CF 20 36 27 48 26,5 70,4 M-K205CF
a7 47 43 285 285 26,5 30 36 30 27 50,5 M-TR16/20/165CF B
48 43 46 265 26,5 295 36 22 36 27 51,7 M-TR20/10/205CF - An0 46 36 54 30 1257 M-K255CF
48 48 46 26,5 26,5 29,5 36 24 36 27 52,4 M-TR20/12/20SCF 30 [1700] 50 41 62 355 150,3 M-K30SCF
48 43 47 26,5 26,5 285 36 30 36 27 54,2 M-TR20/16/205CF — 1 .
53 53 54 31,5 31,5 30 36 46 36 36 89,1 M-TR20/25/20SCF 38 60 50 72 41 205,1 M-K38SCF
55 54 52 30 30 335 6 30 6 36 96,6 M-TR25/16/255CF
5 54 54 53 30 30 31,5 46 36 6 36 99,8 M-TR25/20/255CF e = = pe S T A 2 -
75 30 25 S M- [ B V) 37 355 46 50 46 41304 M-TR25/30/255CF $gé’%§5?—ftﬁqﬂm{§fﬁm't ?jﬂbxsu?{i'-a)é TR T—
5 e order code of items without nut an -Ring for example M-
THBREFENTERRSRE M-TR06/08/06LCFX g p
order code of items without nut and DS-Ring for example:  M-TR06/08/06LCFX
Page 051 Page 052




FENX L Pipe screw-joints MASIeR +E3L 1L Pipe screw-joints

M
D
Lh 13
L1 | L3
=
Is I3
L3
SVELEM R L BEARREX
Straight Bulkhead Connections Bulkhead Elbow Connections
WENE F5) = ms wWEsE  F5 == me
. F/100¢ : T 72/100#F
pipeOD PN M s 8§ s K B 1 kg for% pc.  ordercode pipeOD PN M s 5 5 L. K L D L, L, d  kgfor%pc. ordercode
6 | Mizas 17 14 17 2 7 16 4 2 6,7 M-SVO6LCF 6 L Mi2as 14 12 17 27 12 14 16 42 27 17 7,5 M-WSVO6LCF
8 s M14xli5 19 17 19 23 8 16 42 27 8,4 M-SVOSLCF ] 8 so0  M14x1,5 17 12 19 29 14 17 16 42 27 19 9,9 M-WSVO8LCF
10 2200 “Muexis 22 19 22 25 10 16 43 28 1.0 M-SVIOLCF 10 @9 "Miex1,5 19 14 22 30 15 18 16 43 28 22 12,0 M-WSV10LCF
12 M18x1,5 24 22 24 25 10 16 44 29 13,3 M-SV12LCF 12 M18x1,5 22 17 24 32 17 20 16 44 29 24 15,0 M-WSV12LCF
15 g M22x15 27 27 30 27 12 16 46 31 22,8 M-SV15LCF 15 o M22x1,5 27 19 30 36 21 23 16 46 31 27 25,0 M-WSV15LCF
18 M26x1,5 32 32 36 30 135 16 49 325 33,2 M-SV18LCF 18 M26x15 32 24 36 40 235 24 16 49 325 32 35,5 M-WSV18LCF
22 M30x2 36 36 41 33 165 16 51 345 41,5 M-SV22LCF _ 22 M30x2 36 27 41 44 275 30 16 51 345 36 46,5 M-WSV22LCF
28 5 M36x2 41 41 46 35 185 16 52 355 52,5 M-SV28LCF | 28 a0 M36x2 41 36 46 47 305 34 16 52 355 42 64,0 ‘M-WSV28LCF
35 (100 M45x2 50 50 55 40 185 16 58 36,5 80,0 M-SV35LCF 35 00 m45x2 50 41 55 56 345 39 16 58 365 50 99,4 M-WSV35LCF
42 M52x2 60 60 65 42 19 16 59 36 119,3 M-SV42LCF ] 42 M52x2 60 50 65 63 40 43 16 59 36 60 149,0 M-WSV42LCF
6 g M14x1,5 19 17 19 27 12 16 4 29 9,6 M-SV065CF 6 ¢ M5 17 12 19 31 16 17 16 44 29 19 10,5 M-WSVO6LCF
8 80 M16x1,5 22 19 22 28 13 16 44 29 12,4 M-SV08SCF _ 8 B0  M16x1,5 19 14 22 32 17 18 16 44 29 22 14,0 M-WSV08SCF
10 U MIsxIs 24 2 24 31 145 16 46 295 181 M-SVIOSCF 10 P® Misxs 22 17 24 34 175 20 16 46 295 24 190  MWSVIOSCF
1z | M20x1,5 27 24 27 31 145 16 47 305 21,0 M-SV12SCF 12 M20x1,5 24 17 27 38 215 21 16 47 305 27 225 M-WSV12SCF
14 20, M2»xa5 30 27 30 35 17 16 50 32 29,0 M-SV14SCF 14 2y M22x15 27 19 30 40 22 23 16 50 32 27 30,0 M-WSV14SCF
16 M24x1,5 32 30 32 35 165 16 50 315 31,0 M-SV16SCF 16 M24x1,5 30 24 32 43 245 24 16 50 31,5 30 36,5 M-WSV1esCF
20 M30x2 41 36 41 39 175 16 55 335 54,5 M-5V20SCF 20 M30x2 36 27 41 48 265 30 16 55 335 36 58,0 M-WSV20SCF
25 40 M36x2 46 46 46 44 20 16 59 35 89,0 M-SV25SCF 25 40 _M36x2 46 36 46 54 30 34 16 59 35 4 100,0 M-WSV255CF
30 [1700] M 42x2 50 50 50 48 21,5 16 64 37,5 107,7 M-SV30SCF 30 n7o0] M42x2 50 41 50 62 355 39 16 64 375 50 130,0 M-WSV30SCF
38 M52x2 65 60 65 53 22 16 68 37 173,0 M-SV38SCF 38 M52x2 60 50 65 72 41 43 16 68 37 60 197,0 M-WSV38SCF
ARG FENITERSSRE:  M-SVO6LOMDCF TERBFENMITSEASTE  M-WSV06LOMDCF
order code of items without nut and DS-Ring for example: ~ M-SV06LOMDCF order code of items without nut and DS-Ring for example: ~ M-WSVO6LOMDCF
Page 053 Page 054




FEREL Pipe screw-joints MASI=R MASTER RERIR Pipescrewrjoints

$9 $1
"
) /
!“7—{: II‘IJ L"I 1
| = A
A\ b
( -
I
1 L1
L1
gk
ESVIE#E IR NiE kL Welding Bosses
order code: M-ESV order code: M-AS
WESHNE 75 e
e R BAT =g pipeOD PN S S L I d kg for% pc. ordercode
A g EP #Eh L | d me e P :
@E}ﬁo (ba)  (bar) | ] i R order code 6 o 12 1 2 1 10 25 BEREAGL
= 8 3,6 M-ASO8L
06 315 500 85 56 14 18 126 M-ESV06L Bt o B 17 31 16 12
10 17 19 33 18 14 47 M-AS10L
08 315 500 85 56 17 20 156 M-ESVO8L
— - R\ : 12 19 22 33 18 16 6,3 M-AS12L
10 315 500 87 58 19 22 184 M-ESV10L o
12 315 400 87 | 58 22 25 234 M-ESV12L 2 n700
15 315 400 100 70 27 28 35 M-ESV15L i L S e L Lol
L 3i 2 32 36 45 285 27 18,1 M-AS22L
18 315 400 101 69 32 32 469 M-ESV18L - : -
! | | - 28 — a1 47 305 32 30,2 M-AS28L
2 160 250 105 73 36 36 572 M-ESV22L = ! s e
- e a2l 35 (11000 46 50 54 325 40 37,7 M-AS35L
28 160 250 106 | 73 4 40 645 M-ESV28L o __
R B - T 42 55 60 58 35 46 64,1 M-AS42L
‘ ‘ ‘ : : ‘ 1025 6 14 17 34 19 11 32 M-AS06S
42 160 250 115 70 60 60 1475 M-ESV42L — S
8 g0 17 19 36 21 13 49 M-AS08S
06 630 900 89 60 17 20 174 M-ESV065S o
| | : 10 19 22 39 225 15 7.2 M-AS10S
08 630 900 89 | 60 19 22 208 M-ESV08S
10 630 900 91 59 22 25 268 M-ESV10S ' — s 20, 4 A 94h W 83 MAS125
e . 14 630 o4 27 45 27 19 10,8 M-AS14S
12 630 900 91 59 24 28 324 M-ESV125 27001
s 14 630 700 107 72 27 30 451 M-ESV14S | 16 27 30 4 265 2 144 MFAS165
16 400 630 107 | 71 | 30 352 584 M-ESV16S ___ 20 32 36 ol 295 % Al M:R5205
20 400 630 114 71 36 38 737 M-ESV205 L v o 37,7 A
=4 - 30 1700 46 50 62 355 36 44,9 M-AS30S
25, |00 P e 156\ 92 | 46 | 45 | T18) MEERVES 38 ' 60 69 38 44 68,4 M-AS385
30 400 420 126 73 50 50 1348 M-ESV305 a3 : 2
38 315 420 133 | 72 60 60 1970 M-ESV38S A HESFERMTTER SR M-ASO6LX
- ST order code of items without nut and DS-Ring for example: ~ M-AS06LX
FEIRE AT ER S > MESVOSLX g P
order code of items without nut and DS-Ring for example: M-ESV06LX
Page 055 Page 056




+E$EL Pipe screw-joints MASI=re <ERIEL Pipe screw-joints

L2
12
S3 0-Ring
51
52 7 \
ﬁ £
® X ¢
— N <
_® dg G dg
d r ' FEKDS i1
L3 FRDKA #:418 gﬁgaﬁﬂ@ e A2DKA 2592 #NBRHHE
Typewithtapper ring M-DKA../(SA) o TypewithtapperringDKA../(SA) Model withKDS seal
match narow” ¢ erbor Modelwith KDS seal match narrow” counterbore (innerseal made of vulanizedNBR)
to DIN 3852/d4 (innerseal made of vulanizedNBR) to DIN 3852/d4 for narrow DIN3852/d4 bore
for narrow DIN3852/d, bore
B E iR R S-S B i Bt S
M-SBE-high-pressure banjo couplings M-WH-high-pressure banjo couplings
order code: M-WH-R-KDS order code: M-WH-R order code: M-WH-M order code: M-WH-M-KDS
DKA #3t KDS #Ei#
h@jﬁ)&l\ﬁﬁ 7 KT% Ei;frﬂ TERS TERS
Egigr:;with BE Bems'lgr-lgw'lth BEE % Design with . E)e5|gn it =k
a2 MA* tapper ring kgfor tapperring kg for WENE EH MAS Cpperiing A kg for
%WE’J’[“& %5 in Order code 09051: Order code (}%St 2 = 2 . ni Order code 0% St. Ordercode 9% St.
pip= O O FE NS S s R R S R B G Nm Type steel  Type steel pipe OO R s s D d G Nm Type steel  Type steel
6 ) 14 17 17 27 12 24105 14 149 8 25 G 1/8° A20 M-WHOGLRCF 6,4 M-WHOGLRKDSCF 6,4 6 L 14 17 17 27 12 24 10514149 8 2,5 M10x1 25 M-WHO06LMCF 6,5 M-WHO6LMKDSCF 6,6
8 s00 17 22 19 29 14,5 30 14 18 18,9 12 3,0 G 1/4° AS0 M-WHOSLRCF 11,7 M-WHOSLRKDSCF 11,9 8 soo 17 22 19 29 145 30 14 17169 12 3,0 M12x1,5 50 M-WHO6LMCF 11,4 M-WHOBLMKDSCF 11,6
10 19 22 19 30155 30 14 18 18,9 12 3,0 G 1/4° A50 M-WH10LRCF 123 M-WH10LRKDSCF 125 10 19 22 19 30 15530 14 19189 12 3,0 M14x1,5 60 M-WHIOLMCF 12,5 M-WHI10LMKDSCF 12,7
12 22 27 24 33 18 3616,5 22 21,9 12 3,0 G 3/8° A75 M-WH12LRCF 207 M-WH12LRKDSCF 21,0 12 22 27 24 33 18 36 16,521 21,9 12 3,0 M16x1,5 90 M-WH12LMCF 20,3 M-WH12LMKDSCF 20,7
15 a00 27 32 30 37 21,5 45 21,5 26 26,9 14 45 G 1/2° A130  M-WH15LRCF 350 M-WH15LRKDSCF 36,5 15 400 27 30 27 36 20,5 39,5185 23 23,9 12 3,0 M18x1,5 110 M-WH15LMCF 28,5 M-WH15LMKDSCF 28,8
18 32 32 30 37 21 45215 26 269 14 45 G 1/2° A130 M-WH18LRCF 384 M-WH18LRKDSCE 39,0 18 32 32 30 37 21 45 21,527 269 14 45 M22x1,5 150 M-WH18LMCF 38,8 M-WH18LMKDSCF 39,3
22 36 41 36 44 27,5 53 24 32 329 16 3,5 G 3/4” A250 M-WH22LRCF 66:6 M-WH22LRKDSCE 67,7 22 36 41 36 44 27,553 24 3131916 3,5 M26x1,5 350 M-WH22LMCF 65,8 M-WH22LMKDSCF 67,0
28 - 41 50 46 49 32 6630,5 39 39,9 18 3,5 G 1”7 A350 M-WH28LRCF 1127 M-WH28LRKDSCF 13,5 28 350 41 50 46 49 32 66 30,539 399 18 3,5 M33x2 400 M-WH28LMCF 110,3 M-WH28LMKDSCF 111,1
35 50 60 55 58 36 76355 49 49,9 20 3,5 G 11/4° A600  M-WH35LRCF 166,3 M-WH35LRKDSCF 167,7 35 50 60 55 58 36 76 35549499 20 35 M42x2 600 M-WH35LMCF 166,3 M-WH35LMKDSCF 167,7
42 60 70 60 63 40,5 87 40,5 55 55,9 22 3,5 G 11/2° A800 M-WH42LRCF 245,9 M-WHA42LRKDSCF 247,7 42 60 70 60 63 40,5 87 40,555 55,9 22 35 M48x2 800 M-WH42LMCF 2499 M-WH42LMKDSCF 251,7
6 17 22 19 3116,5 30 14 18 18,9 12 3,0 G 1/4° AS50 M-WHO6SRCE 12,6 M-WHOGSRKDSCF 127 6 17 22 19 31 16,530 14 17169 12 3,0 M12x1,5 50 M-WHO6SMCF 12,2 M-WHO6SMKDSCF 12,5
8 19 22 19 3116,5 30 14 18 18,9 12 3,0 G 1/4” A50  M-WHOSSRCF 12,9 M-WHO8SRKDSCF 13,1 8 1922 19 31165 30 14 1918912 3,0 M14x1,5 60 MWHO8SMCF 13,2 M-WHOBSMKDSCF 13,3
10 s 2227 24 35185 36165 22 21,9 12 3,0 G 3/8” A75  M-WHIOSRCF 22,0 M-WH10SRKDSCF 22,2 10 s 22 27 24 3518536 16521 21,912 30 M16x1,5 90 M-WHIOSMCF 21,7 M-WH1OSMKDSCF 22,0
12 so0 24 27 24 3518,5 36 16,5 22 21,9 12 3,0 G 3/8° A75 M-WH12SRCE 22,5 M-WH12SRKDSCF 228 12 500 24 30 27 36 20 39,5185 23 23,9 12 3,0 M18x1,5 110 M-WH12SMCF 28,0 M-WH12SMKDSCF 28,3
16 30 32 30 40 22 4521,5 26 26,9 14 45 G 1/2° A130 M-WH16SRCF 39,3 M-WH16SRKDSCF 39,9 16 30 32 30 40 22 45 21,527 269 14 4,5 M22x1,5 150 M-WH16SMCF 39,4 M-WH16SMKDSCF 39,8
20 36 41 36 48 26,5 53 24 32 32,9 16 3,5 G 3/4” A250  M-WH20SRCF 69,2 M-WH20SRKDSCF 70,3 20 36 41 36 48 26,553 24 3232916 35 M27x2 350 M-WH20SMCF 68,8 M-WH20SMKDSCF 69,9
25 . 46 50 46 5631,5 66 30,5 39 399 18 35 G 1" A350 M-WH25SRCF 1284 M-WH25SRKDSCF 129, 25 ., 4650 46 56 31,5 66 30539 399 18 35 M33x2 400 M-WH255MCF 1260 M-WH25SMKDSCF 1268
30 50 60 55 64 37 76355 49 49,9 20 35 G11/4° A600 M-WH30SRCF 176,3 M-WH30SRKDSCF 177.7 30 50 60 55 64 37 76 35549 499 20 35 M42x2 600 M-WH30SMCF 176,3 M-WH30SMKDSCF 177,6
38 60 70 60 72 41,5 87 40,5 55 559 22 3,5 G11/2° A800 _ M-WH38SRCF___ 293,0 M-WH38SRKDSCF __ 294,8 38 60 70 60 72 41,5 87 405 55 55,9 22 3,5 M48x2 800 M-WHIBSMCF 2969 M-WH3IBSMKDSCF 2987
FHREBFENMITHRSRG:  M-WHOSLROMDCF AIRE P T sattl, M WHOOLMOMIXT
order code of items without nut and DS-Ring for example: ~ M-WHO6LROMDCF order code of items without nut and DS-Ring for example:  M-WHO6LMOMDCF
Page 057 Page 058




+EF$EL Pipe screw-joints +E3FEL Pipe screw-joints

MASIere

L3

13

FCKDS &3
4 NBRA ¥
Model with EDE seal

(inner seal made of vulanized NBR)
for narrow DIN 3852/d4 bore

' i | RIKDS
© ACDKA ZiEh A NBR#1#}
Type with tapper ring DKA../(SA) ModelwithEDE seal

match narrow”counterboe (innerseal made of vulanizedNBR)
to DIN 3852/d4 for narrow DIN3852/dy bore

AZDKA B2

Type with tapper ring DKA../(SA)
match narrow” counterbore
to DIN 3852/d4

SEREXNZ@ESL
High-pressure T swivelling screw fittings
order code: M-TH-M order code: M-TH-M-KDS

SEREXN=ZEEL
High-pressure T swivelling screw fittings
order code: M-TH-R  order code: M-TH-R-KDS

DKA Ztin KDS &4 M-DKAZ 3 M-EDE szt
ITHRS iTHERE ITERS iTERE
Design with =g Eesign with =5 Design with =& Eesign with g
% i apperri i apper rin
WEIME TS le‘ tgfdp:rriz,ﬁrég Efg,%t_fm Ordercozige ;%Jm @%QI\*’I‘% #51 Mnﬁi‘* Jg%z_?::ggg &,%J” Orzzercodg &?Jor
pipeOD PB S S S |, L L I d d, i h G Nm Type Steel  Type Steel pipeOD PB s s, s, L, L, L, L d d i h G Nm Type Steel ~ Type Steel
6 L 1417 17 2712 2410514149 8 2,5 G 1/8"A 20 M-THO6LRCF 80 M-THO6LRKDSCF 8,1 6 14 17 17 27 12 24 10514 149 8 25 M10x1 25 M-THOSLMCF 8,1 M-TH6-MLKDSCF 81
8 500 17 22 19 29 14530 14 18189 12 3,0 G 1/4’A 50 M-THOS8LRCF 14,1 M-THOSLRKDSCF 14,2 8 o 17 22 19 29 14530 14 17 169 12 3,0 M12x1,5 50 MTHO6LMCF 13,8 MTH8-MLKDSCF 14,0
10 19 22 19 3015530 14 1818912 3,0 G 1/4°A 50 M-THIOLRCF 150 M-TH1OLRKDSCF 15,2 10 19 22 19 30 15530 14 19189 12 3,0 M14x1,5 60 M-THO6LMCF 15,3 M-TH 10-MLKDSCF 154
12 22 27 24 3318 36 16522 21,912 3,0 G 3/8'A 75 M-THI2LRCF 24,1 M-TH12LRKDSCF 24,3 12 22 27 24 33 18 36 16,521 21,9 12 3,0 M16x1,5 90 M-THO6LMCF 23,7 M-TH 12-MLKDSCF 24,0
15 400 27 32 30 37 21,545 21,526 269 14 45 G 1/2°A130 M-TH15LRCF 40,9 M-THI5LRKDSCF 41,5 15 400 27 30 27 36 20,539,518,523 23,9 12 3,0 M18x1,5 110 M-THO6LMCF 34,3 M-TH 15-MLKDSCF 34,7
18 32 32 30 37 21 4521526269 14 45 G 1/2'A130 M-TH18LRCF 458 M-TH18LRKDSCF 46,4 18 32 32 30 37 21 45 21,527 26,9 14 45 M22x1,5 150 M-THO6LMCF 46,3 M-TH 18-MLKDSCF 46,8
22 36 41 36 4427553 24 3232916 3,5 G 3/4'A250 M-TH22LRCF 759 M-TH22LRKDSCF 77,0 22 36 41 36 44 27,553 24 31 31,9 16 3,5 M26x1,5 350 M-THO6LMCF 76,0 M-TH 22-MLKDSCF 77,2
28 o 41 50 46 4932 663053939918 35 G 1°A350 M-TH28LRCF 1254 M-TH28LRKDSCF 126,2 28 5o 41 50 46 49 32 66 30,539 39,9 18 3,5 M33x2 400 M-THOGLMCF 1229 M-TH28-MLKDSCF 1238
35 50 60 55 58 36 76 35549 49,9 20 3,5 G 11/4’A600 M-TH35LRCF  206,1 M-TH35LRKDSCF  207,4 35 50 60 55 58 36 76 35549 49,9 20 3,5 M42x2 600 M-THO6LMCF 206,0 M-TH35-MLKDSCF 207,4
42 60 70 60 63 40,5 87 40,5 55 55,9 22 3,5 G 11/2A800 M-TH42LRCF 2990 M-TH42LRKDSCF 30038 42 60 70 60 63 40,587 40,555 559 22 3,5 M48x2 800 M-THO6LMCF 303,0 M-TH42-MLKDSCF 304,8
6 17 22 19 3116530 14 18189 12 3,0 G 1/4’A 50 M-THO6SRCF 152 M-THO6SRKDSCF 15,3 6 17 22 19 31 16,530 14 17 169 12 3,0 M12x1,5 50 M-THO6LMCF 14,8 M-TH6-MLKDSCF 15,1
8 19 22 19 3116530 14 18189 12 3,0 G 1/4’A 50 M-THO8SRCF 16,4 M-THO8SRKDSCF 16,6 8 19 22 19 31 16530 14 19 189 12 3,0 M14x1,5 60 MTHO8SMCF 16,6 M-TH8-MLKDSCF 16,8
10 22 27 24 3518536 16522 21,9 12 3,0 G 3/8'A 75 M-THI0SRCF 26,4 M-TH10SRKDSCF 26,7 10 o 2227 2435 18536 16521 21,9 12 3,0 M16x1,5 90 MTH10SMCF 26,2 M-TH10-MLKDSCF 26,5
12 w0 24 27 24 3518536 1652221,9 12 30 G 3/8'A 75 M-THI2SRCF 27,8 M-THI2SRKDSCF 28,1 12 500 24 30 27 36 20 39,518,523 239 12 3,0 M18x1,5 110 M-TH12SMCF 33,1 M-TH12-MLKDSCF 335
14 27 32 30 40 22,545 21,526 269 14 45 G 1/2"A130 M-TH14SRCF  (37,5) M-TH14SRKDSCF  (38,0) 14 27 32 30 40 22,543,520 25 - 14 3,0 M20x1,5 130 M-TH14-MSCF (37,4)
16 30 32 30 40 22 45 21,526 269 14 45 G 1/2°A130 M-TH16SRCF 49,0 M-TH16SRKDSCF 49,6 16 30 32 30 40 22 45 21,527 26,9 14 4,5 M22x1,5 150 M-TH16-MSCF 48,7 M-TH 16-MLKDSCF 49,2
20 36 41 36 48 26,553 24 3232916 3,5 G 3/4’A250 M-TH20SRCF 84,2 M-TH20SRKDSCF 85,2 20 36 41 36 48 26553 24 32329 16 3,5 M27x2 350 M-TH20-MSCF 83,7 M-TH 20-MLKDSCF 84,8
25 46 50 46 56 31,566 30,539 399 18 3,5 G 1"A350 M-TH25SRCF 1550 M-TH25SRKDSCF  155,9 25 46 50 46 56 31,566 30,539 39,9 18 3,5 M33x2 400 M-TH25-MSCF 152,6 M-TH25-MLKDSCF 153,5
30 400 50 60 55 64 37 76 35549 49,9 20 3,5 G11/4"A600 M-TH30SRCF  230,0 M-TH30SRKDSCF 231,4 30 40 50 60 55 64 37 76 35549 49,9 20 3,5 M42x2 600 M-TH30-MSCF 229,9 M-TH 30-MLKDSCF 231,3
38 60 70 60 72 41,5 87 40,5 55 55,9 22 3,5 G11/2"A800 M-TH38SRCF 337,22 M-TH38SRKDSCF 339,0 38 60 70 60 72 41,587 40,555 559 22 3,5 M48x2 800 M-TH38-MSCF 341,2 M-TH38-MLKDSCF 3430
THEGFENTTRSRE:  M-THO06LR KDSOMDCF TEEgEENAITERSRE:  M-TH38-MSKDSOMDCF
order code of items without nut and DS-Ring for example: M-TH 06LR KDSOMDCF order code of items without nut and DS-Ring for example: M-TH 38-MSKDSOMDCF
Page 059 Page 060




RiIFENEL LA EHES Couplings VMASIerR MASI=re RENELRERES  Couplings

53
S F —
—~
¢ f =1
|_=
= i \ 5
/ A _/<__§<\<.\ ,‘,1: 77 A i
; S
~ 1 i
— l/\ R o
| |
N s = o
0-Ring X1) O&L[H
rRohr-ADr
HAEEEk
Adjustable male stud elbow M-EV45° A&tk
order code: M-EW order code: M-EV
EE OFE e D1 e
MESNE R F/100f% O-Ring = =8 order code
pipeOD PN L, L & 5 & kg for% pe. joint order code 1 @ o L2 3 14 s S eyt Teae onE
6 0 26 27 12 12 17 14 4,0 4,5x1,5 M-EW06LCF 06 4 160 90 260 24 14 14 37 M-EVO6LCF 4,5x1,5
8 500 27,5 29 14 14 17 7 5,5 6,5x1,5 M-EW08LCF 08 6 190 120 275 27 14 17 49 M-EVO8LCF 6,5x1,5
10 e 29 30 15 17 19 19 71 8x1,5 M-EW10LCF L 10 8 190 120 290 27 19 19 77 M-EV10LCF 8x1,5
12 29,5 32 17 19 22 22 9,6 10x1,5 M-EW12LCF (315) 12 10 21.0 140 295 29 19 22 86 M-EV12LCF 10x1,5
15 e 32,5 36 21 19 27 27 16,6 12x2 M-EW15LCF 15 12240 170 325 32 22 27 144 M-EV15LCF 12x2
18 355 40 23,5 24 32 32 23,6 15x2 M-EW18LCF | 18 15 240 165 355 33 27 32 210 M-EV18LCF 15x2
22 38,5 44 27,5 27 36 36 32,7 20x2 M-EW22LCF 22 19 260 185 385 35 30 36 270 M-EV22LCF 20x2
28 250 41,5 47 30,5 36 46 41 52,4 26x2 M-EW28LCF L 28 24 305 230 415 40 36 41 385 M-EV28LCF 26x2
35 (11001 51 56 345 41 50 50 68,8 32x2,5 M-EW35LCF (160) 35 30 370 265 510 48 50 50 805 M-EV35LCF 32x2,5
42 56 63 40 50 60 60 108,0 38x2,5 M-EW42LCF 42 36 370 260 560 49 50 60 887 M-EV42LCF 38x2,5
6 s 27 31 16 14 17 17 6,2 4,5x1,5 M-EW06SCF 06 4 160 90 270 24 14 17 50 M-EV06SCF 4,5x1,5
8 o) 27,5 32 17 17 19 19 7,4 6,5x1,5 M-EW08SCF S 08 5 190 120 275 27 19 19 80 M-EV08SCF 6,5x1,5
10 pacdl 30 34 17,5 19 22 22 11,3 8x1,5 M-EW10SCF (6300 10 7 210 135 300 30 19 2 95 M-EV10SCF 8x1,5
12 31 38 21,5 22 24 24 14,0 10x1,5 M-EW12SCF 12 8 240 165 31.0 33 2 24 137 M-EV125CF 10x2
14 o 35 40 22 9 27 2 19,3 11x2 M-EW14SCF 16 12 240 155 365 34 27 30 217 M-EV16SCF 12x2
16 36,5 43 245 24 30 30 25,8 12x2 M-EW165CF s 20 16 265 160 445 38 30 36 313 M-EV20SCF 16,3x2,4
20 445 48 26,5 27 36 36 40,3 16,3x2,4 M-EW20SCF (4000 25 20 305 185 50.0 43 36 46 529 M-EV25SCF 20,3x2,4
25 400 50 54 30 36 46 46 75,1 20,3x2,4 M-EW25SCF 30 25 370 235 550 50 50 50 940 M-EV30SCF 25,3x2,4
~ 30 [700] 55 62 355 41 50 50 96,4 25,3x2,4 M-EW30SCF S(400) 38 32 370 210 63.0 52 50 60 1055 M-EV38SCF 33,3x2,4
38 63 72 4 50 60 60 142,5 33,3x2,4 M-EW38SCF _
BB RENMITHRRSSE:  M-EW06LOMDCF AEEFRERNITHRSAG:  M-EVO6LOMDCF
order code of items without nut and DS-Ring for example: ~ M-EW06LOMDCF order code of items without nut and DS-Ring for example: ~ M-EV06LOMDCF
Page 061 Page 062




wiEEsL A&k Couplings MASIER MASIER gL REERSL  Couplings

5 53
i 1 ss
T e —_—
\ qll— I
%;5 R s = 3 L1 8]
_.N L/.(_{ = _/_//_,- 90‘.
- v <\\<\
0-Ring 0-Ring
_Rohr—AD | Roht-AD
—BAEEL BER=ZEAGESL
Adjustable equal tee Adjustable male stud tee-stud barrel
order code: M-ET order code: M-EL
L5 O#E = ) L5 OHE -
WESHE R T2/100% O-Ring —= mESME  R5 F7/100f+  O-Ring ==
pipe OD PN L, L [ S s, S, kg for% pc. joint ordercode pipe OD PN L, L [ S s, S, k kgfor%pc.  joint ordercode
6 ;s 26 27 12 12 17 14 5.8 4,5x1,5 M-ETO6LCF 6 i 26 27 12 12 17 14 53 5,8 4.5x1.5 M-ELO6LCF
8 500 27,5 29 14 14 17 17 7.9 6,5x1,5 M-ETO8LCF 8 500 275 29 14 14 17 17 56 7.9 6.5x1.5 M-ELO8LCF
10 2200 39 30 15 17 19 19 10,1 81,5  M-ETTOLCF 10 B T5g 3p 15 17 19 19 59 10,0 8x1.5  M-EL10LCF
12 295 32 17 19 22 22 13,5 10x1,5 M-ET12LCF 12 295 32 17 19 22 22 62 13,4 10x1.5 M-EL12LCF
15 mem 325 36 21 19 27 27 23,3 122 METI5LCF 15 oo 325 36 21 19 27 27 10 233 122 MELI5LCF
18 355 40 235 24 32 32 33,2 15x2 M-ET18LCF 18 355 40 235 24 32 32 76 33,2 15x2  M-EL18LCF
22 38,5 44 27,5 27 36 36 44,6 20x2 M-ET22LCF 22 385 44 275 27 36 36 83 44,3 20x2  M-EL22LCF
28 250 41,5 47 305 36 46 41 70,2 26x2 M-ET28LCF 28 %0 415 47 305 36 46 41 91 70,2 26x2  M-EL28LCF
35 HR. ™ 5 5 345 A1 S0 5D 96,1 32x2,5 M-ET35LCF 35 MM ""51 56 345 41 50 50 111 94,5 32x25  M-EL35LCF
42 56 63 40 50 60 60 146, 1 38x2,5 M-ET42LCF 42 56 63 40 50 60 60 123 146,3 38x2.5 M-EL42LCF
6 < 27 31 16 14 17 17 8,7 4,5x1,5 M-ETO6SCF 6 5 27 31 16 14 17 17 58 9,1 4.5x1.5 M-ELO6SCF
8 %0 27,5 32 17 17 19 19 11,8 6,5x1,5 M-ETO8SCF 8 o[BS 17 19 19 61 11,8 6.5x1.5 M-ELO8SCF
10 AL g 34 175 19 22 22 16,3 8x1,5 M-ET10SCF 10 30 34 175 19 22 22 66 16,4 8x1.5 M-EL10SCF
12 31 38 21,5 22 24 24 20,6 10x1,5 M-ET12S5CF 12 3N 38 215 22 24 24 71 20,7 10x1.5 M-EL12SCF
14 et 35 40 22 19 27 27 28,1 11x2 M-ET145CF 14 oy 35 40 D 19 27 27 76 28,1 11x2  M-EL14SCF
16 36,5 43 245 24 30 30 37,3 12x2 M-ET16SCF 16 36,5 43 245 24 30 30 80 38,2 12x2  M-EL16SCF
20 445 48 265 27 36 36 56,8 16,3x2,4 M-ET20SCF 20 445 48 265 27 36 36 93 58,3 16.3x2.4  M-EL20SCF
25 400 50 54 30 36 46 46 107,9 20,3x2,4 M-ET25SCF 25 400 50 54 30 36 46 46 105 107,8 203x24  M-EL25SCF
30 [1700] 55 62 355 41 50 50 136,3 25,3x2,4 M-ET30SCF 30 [1700] 55 62 355 41 50 50 119 138,0 25.3x2.4 M-EL30SCF
38 63 72 41 50 60 60 203,6 33,3x2,4 M-ET38SCF 38 63 72 4 50 60 60 139 205,1 33.3x24  M-EL38SCF
TR ENKITHASRE:  M-ETOSLOMDCF FHEERENNITHRSTE:  M-ELOGLOMDCF
ordercodeof ltemswithout nutand DS-Ring for example: ~ M-ETO6LOMDCF order code of items without nut and DS-Ring for example: ~ M-ELO6LOMDCF
Page 063 Page 064




RiERE AR AEEL Couplings MAST=r MASIER BIENELRAEES  Couplings

-
= o _;‘ w
im BB A Sk
Stud standpipe adaptor B A AL
order code: M-EGE-R-ED Stud standpipe adaptor
order code: M-EGE-M-ED
wEsNE  F5l R e
pipe OD PN L i d, G D, d, S S, kgfer%pc joint ordercode =5 ORI e
6 245 8 14 G 1/8°A 6 M12x15 14 17 2,4 45x15  MEGEOGLREDCF mashe Rl F5/100#  O-Ring =
i : ; : : e [ PN L i d G D d S S, kgfor%pc. joint order code
8 50 295 12 19 G /4A 8 MI14x15 19 17 4,4 65x1,5 M-EGEOBLREDCF pipe 0D 7 1 1 s i s Jon
10 P 375 12 19 G 1/4"A 10 M16x1,5 19 19 4,7 8x15 M-EGE10LREDCF = SR RGERAIE SRR A 2,3 4;55d,3 M-EGEOGLMEDEF
12 27,5 12 19 G 1/4"A 12 M18x1,5 19 22 6,8 10x1,5  M-EGE12LR1/4EDCF i e, SeetaieEis Al WAL 1 L G2l SR NEGEORUREDCE
12 40 34 12 22 G 3/8"A 12 M18x1,5 22 22 6,9 10x1,5  M-EGE12LREDCF L 220 12 12 MMels l0 MISxs 19 19 4.8 215 _M-EGEIOIMEDCE
15 D70 "33 14 27 G 1/2°A 15 M22x1,5 27 27 12,1 12x2 M-EGE15LREDCF 12 i 305 12 22 M16x1,5 12 M18x1,5 22 22 6,7 10x1,5 M-EGE12LMEDCF
18 31,5 14 27 G 1/2"A 18 M26x1,5 27 32 134 15x2  M-EGE18LREDCF 15 fjgps 1S 12 24 Midxls 15 M2kxl5 24 27 10.1 12x2.  MEEGEIALMEDCE
2 325 16 32 G 3/4"A 22 M30x2 32 36 196 20x2  M-EGE22LREDCF 18 31,5 14 27 M22x15 18 M26x15 27 32 13,8 15x2  M-EGE18LMEDCF
28 a0 35 18 40 G 1°A 28 M36x2 41 46 360 e ITLNICT 22 325 16 32 M26x15 22 M30x2 32 36 19,9 20«2 M-EGE22LMEDCF
~ 35 M0 425 20 50 G11/4”A 35 M45x2 50 50 455 32x2,5  M-EGE35LREDCF B o  [A2ERS RN RS0 (2 AT S 308 2062 S M EGEREMEDCE
 a 46,5 22 55 G11/2"A 42 M52x2 55 60 662 38x2,5  M-EGE42LREDCF 5 L A)s 20 50 Mank2 35 Masdl 56 50450 JEE 5 MEEGEIBIMEDCE
6 s 27 12 19 G 1/4"A 6 M14X1,5 19 17 4,5 4’5)(1'5 M-EGE06SREDCF 42 46,5 22 55 M48x2 42 M52x2 55 60 70,8 38)(2,5 M-EGE42LMEDCF
8 80 295 12 19 G /A 8 M16x1,5 19 19 5,0 6,5x1,5  M-EGEO8SREDCF 5 o 2 1 I MiBxa & Mibxis 17 1 20 5xls M ECEUGSMERCE
12 34 12 22 G 3/8"A 12 M20x1,5 22 24 8,2 10x1,5  M-EGE12SREDCF 10 BT 32 12 22 MI6a5 10 MI18x15 22 22 £ Bela  KEECEIUSMEDLE
12 e 345 14 27 G 1/2°A 12 M20x15 27 24 153 10x1,5  M-EGE12SR1/2EDCF o N b i R e &9 051, SRR MEEGLTE ST EDOF
T4 00 365 14 27 G 1/2°A 14 M22x15 27 27 126 g WLCEIASRENCE 14 5o 365 14 26 M20x1,5 14 M22x15 27 27 12,1 11x2  M-EGE14SMEDCF
16 37 14 27 G 1/2°A 16 M24x1,5 27 30 14,6 12x2 M-EGE16SREDCF T 16 37 14 27 M22x1,5 16 M24x1,5 27 30 14,8 12x2 M-EGE16SMEDCF
20 43 16 32 G 3_/-41;]—A 20 M30x2 32 36 2_2_'1 16,3x2,4 M-EGE20SREDCF 20 43 16 32 M27x2 20 M30x2 32 36 22,3 16,3x2,4 M-EGE20SMEDCF
25 4 48 18 40 G 1"A 25 M36x2 41 46 402  203x24  M-EGE25SREDCF BN s CERITE DR e SR e R E A G SRR U O R MO
30 070 51 20 50 G11/4°A 30 M42x2 50 50 582  253x24  M-EGE30SREDCF 30 (W% 51 20 50 M42x2 30 M42x2 50 50 583  253x24 M-EGE3OSMEDCF
38 60 22 55 G11/2°A 38 M52x2 55 60 786  33,3x2,4  MEGE3BSREDCF i L e ) GO e o A EGE MDY
Page 065 Page 066




RiIFENEL LA EHES Couplings VMASIere MASl=re RENELRERES  Couplings

S 51 L1
S1
—
o 1
| | ) b \
“- - L % M
L | Ql | _ _ 19 0
w - — Q| KE
[ ]
| o SO i
/ > ¢
7B S VA
i 0-Ring X1) L2 X1)
X1)OZ
im BiBA Sk
Stud standpipe adaptor
GZEBEAHES
order code: M-EGE-NPT BAEREK
order code: M-GZ
B8
REME BT FHNAOME o we D1 THEES (ban)
ipeOD PN L i G D d S S, kgfor% S b
pipe 1 1 1 g for %o pc. joint order code E=3]| @ T D3 L1 L2 S i/ TEe CF 71
6 20,5 10,0 1/8" NPT 6 M12X1,5 1 17 2,3 4,5)(1,5 M-EGE6L1/8NPTCF L 06 M12X1,5 2’5 32 33 14 28 M-GZ06LCF 500 315
8 L 22,5 15,0 1/4" NPT 8 M14x1,5 14 17 4,1 6,5x1,5 M-EGE8L1/4NPTCF 08 M14x1,5 4,0 32 39 17 41 M-GZO08LCE 500 315
10 315 23,0 15,0 1/4" NPT 10 M16x1,5 14 19 4.4 8x1,5 M-EGE10L1/4NPTCF 10 M16x1,5 6,0 33 14 19 53 M-GZ10LCF 500 315
12 [1260] 24,7 153 3/8" NPT 12 M18x15 19 2 6,9 10x1,5  M-EGE12L3/8NPTCF 12 MiBx15 80 33 32 2 7 M.GZ12LCE 400 315
15 29,5 20,0 1/2 NPT 15 M22x1,5 22 27 12,7 12x2  M-EGE15L1/2NPTCF 15 M22x1,5 10,0 38 39 27 129 M-GZ15LCE 400 315
B 29,0 200 1/2" NPT 18 M 26x1,5 24 32 14,2 15x2  M-EGET8L1/2NPTCF 18 M26x15 13,0 36 38 32 165 M-GZ18LCF 400 315
22 L 320 200 3/4° NPT 22 M30x2 27 36 20,0 20x2  M-EGE22L3/4NPTCF ' 2 M30x2 17,0 2 44 36 243 M-GZ22LCF 250 160
28 160 36,0 25,0 1" NPT 28 M36x2 36 46 30,6 26x2  M-EGE28L1NPTCF 28 M36x2 22,0 46 48 41 319 M-GZ28LCF 250 160
35_ [640] 40,0 25,5 11/4” NPT 35 M45x2 46 50 48,6 32x2,5 M~EGE3§|___'| 1/4NPTCF 15 M45x2 28,0 48 52 50 449 M-GZ35LCF 250 160
42 42,5 26,0 11/2" NPT 42 M52x2 50 60 66,2 38x2,5 M-EGE42L1 1/2NPTCF 42 M52x2 34,0 52 ) 60 737 M-GZ42LCE 250 160
6 22,5 15,0 1/4" NPT 6 M14x1,5 14 17 4,2 4,5x1,5 M-EGE651/4NPTCF S 06 M14x1,5 2,5 32 13 17 41 M-GZ06SCF 800 630
8 23,0 15,0 1/4" NPT 8 M16x1,5 14 19 4,7 6,5x1,5 M-EGE8S1/4NPTCF 08 M16x1,5 4,0 33 34 19 54 M-GZ08SCF 800 630
10 630 25,2 153 3/8" NPT 10 M18x1,5 19 22 7,5 8x1,5 M-EGE10S3/8NPTCF 10 M18x1,5 6,0 33 15 22 74 M-GZ10SCE 800 630
12 [2520] 26,7 15,3 3/8" NPT 12 M20x1,5 19 24 8,1 10x1,5 M-EGE12S53/8NPTCF 12 M20x1,5 8,0 36 18 24 g5 M-GZ12SCE 630 630
14 30,5 20,0 1/2" NPT 14 M22x1,5 22 27 13,1 11x2  M-EGE1451/2NPTCF 14 M22x1,5 9,0 39 41 27 131 M-GZ14SCE 630 400
O 31,0 200 1/2° NPT 16 M24x1,5 22 30 145 1232 M-EGE16S1/2NPTCE , 16 M24x5 11,0 39 42 30 172 M-GZ16SCF 630 400
20 S 34,0 20,0 3/4" NPT 20 M30x2 27 36 22,1 16,3x2,4 M-EGE20S3/4NPTCF 20 M30x2 14,0 a4 18 36 261 M-GZ205CF 420 400
25 400 385 25,0 1 NPT 25 M36x2 36 46 42,2 20,3x2,4  M-EGE25STNPTCF 25 M36x2 18,0 46 53 46 477 M-GZ25SCF 420 400
30 [1600] 45,0 25,5 11/4” NPT 30 M42x2 46 50 62,8 25,3x2,4  M-EGE30S1 1/4NPTCF T M42x2 23,0 52 62 50 605 M-GZ30SCF 420 400
38 47,5 26,0 11/2" NPT 38 M52x2 50 60 77,0 33,3x2.4  M-EGE38S1 1/2NPTCF 38 M52x2 30,0 52 67 60 826 M-GZ38SCE 420 315
Page 067 Page 068




Rk R &Sk Couplings

e
GZR BB T EHE K

order code: M-GZR Ll
D1 D2 - Ift’fli;h

#5 @ @ T T2 D3 L1 L2 S1 52 = T (c?r)

L/S 06 06 M14x1.5 MI12x1.5 25 32 330 17 14 34  M-GZRO6L/06SCF 500

L 08 06 M14x1.5 MI12x1.5 25 32 330 17 14 36 M-GZR08/06LCF 500

L/S 08 08 M16x1.5 M14x1.5 4.0 33 340 19 17 48  M-GZRO8L/08SCF 500

L 10 06 M16x1.5 MI12x1.5 25 33 340 19 14 44  M-GZR10/06LCF 500

L 10 08 M16x1.5 M14x1.5 4.0 33 340 19 17 50  M-GZR10/08LCF 500

L/S 10 10 M18x1.5 M16x1.5 6.0 33 345 22 19 63  M-GZR10L/10SCF 500

L 12 06 M18x1.5 MI12x1.5 25 33 340 22 14 56  M-GZR12/06LCF 400

L 12 08 M18x1.5 M14x1.5 4.0 33 340 22 17 62  M-GZR12/08LCF 400

L 12 10 M18x1.5 M16x1.5 6.0 33 340 22 19 65  M-GZR12/10LCF 400

L/S 12 12 M20x1.5 M18x1.5 8.0 36 375 24 22 85  M-GZR12L/125CF 400

L 15 08 M22x1.5 M14x1.5 4.0 38 390 27 17 98  M-GZR15/08LCF 400

L 15 10 M22x1.5 M16x1.5 6.0 38 390 27 19 101  M-GZR15/10LCF 400

L 15 12 M22x1.5 M18x1.5 8.0 38 390 27 22 108 M-GZR15/12LCF 400

L 18 10 M26x1.5 M16x1.5 6.0 36 375 32 19 125 M-GZR18/10LCF 400

L 18 12 M26x1.5 M18x1.5 8.0 36 375 32 22 132 M-GZR18/12LCF 400

L 18 15 M26x1.5 M22x1.5 10.0 38 395 32 27 155  M-GZR18/15LCF 400

L/S 18 16 M26x1.5  M24x1.5 11.0 39 415 32 30 177 M-GZR18L/165CF 400

L 22 12 M30x2 M18x1.5 8.0 42 435 36 22 195 M-GZR22/12LCF 250

L 2215 M30x2 M22x1.5 10.0 42 435 36 27 215  M-GZR22/15LCF 250

L 22 18 M30x2 M26x1.5 13.0 42 440 36 32 228 M-GZR22/18LCF 250

Ls 22 20 M30x2 M30x2 14.0 44 470 36 36 266 M-GZR22L/20SCF 250

L 28 15 M36x2 M22x1.5 10.0 46 475 41 27 143 M-GZR28/15LCF 250

L 28 18 M36x2 M26x1.5 13.0 46 480 41 32 311 M-GZR28/18LCF 250

L 28 22 M36x2 M30x2 17.0 46 460 41 36 309 M-GZR28/22LCF 250

L/S 28 25 M36x2 M36x2 18.0 46 50.5 41 46 419 M-GZR28L/25S5CF 250

L 35 18 M45x2 M26x1.5 13.0 48 51.0 50 32 430 M-GZR35/18LCF 250

L 35 22 M45x2 M30x2 17.0 48 510 50 36 429 M-GZR35/22LCF 250

L 35 28 M45x2 M36x2 220 48 510 50 41 415 M-GZR35/28LCF 250
L/S 35 30 M45x2 M42x2  23.0 52 50.0 50 50 577 M-GZR35L/30SCF 250

L 42 22 M52x2 M30x2 17.0 52 555 60 36 653 M-GZR42/22LCF 250

4 28 M52x2 M36x2  22.0 52 555 60 4 648 M-GZR42/28LCF 250

L 42 35 M52x2 M45x2  28.0 52 56.5 60 50 662 M-GZR42/35LCF 250

L/S 42 38 M52x2 M52x2 300 52 620 60 60 822 M-GZR42L/38SCF 250

S 08 06 M16x1.5 MI14x1.5 25 33 340 19 17 49  M-GZR08/06SCF 800

S 10 06 M18x1.5 M14x1.5 25 33 345 22 17 60  M-GZR10/065CF 800

S 10 08 M18x1.5 M16x1.5 4.0 33 345 22 19 66  M-GZR10/08SCF 800
s 12 06 M20x1.5 M14x15 2.5 36 375 24 17 77  M-GZR12/065CF 630

S 12 08 M20x1.5 Mi16x1.5 4.0 36 375 24 19 82  M-GZR12/08SCF 630

S 12 10 M20x1.5 M18x1.5 6.0 36 380 24 22 80  M-GZR12/10SCF 630

S 16 10 M24x1.5 MI18x1.5 6.0 39 415 30 22 138  M-GZR16/10SCF 630

S 16 12 M24x1.5 M20x1.5 8.0 39 415 30 24 143 M-GZR16/12SCF 630
S 16 15 M24x1.5 M22x1.5 10.0 39 410 30 27 153 M-GZR165/15LCF 400

S 20 12 M30x2 M20x1.5 8.0 44 470 36 24 204  M-GZR20/12SCF 420

Page 069

EHFTBAEES
Gauge Couplings

order code: M-MAV

=3k

Couplings

WESNE Rl ﬁfﬁéoo# BS
pipeOD PN S, S L, l G d, £ h, kg ford% pc. ordercode
6 14 19 37 75 G 1/4 25 145 45 4,6 M-MAVO6LRCF
8 Lo 17 19 37 75 G A 55 145 4,5 53 M-MAVO8LRCF
10 nzoo; 19 19 38 85 G 1/4 55 145 4,5 6,2 M-MAV10LRCF
— apl 22 19 38 85 G 1/4° 55 145 45 7,0 M-MAV12LRCF
6 17 27 46 11 G 1/2 35 20 5 10,5 M-MAVO6SRCF
- B oo 19 27 46 M G 1/2° 35 20 5 10,7 M-MAVO8SRCF
10 2700 22 27 47 105 G 1/2° 7 20 5 12,5 M-MAV10SRCF
12 24 27 47 105 G 1/2° 7 20 5 13,4 M-MAV12SRCF

AHEREFENITER SR
order code of items without nut and DS-Ring for example:

M-MAV0O6LROMDCF

M-MAVO6LROMDCF

Page 070




sk Couplings MAST=R MASTER g3 Couplings

45

di

N .. ,./;,///
o = ’ t7
e e S I
T T LS
; = e HiB B sz
d Female stud couplings
S wy
- order code: M-GAI-R
51 B.S.P. parallel
0-Ring
e O BAT
% M & @n gEn 4 L s 3 & &5 IR EORR
20D (bar) (bar)
06  Gh 315 500 4 39 240 170 19 14 51 M-GAIO6LRCF
06 Gy 315 500 4 34 190 120 14 14 39 M-GAIO6LR1/4CF
08 Gk 315 500 6 39 240 170 19 17 56 M-GAIO8LRCF
08 Gk 315 500 6 40 250 170 24 17 78 M-GAI08LRA3/8CF
08  Gh 315 500 6 44 290 200 27 17 97 M-GAIO8LRA1/2CF
10 G4 315 500 8 40 250 170 19 19 61 M-GAIT0LRCF
10 Gx 315 500 8 41 260 170 24 19 &5 M-GAI10LR3/8CF
10 G 315 500 8 45 300 200 27 19 102 M-GAIT0LR1/2CF
. N L 12 G 315 400 10 41 260 170 24 22 92 M-GAI12LRCF
WiERE HFREL 12 G 315 400 10 45 300 200 27 22 112 M-GAI12LR1/2CF

: ; 15 G: 315 400 12 46 310 200 27 27 134  M-GAISLRCF
Gauge Couplings with taper 18 G 315 400 15 47 305 200 27 32 157  M-GAISLRCF
order codo: MENAVE 18 Gs 315 400 15 43 265 170 27 32 158  M-GAI18LR3/8CF
2 G« 160 250 19 52 355 220 36 36 262  M-GAI22LRCF
28 Gl 160 250 24 55 380 245 41 41 309 M-GAI28LRCF
35 GIw 160 250 30 63 410 265 55 50 651  M-GAI35LRCF
42 Gln 160 250 36 65 425 285 60 60 779 M-GAM2LRCF

. o 06 G4 400 630 4 41 260 170 19 17 61 M-GAIO6SRCF
WENE 23 O-Ring 2100 ne 08 Gl 400 630 5 41 260 170 19 19 69 M-GAIO8SRCF
pipeOD PN L, d t, S S h % jointtorique kg for%pc.  ordercode 10 Gk 400 630 7 43 265 170 24 22 102 M-GAI10SRCF
6 38 2,5 145 19 17 4,5 G1/4” 45%1,5 4.6 M-MAVEO6LRCF 12 Gk 400 630 8 43 26.5 17.0 24 24 109 M-GAI12SRCF
. . : ' 12 G 400 630 8 47 305 200 30 24 161 M-GAI12SR1/2CF
13 400 ig - :g 11; 1 g 1; :: 2 1 ;}; 6'-85---"-1 g 563 m m&?gtgg - S 14 Gh 400 630 10 50 320 200 30 27 182 M-GAI4SRCF
(1700 o i i i = . : 16 Gh 400 630 12 50 315 200 30 30 197 M-GAI16SRCF
12 405 55 145 19 22 45 g1 10x1,5 7.0 M-MAVE12LRCF 20 Gx 315 400 16 56 345 220 36 36 300 M-GAI20SRCF
6 45 25 20 27 17 5 G1/2 4,5x1,5 10,5 M-MAVEO6SRCF 25 G 315 400 20 62 375 245 41 46 461 M-GAI25SRCF
8 o 45 40 20 7 19 5 G172  65x1,5 10,7 M-MAVEOBSRCF 30 Gl 315 400 25 69 420 265 55 50 740 M-GAI30SRCF
10 rog 47 60 20 27 22 5 G172 81,5 125 M-MAVE10SRCF 38 GB: 250 315 32 74 435 285 60 60 974 M-GAI385RCF
12 475 70 20 27 24 5 G1/2" 10x1,5 13,4 M-MAVE12SRCF b
X AR B RERNITENRSRE:  M-GAIOGLRCFX
order code of items without nut and DS-Ring for example: ~ M-GAIO6LRCFX
Page 071 Page 072




j#L  Couplings MASTER
S 51
) A
-c 1
- o
t2
I5
Ls
HilNEaiEsk
Female stud couplings
order code: M-GAI-M
metric, parallel
FWEHE F7) =
pipeOD PB d, £ 1, t, 3 5 M kg for% pc. ordercode
6 4 34 195 125 14 14 M 10x1 2,9 M-GAIO6LMCF
8 6 39 24 17 17 17 M 12x1,5 4,7 M-GAIO8LMCF
10 3%5 8 40 25 17 19 19 M 14x1,5 5,0 M-GAI10LMCF
2 gy 10 41 26 17 2 2 MIeds 7.9 MGAN2LMCF
15 12 43 28 17 24 27 M 18x1,5 11,2 M-GAI15LMCF
18 15 46 295 19 30 32 M 22x1,5 17,4 M-GAI18LMCF
22 19 51 345 21 32 36 M 26x1,5 20,9 M-GAI22LMCF
28 0 24 54 375 24 41 4 M 33x2 31,2 M-GAI28LMCF
35 MW 30 62 405 26 55 50 M4ax2 57,0 M-GAI3SLMCF
42 36 65 42 28 60 60 M 48x2 76,0 M-GAI42LMCF
6 C I L VA A VA PO 53 MGAIOGSMCF
8 5 41 26 17 19 19 M 14x1,5 6,4 M-GAIO8SMCF
10 630 7 43 25 17 22 22 M 16x1,5 9,0 M-GAI10SMCF
12 ns7 8 44 275 17 22 24 M 18x1,5 10,6 M-GAI12SMCF
14 10 49 31 19 27 27 M 20x1,5 14,9 M-GAI14SMCF
16 1249 305 19 27 30 M5 183 M-GAIIGSMCF
20 16 56 345 22 36 36 M 27x2 29,9 M-GAI20SMCF
25 iw IDEe 37 24 41 46 M33x2 45,5 M-GAI25SMCF
30 (ooo] 25 68 415 26 55 50 M42x2 73,0 M-GAI30SMCF
38 32 74 43 28 60 60 M 48x2 03,8 M-GAI38SMCF

THEEERENPITER SR E:  M-GAIO6LMCFX
order code of items without nut and DS-Ring for example:

Page 073

M-GAIO6LMCFX

MASIER % Couplings
L
i
S
= | - THERS (260
ZE——MRI 3/8-1/8
ELG,
MG,
Ordering example
Reducer - M-RI 3/8-1/8
Y Male thread G, !
Femalethread G,
LIENIELIE L
Reducing adaptor
order code: M-RI
SMELT AELL F2=/1004 cee
Male thread ~ Female thread kg for% pc. ordercode
G, G PB | i s d, G G,
G 3/8" A G 1/8" 630 22,5 12 22 22 8 4,0 M-RI3/8*1/8CFX
G 1/2"A G 1/4" 400 24 14 27 26 12 6,0 M-RI1/2*1/4CFX
G 1/2" A G 1/8" 400 24 14 27 26 8 6,0 M-RI1/2*1/8CFX
G 3/4" A G 1/4" 400 26 16 32 32 12 9,5 M-RI3/4*1/4CFX
G 3/4"A G 3/8" 400 26 16 32 32 12 9,0 M-RI13/4*3/8CFX
G 1" A G 1/4" 400 29 18 41 39 12 20,0 M-RI1*1/4CFX
G 1"A G 3/8" 400 29 18 41 39 12 18,0 M-RIT*3/8CFX
G 1"A G 1/2" 400 29 18 41 39 14 16,0 M-RI1*1/2CFX
G11/4" A G 1/2" 250 32 20 50 49 14 31,0 M-RI1 1/4*1/2CFX
G11/4" A G 3/4" 250 32 20 50 49 16 27,0 M-RI1 1/4*3/4CFX
. GU2’A G 12" 250 36 22 55 55 14 47,0 M-RIT1/2*1/2CFX
G11/2" A G3/4" 250 36 22 55 55 16 43,0 M-RI1 1/2*3/4CFX
G11/2"A G 1 250 36 22 55 55 18 34,5 M-RIT 1/2*1CFX

Page 074




fE3L Couplings VMASIerR MASIeR F#3L  Couplings

(28] —
il I B~ R . P
T~ | ggitjn_;,éwj) 1/8-3/8 | ‘ ‘ ﬂ>—/l USRS (6D
// // / ; SAG, - L 3 = N ﬁggg\;m 3/8-ED-1/8
RS | | “ ED M st
tq Reducer - M-RI 1/8-3/8 i (. ,,i///‘ gfjﬁé -
Male thread G, Reducer - M-RI 2/8-ED-1/8
Femalethread G, ?E?Lea”;ir\?:igl
Female thread G,
t1
TIZMIR Lk
Reducing adaptor
order code: M-RI
s PEES FEI00f =
Male thread ~ Female thread kg for% pc. ordercode
G1 G2 PB ! i 5 d ds g G1'G2 E?émﬁ%ﬂ*i%‘EDﬂgﬁl&&;%‘
G 1/8" A G 1/4° 630 31 8 19 4 14 17 3,6 M-RI1/8*1/4CFX Reducing adaptor with captive seal
G 1/8" A G 3/8° 630 32 8 24 4 14 17 4,5 M-RI1/8*3/8CFX
G 1/4" A G 1/8" 630 28 12 19 5 18 12 3,6 M-RI1/4*1/8CFX ' order code: M-RI-ED
G 1/4" A G 3/8° 630 36 12 24 5 18 17 6,6 M-RI1/4*3/8CFX
G 1/4" A G 1/2° 630 40 12 30 5 18 20 8,5 M-RI1/4*1/2CFX
G 1/4" A G 3/4” 400 43 12 36 5 18 22 17,3 M-RI1/4*3/4CFX
G 3/8" A G 1/4” 630 36 12 22 8 22 17 3,0 M-RI3/8*1/4CFX o —
G 3/8" A G 1/2° 630 41 12 30 8 22 20 9,0 M-RI3/81/2CFX _ sMES Lo /1004 i
G 3/8" A G 3/4" 400 44 12 36 8 22 22 17,5 M-RI3/8*3/4CFX Male thread ~ Female thread  PB ! i s 4 L kgfor%pc
G A G 3/8° 400 36 14 27 12 26 17 9,5 M-RI1/2*3/8CFX
G 1/2"A G 3/4” 400 46 14 36 12 26 22 18,0 M-RI1/2*3/4CFX G 38 A bR 8 28 12 22 Ab 12 3,9 M-HIS/BED*1/BCF
G 1/2"A G 0 400 49 14 41 12 26 24,5 275 M-RI1/2*1CEX G 12" A G 1/8" 630 24 14 27 27 1 6,6 M-RI1/2ED*1/8CF
G 12°A G4 250 53 14 55 10 26 265 470 M-RI1/2°11/4CFX G 12 A G4 630 24 14 27 27 1 56 N-RI1/2ED*1/4CF
G 3/4"A G 1/2° 400 41 16 32 16 32 20 15,0 M-RI3/4%1/2CFX G 34" A G1/4” 400 26 16 32 32 12 103 M-RI3/4ED*1/4CF
G 3/4" A G 1” 400 51 16 41 16 32 245 23,5 M-RI3/4*1CFX G 3/4" A AR & aE is 3 8 i £ MCRE LR GeE
G 3/4" A G11/4 250 55 16 55 16 32 265 48,3 M-RI3/4*11/4CFX G 1" A G 1/4" 400 29 18 41 40 12 = MR
G 3/4"A G11/2 250 57 16 60 16 32 285 54,5 M-RI3/4*11/2CFX & 1 & Gajee 40 28 & A4l A0 12 179 MERITED*3/BCF
G 1A G34' 40 47 18 41 0 39 20 280 MRIN3/ACEK G 1WA G127 400 29 18 41 40 14 157 M-RITED*1/2CF
G 1A G11/4 250 57 18 55 20 39 265 51,0 M-RIT*11/4CFX ' G 1/4 A Guz 440 &1 2t &b o0 13 0.8 NERILTAEDA GO
GTA G11/2” 250 59 18 60 20 39 285 56,5 M-RIT*11/2CFX ' G 11/4 A G3/4" 400 32 20 50 50 16 26,6 M-RI1 1/4ED*3/4CF
G 11/4"A G 1 250 52 20 50 25 49 245 45,5 M-RI1 1/4*1CFX ' _ G11/2" A G 12" 315 36 22 55 55 o 47,0 M-RIT 1/2ED*1/2CF
G 11/4" A G112 250 60 20 60 25 49 285 58,0 M-RIT 1/4%11/2CFX G11/2" A G34 315 36 22 55 55 16 40,2 M-RI1 1/2ED*3/4CF
G11/2°A G11/4 250 58 22 55 32 55 265 53,0 MRIT1/211/4CFX G 11/2" A G 1" 315 36 22 55 55 18 33,7 MBI T2EDRICE
Page 075 Page 074




Couplings MASIER MASIER J#k  Couplings

) 5 51
' s
mil | =8 | &
M -~ i . ~ v/ LLL
il ) e | RS I _i‘_| S TSRS (20D ! NN = >\ §§<
CLA %//)\ 2 Z——M-RI 1/8-ED-3/8 / \ AN
= : SMBLLG B
/l/_/l ED ﬁﬁ%ﬂ.«é&_%ﬁ ) ‘ |
WELG, : 0-Ring i
tq Ordering example J L
- Reducer — M-RI 1/8-ED-3/8
Male thread G ——————
L ED captive seal ‘
Female thread G,
23 NI LUHE Sk-EDB B B XHER TR
Reducing adaptor with captive seal Reducing connections with taper
order code: M-RI-ED e e RED
MBS g EE o
Male thread Female thread Fz= /1008 =
kg for% pc. ordercode mENE R OmE EE e
G, G, PB L i S d, d, G-G, pipeOD PN . O-ring F52/100f ordercode
G 1/8" A G 174" 630 31 8 19 4 14 17 3,9  M-RI1/8ED*1/4CF D, D, L | S S, S, d, jIRtong e SRS
G 1/8" A G 3/8” 630 32 8 24 4 14 17 6,3  M-RI1/8ED*3/8CF 8 6 375 23 12 14 17  MI14x15 6,5x1,5 3,9 M-REDO8/06LCF
G 1/4" A G 1/8" 630 29 12 19 4 19 12 3,8  M-RIT/4ED*1/8CF 10 6 500 39 245 14 14 19  M16x15 8x1,5 4,9 M-RED10/06LCF
G 1/4" A G 3/8" 630 36 12 24 4 19 17 6,7  MRIT/4ED*3/8CF 10 8 [XT 395 245 14 17 19 MI16x15 8x1,5 5,3 M-RED10/08LCF
G 1/4" A G 12" 630 40 12 30 4 19 20 11,6  M-RI1/4ED*1/2CF 12 6 395 25 17 14 22 MI18xl5 10x1,5 6,3 M-RED12/06LCF
G 1/4" A G 3/4” 630 44 12 36 4 19 22 17,0 M-RI1/4ED*3/4CF 12 8 40 25 17 17 22 MI18x15 10x1,5 6,8 M-RED12/08LCF
G 3/8" A G /47 630 36 12 22 8 22 17 6,8  M-RI3/8ED*1/4CF 12 10 41 26 17 19 22 M 18x1,5 10x1,5 7,0 M-RED12/10LCF
G 3/8" A o Tk 630 41 12 30 8 21,9 20 14,3 M-RI3/8ED*1/2CF 15 6 41 265 22 14 27 M22x15 12x2 5,5 M-RED15/06LCF
G 3/8" A G 3/4" 400 4 12 36 8 22 22 18,3 M-RI3/8ED*3/4CF 15 8 41,5 265 22 17 27 M 22x1,5 12x2 9,8 M-RED15/08LCF
G 1/2" A G 3/8" 630 37 14 27 10 27 17 9,1 M-RI1/2ED*3/8CF 15 10 400 425 275 22 19 27  M22x15 12x2 10,7 M-RED15/10LCF
G 1/2" A G 3/4" 400 46 14 36 10 27 22 18,2 M-RI1/2ED*3/4CF 15021 11700 ErEaT S22 22 0 T M 22x1,5 12x2 11,0 M-RED15/12LCF
VPR & 400 49 14 41 10 27 245 22,1 M-RI1/2ED*1CF 18 6 43 285 24 14 32 M 26x1,5 15X2 11,9 M-RED18/06LCF
G 1/2°A G11/4° 400 53 14 55 10 27 26,5 48,2  M-RIN/2ED*11/4CF 18 8 435 285 24 17 32  M26x15 15X2 12,4 M-RED18/08LCF
G 3/4" A G 1/2" 400 43 16 32 16 32 20 14,3 M-RI3/4ED*1/2CF 18 10 445 295 24 19 32  M26x1,5 15X2 12,8 M-RED18/10LCF
G 3/4" A G 1” 400 51 16 41 16 32 245 23,5  M-RI3/4ED*1CF 18 12 44 295 24 22 32  M26x15 15X2 17,2 M-RED18/12LCF
G 3/4"A G11/4° 400 55 16 55 16 32 26,5 48,1 M-RI3/4ED*11/4CF 18 15 46 305 24 27 32  M26x15 15X2 19,0 M-RED18/15LCF
G 3/4"A G11/2 315 57 16 60 16 32 285 56,0 M-RI3/4ED*11/2CF 22 6 455 31 27 14 36  M30x2 20X2 16,9 M-RED22/06LCF
G A G 3/4” 400 49 18 41 20 40 22 26,8  M-RITED*3/4CF 2 8 46 31 27 17 36  M30x2 20X2 17,6 M-RED22/08LCF
G 1'A G11/4" 400 57 18 55 20 40 265 50,3 M-RITED*11/4CF B . 47 32 27 19 36 M 30x2 20%2 17,8 M-RED22/10LCF
G TR G11/2° 315 59 18 60 20 40 285 58,5 M-RITED*11/2CF 22 12 D00 465 32 27 22 36 M30x2 20X2 18,6 M-RED22/12LCF
G11/4" A G 1” 400 53 20 50 25 50 245 458  M-RI1 1/4ED*1CF 22 15 485 33 27 27 36  M30x2 20X2 20,8 M-RED22/15LCF
G11/4"A GAE 315 60 20 60 25 50 28,5 61,6  M-RI1 1/4ED*11/2CF 22 18 49 325 27 32 36  M30x2 20X2 24,4 M-RED22/18LCF
G11/2"A G 11/4" 315 50 22 55 32 55 26,5 54,2 M-RI1 1/2ED*11/4CF A EEFTENPITER SR M-RED22/18LOMDCF
order code of items without nut and DS-Ring for example: ~ M-RED22/18LOMDCF
Page 077 Page 078




&3k  Couplings MASTer MASTER 3L Couplings

S2 S S1
—i—
- \ N ;X\\\ 3
:;. Y )///I \_ \\\\X
O-Ring 3 ! g O_ng L l
L L
MR TR

Reducing connections with taper
ERTEEL

Reducing connections with taper

order code: M-RED

order code: M-RED

e FH 0ZHE EE e
pipeOD PN O-ring F7= /10044 ordercode
D, D, L | s s, S, d, jointtoriqe kg for% pc.
28 6 455 31 36 14 46 M36x2 26x2 29,3 M-RED28/06LCF WMEINE %l ORE =g Filli=
28 8 47 32 36 17 46 M36x2 26x2 29,3 M-RED28/08LCF pipeOD PN O-ring F3/1004 ordercode
28 10 48 33 36 19 46 M 36x2 26x2 29,9 M-RED28/10LCF 0, D, L | s 5 S, d, jointtorique kg for% pc.
2802 475 33 36 22 46 M 36x2 26x2 30,8 M-RED28/12LCF 8 6 43 28 14 17 19  M16x15 6,5x1,5 34 M-RED08/06SCF
28 15 49,5 34 36 27 46 M36x2 26x2 33,0 M-RED28/15LCF 10 6 800 45,5 30,5 17 17 22 M 18x1,5 8x1,5 7,2 M-RED10/065CF
28 18 50 335 36 32 46 M 36x2 26x2 383 M-RED28/18LCF 10 8 B9 455 305 17 19 22 MI8x15 8x1,5 7.8 M-RED10/085CF
28 22 52 355 36 36 46 M 36x2 26x2 39,1 M-RED28/22LCF 12 6 46 31 19 17 24 M 20x1,5 10x1,5 8,3 M-RED12/065CF
35 6 505 36 46 14 50 M 45x2 32x2,5 33,2 M-RED35/06LCF 12 8 46 31 19 19 24 M20x15 10x1,5 9,3 M-RED12/085CF
35 8 51 3 46 17 50 M45x2 32x2,5 33,7 M-RED35/08LCF 12 10 465 305 19 22 24  M20x15 10x1,5 10,7 M-RED12/105CF
35 10 52 37 46 19 50 M 45x2 32x2,5 342 M-RED35/10LCF 14 6 485 335 22 17 27 M22x15 11x2 9,2 M-RED14/065CF
35 12 51,5 37 46 22 50 M 45x2 32x2,5 35,3 M-RED35/12LCF 14 8 485 335 22 19 27 M22x15 11x2 9,9 M-RED14/085CF
35 15 5 535 38 46 27 50 M 45x2 32x2,5 37,1 M-RED35/15LCF 14 10 43 49 33 22 22 27 M 22x1,5 11x2 11,0 M-RED14/10SCF
35 18 MO0 54 375 46 32 50 M 45x2 32x2,5 39,1 M-RED35/18LCF 14 12 [7000 49 33 22 24 27 M 22x1,5 11x2 11,9 M-RED14/12SCF
35 22 56 395 46 36 50 M 45x2 32x2,5 4,6 M-RED35/22LCF 16 6 49 34 22 17 30 M 24x1,5 12x2 12,7 M-RED16/065CF
35 28 56 39,5 46 41 50 M 45x2 32x2,5 26 M-RED35/28LCF 16 8 49 34 22 19 30 M 24x1,5 12x2 14,8 M-RED16/08SCF
2 6 525 38 50 14 60 M52x2 38x2,5 51,2 M-RLDKO42/6 16 10 495 335 22 22 30 M24x1,5 12x2 148 'M-RED16/10SCF
42 8 53 38 50 17 60 M52x2 38x2,5 51,8 M-RLDKO42/8 16 12 495 335 22 24 30 M 24x1,5 12x2 15,5 M-RED16/12SCF
42 10 54 39 50 19 60 M52x2 38x2,5 52,3 M-RED42/10LCF 16 14 53 35 24 27 30 M 24x1,5 12x2 16,3 M-RED16/14SCF
42 12 535 39 50 22 60 M52x2 38x2,5 53,4 M-RED42/12LCF 20 6 535 385 27 17 36  M30x2 16,3x2,4 18,9 M-RED20/065CF
42 15 555 40 50 27 60 M52x2 38x2,5 55,1 M-RED42/15LCF 20 8 53,5 385 27 19 36  M30x2 16,3x2,4 20,5 M-RED20/08SCF
42 18 56 395 50 32 60 M 52x2 38x2,5 60,7 M-RED42/18LCF 20 10 400 54 38 27 22 36  M30x2 16,3x2,4 20,6 M-RED20/10SCF
42 22 58 415 50 36 60 M52x2 38x2,5 66,5 M-RED42/22LCF 20 12 0700 54 38 27 24 36  M30x2 16,3x2,4 21,3 M-RED20/125CF
42 28 58 41,5 50 41 60 M 52x2 38x2,5 68,0 M-RED42/28LCF 20 14 575 385 27 27 36  M30x2 16,3x2,4 23,2 M-RED20/14SCF
42 35 61,5 40 50 50 60 M52x2 38x2,5 69,5 M-RED42/35LCF 20 16 575 39 27 30 36  M30x2 16,3x2,4 25,9 M-RED20/16SCF
TEgFERNITERSRE:  M-RED28/6LOMDCF N RERNITERRSA6:  M-RED08/06SOMDCF
order code of items without nut and DS-Ring for example: M-RED28/6LOMDCF order code of items WIthout nut and DS-Ring for example:  M-RED08/06SOMDCF
Page 079 Page 080




Bk Couplings MAST=re MASI=R sk Couplings

s1 / L5_ o
S3,
o 11
d E- : EHI ?
0-Ring ! '
L
T :
g X1) O-ring OR
& D5 X2) retaining ring
EX TRk
Reducing connections with taper N
i EL AR T 3R] Fe) 43 Sk — 2 Il B 4T

order code: M-RED Adjustable Lock Nut Elbow

order code: M-WEE-M

WEGE  F 0@ o me
pipeOD PN O-ring 5/ 1004 ordercode
D, D, L | SIS d jointtorique kg for% pc.
25 6 57 42 36 17 46 M36x2 203x2,4 30,8 M-RED25/065CF — o - s
5 8 57 42 36 19 46  M36x2  203x24 31,9 M-RED25/085CF ?;955 sii’s o L b e g%? - ki B :F%}Euoﬁ oide ode
25 10 575 415 36 22 46 M36x2  203x24 33,2 M-RED25/105CF ZI e e e B 2 (ban) (ban gfortpe
25 12 5725 415 36 24 46 M36x2 20,3x2,4 334 M-RED25/125CF 6 20 14 20 7 15 14 14 14 OR8X1.88X M10x1 315 420 66 M-WEEO6LMCF
25 14 61 43 36 27 46 M 36x2 20,3x2,4 35,1 M-RED25/14SCF 8 | 31 16 22 10 18 17 14 17 OR9.4X2.1X M12x15 315 420 6,6 M-WEEOSLMCF
L EECI TV O U VO 1 TR i D N0 TR 10 315 32 17 24 10 20 19 19 19 ORI14X21X  M14x15 315 420 87 M-WEEIOLMCF
25 20 68425 A6 86 __ 46 ___Mi6x2____M.3xiA 43,6 M-RED25/20SCE ~ 12 ™% 732799 25 10 23 22 19 22 OR134X2IX M16x15 315 420 95  MAWEEIZLMCF
s a6 1950 WO a4 BT MAEDWEST B__iaLa S v s o7 B ga s s SE S ot BN e
X IXL, £ o
30 10 61,5 455 41 22 50  M42x2  253x24 36 M-RED30/10SCF = R R e e e WO W VM
30 12 615 455 41 24 50  M42x2 25,3x2,4 44,3 M-RED30/125CF 22 44 28 36 14 33 36 30 32 OR2347X295X M27x2 160 250 534 M-WEE22LMCF
30 14 b 65 47 41 27 50 M42x2 253x2,4 46,1 M-RED30/14SCF 28 pno 47 31 39 14 41 41 36 41 OR8X3ISK  M332 160 250 609 M-WEE28LMCF
_30 15 46 41 30 30 __ MAkxd ___2i3xid 48.7 N-BEDE/ 1O5CE 35 59 38 49 14 51 50 50 50 OR37.69X3.53X M422 160 250 844 MWEE3SLMCF
gg 222 g? 4:_;,5 i} ig ig mi’;; i;i;: ‘232 mgggiggggg 4 61 38 50 16 56 60 50 55 OR425X315K M48x2 160 250 928 M-WEE42LMCF
— o : 6 30 15 22 10 18 17 14 17 OR9.4X2.1X M12x1.5 315 500 72  M-WEEO6SMCF
%- 21’2 :g’g :g 1; Zg mgi"g g:’:xg’i ;?g mggg:gigggg g8 5. 32 17 2 10 20 19 19 19 ORIAX2IX  M1415 315 500 gg MWEEOBSMCF
S e e e e 10 @560 34 18 27 11 23 22 19 22 ORI34X21X  M16x15 315 500 97  M-WEET0SMCF
38 12 65 49 50 24 60 M52x2 33.3x24 72.0 M-RED38/125CF 12 38122 31 12 25 24 22 24 OR1554X2.62X M18x1.5 315 500 227 M-WEE12SMCF
38 14 685 505 50 27 60  M52x2  333x24 743 M-RED38/14SCF 18] = AR AT M2ZdS 2507 400 T IR6 T NMEWEEI6SUEE
8 16 685 50 50 30 60 M52x2 33,3x2,4 77.0 M-RED38/165CF 20 49 28 39 16 33 36 30 32 OR2347X295X M27x2 250 400 553  M-WEE20SMCF
—38 20 715 50 50 36 60 M52x2 333x24 812 M-RED38/205CE 25 54 30 44 16 41 46 36 41 ORMX3ISX  M332 160 250 722  M-WEE2SSMCF
38 25 '774!5 56,5 50 46 60 M52x2 33,3X2,4 837,0 M-RED38/255CF 30 3200 62 36 51 17 51 50 50 50 OR37.69X3.53X M42x2 160 250 93,2 M-WEE30SMCF
38 30 77,5 51 50 50 60 M52x2 33,3x2,4 87,8 M-RED38/30SCF 38 65 34 54 19 56 60 50 55 OR425X3.15X M48x2 160 250 104,22 M-WEE38SMCF
AR FERNITRARSRE:  M-RED25/10SOMDCF SRR R TR S R _
order code of items without nut and DS-Ring!for example:  M-RED25/10SOMDCF j,g’ff;;;ﬁoﬁiﬂﬂﬁﬁﬂﬂman{'}"gg?gﬁ,ﬂ?ﬂgﬁ;ie: M-WEEO6LMOMDCE
Page 081 Page 082




A[E#ESL Adjustable fttings MASI=R MASI=R AlifF##k Adjustable fttings

- L5_ o
] e
= ( ol
If & |
¥1) O-ring OR -t 1 - X1) O-ring CR
o @ D5 X2) retaining ring

i L AR R IfE] o) 3 Sk — SRl MR ¢

Adjustable Lock Nut Elbow
S e T S BB L OR B ’
Adjustable Lock Nut Elbow order code: M-WEE-R

order code: M-WEE-OR

MEIME RF Ozl MREN %H’F %EO{J# ns
; : . . : T3/ dercod
WESME 5 ORlH LD RATH ﬁi}%ﬂ# dzﬂg%d pipeOD series L, I, I, i D, S, S, S, ORing G o R
H 3 i _Ri 8 oraercoae
plpeth seriestt TR G B B € (b (ban Kgfortipe 4 L 21 11320 65 15 10 11 14 OR8X1.88X  G1/8A 250 315 66  M-WEEOALLRCF
6 29 14 20 7 15 14 14 14 OR8IX1.6X M10x1 315 420 66  M-WEEO6LMORCF g s RN e e N 2N IS ORER T do X SR G B0 2500815 NG 6 M VIEEDGLURER
8 | 31 16 22 10 18 17 14 17 OR93X22X MI12x15 315 420 66  M-WEEO8LMORCF 6 L 29 14 19 7 15 14 14 14 OR8X1.88X G1/8A 315 420 66  M-WEEOGLRCF
10 355 32 17 25 10 20 19 19 19 OR11.322X M14x1.5 315 420 87  M-WEE10LMORCF 8 315 31 16 23 9 20 17 14 19 ORI0.77X2.62X G1/4A 315 420 66  M-WEEOSLRCF
12 @500 34 19 26 10 23 22 19 22 OR13.3X2.2X MI16x15 315 420 95  M-WEET12LMORCF 10 M9 35 47 25 9 20 19 19 19 ORI0.77X2.62X G1/4A 315 420 11,9  M-WEE10LRCF
15 36 21 30 11 25 27 22 24 OR15.3X2.2X M1815 315 420 224  M-WEE15LMORCF 12 34 19 28 9 23 22 19 22 OR13.94X2.62X G3/8A 250 400 13,8  M-WEE12LRCF
18 40 24 33 12 28 32 27 27 OR19.3X2.2X M22x1.5 315 420 284 M-WEE18LMORCF 15 [3‘2652(‘)5] 36 21 30 13 28 27 22 27 OR17X3X G1/2A 250 400 283 M-WEE15LRCF
;g :fflf g? gg 12 23 215 gg if gg;gﬁggi mggxg 163 ;58 Zg;‘ mw&ggmg&mﬁ 18 40 24 36 13 28 32 27 27 ORI7X3X G12A 250 400 344  M-WEE18LRCF
160 6X2. x2 160 25 ; -
T ;23 44 28 36 13 33 36 30 36 gg;g?;(x G3/4A 160 250 449  M-WEE22LRCF
— L e e s e et Jo 47 31 a4 15 41 41 36 4 : G1A 160 250 657  M-WEE28LRCF
. 0 15 23 10 18 17 14 17 ORSINLIX MIZx15 400 630 72  M-WEEO6SMORCE 35 50 38 50 15 51 50 50 50 OR37.69X3.53X G11/4A 160 250 111,3  M-WEE35LRCF
8 32 17 26 10 20 19 19 19 OR11.3X2.2X M14x1.5 400 630 88 M-WEEO8SMORCF 42 61 38 52 15 56 60 50 55 OR44.04X3.53X G11/2A 160 250 119,7 M-WEE42LRCF
0 S 34 18 27 11 23 22 19 22 ORI3.3X2.2X MI6x15 400 630 97  M-WEET0SMORCF 6 5 30 15 23 9 20 17 14 19 ORI077X2.62X G1/4A 315 500 69  M-WEEQO6SRCF
12 issoq 38 22 31 12 25 24 22 24 ORI5.3X2.2X M18x1.5 400 630 227  M-WEET2SMORCF 8 s0 32 17 27 9 20 19 19 19 ORI0.77X2.62X G1/4A 315 500 12,0  M-WEEOSSRCF
16 43 25 35 14 28 30 27 27 OR19.3X2.2X M22x1.5 400 630 28,6 M-WEE16SMORCF 10 34 18 29 9 23 22 19 22 OR13.94X2.62X G3/8A 250 400 13,8 M-WEE10SRCF
20 49 28 39 16 33 36 30 32 OR23.6X2.9X M27x2 400 630 55,3 M-WEE20SMORCF 12 50 38 22 29 9 23 24 22 22 OR13.94X2.62X G3/8A 250 400 20,6 M-WEE12SRCF
[3625] i
25 gy 54 30 44 16 41 46 36 41 OR29.6X2.9X M33x2 315 420 72,2  M-WEE25SMORCF 16 43. 25 36 13 28 0. 2r 27 ORj7XEX G1/2A 250 400 346  MWEEIGSRCF
20 49 28 39 12 33 36 30 36 OR22.5X3X G3/4A 250 400 468  M-WEE20SRCF
30 355 62 36 51 17 51 50 50 50 OR38.6X29X M42x2 250 400 93,2  M-WEE30SMORCF 25 54 30 44 14 41 46 36 41 OR28X3.15X  GTA 250 400 772  M-WEE25SRCF
30 160 62 36 49 15 51 50 50 50 OQR37.69%3.53X G11/4A 160 250 1069  M-WEE30SRCF
38 0 65 34 54 19 56 60 50 55 OR44.6X2.9X M48x2 200 315 1042  M-WEE3BSMORCF 38 2320 65 34 55 15 56 60 50 55 OR44.04X353X G11/2A 160 250 1311  M-WEE3BSRCF

. S FBEFENMITENASRE:  M-WEEO6LROMDCF
TR FENMITHEMASAE:  M-WEEO6LMOROMDCF i i _Ri ; g
order code of items without nut and DS-Ring for example: M-WEEO6LMOROMDCF SiFERERSIOE s ma oL Ran S-S IERAREES ISRl R

Page 083 Page 084




A[#EL Adjustable fttings VMASI=R MASIER A[i##Ek Adjustable fttings
L2
- st |
L5_ o (IR
s3 o =
'
[/ g ugll} 9
f 52
'E | S — X2)
3 ] = X1)
I ‘
X1) O-ring OR @ D5 b st i
X2) retaining ring
i B T S — E B OB A A—
Adjustable Lock Nut Elbow i =38 A 1] o 45 Sk — R Tl AR
Adjustable Locknut Branch Tee
order code: M-WEE-UNF
order code: M-TEE-M
WMEME 2T O AfFEAD %;Il? JF%’]EO% diﬂ% .
v = _Ri oraercode
pipe OD series B D LR 0-Ring T (bar) (bar) kg for% pe. e i i T - e
6 29 14 19 10 17 14 14 14 OR9.17X1.83X 7/16—3_0_91\1_!?—2:& 315 430 6,5 M-WEE06L7/16UNFCF pipeOD series L, L, L, L, D, S, S, S, O-Ring T (ban) E&?tl)m) k]gfﬁo/rll}%oﬁ ordercode
8 31 16 19 10 18 17 14 14 OR9.17X1.83X 7/16-20UNF-2A 315 420 7,0  M-WEEO8L7/16UNFCF :
10 , 32 17 24 10 20 19 19 17 ORI1.8X198X 9/16-18UNF2A 315 420 9,0 M-WEE10L9/16UNFCF 6 29 14 20 7 15 14 14 14 OR8X1.88X M10x1 315 420 93  M-TEEO6LMCF
12 315 34 19 25 11 26 22 19 17 OR11.89X1.98X 09/16-18UNF-2A 315 420 11,0 M-WEE12L9/16UNFCF 8 L 31 16 22 10 18 17 14 17 OR9.4X2.1X M12x1.5 315 420 10,3 M-TEEOSLMCF
12 W80 34 99 25 13 26 22 19 22 OR16.36X2.21X 3/416UNF2A 315 420 194  M-WEE12L3/4UNFCF 10 315 32 17 25 9 20 19 19 19 ORIA4X21IX  M14x15 315 420 17,5  M-TEETOLMCF
15 36 21 28 13 29 27 22 22 OR16.36X2.21X 3/416UNF2A 315 420 18,5 M-WEE15L3/4UNFCF 12 W T32719 26 9 23 22 19 22 ORI3AX2IX M16x1.5 315 420 19,1  M-TEE12LMCF
15 36 21 28 15 29 27 22 27 OR19.18X2.46X 7/8B-14UNF2A 315 420 188 M-WEE15L7/8UNFCF 15 36 21 30 11 25 27 22 24 ORI554X2.62X M18x1.5 315 420 331  M-TEEISLMCF
18 40 24 32 15 29 32 27 27 OR19.18X2.46X 7/8-14UNF2A 315 420 284 M-WEE18L7/8UNFCF 18 5% 40 24 33 11 28 32 27 27 OR19.2X3X M22x15 250 400 423  M-TEE18LMCF
18 40 24 32 17 29 32 30 32 OR23.47X2.95X 11/16-12UN-2A 315 420 31,8 M-WEE18L11/16UNCF 22 - 44 28 35 14 33 36 30 32 OR2347X2.95X M27x2 160 250 73,7  M-TEE22LM27X2CF
22 44 28 35 17 37 36 30 32 OR23.47X2.95X 11/16-12UN-2A 160 250 53,5 M-WEE22L11/16UNCF 28 32 47 31 38 14 41 4 36 41 OR28X3.15X M33x2 160 250 77,7 M-TEE28LMCF
28 g0 47 31 42 17 44 41 36 41 OR29.74X2.95X 15/16-12UN-2A 160 250 452 M-WEE28L15/16UNCF 35 59 38 48 14 51 50 50 50 OR37.69X3.53X M42x2 160 250 126,0  M-TEE35LMCF
35 [2320Q] 50 38 46 17 55 50 50 50 OR37.47X3X 15/8-12 UN-2A 160 250 84’4 M-WEE35L15/8UNCF 42 61 38 49 16 56 60 50 55 OR42.5X3.15X M 48x2 160 250 142,8 M-TEE42L MCF
42 61 38 47 17 55 60 50 55 OR43.69X3X  17/812UN-2A 160 250 92,8 M-WEE42L17/8UNCF 6 30 15 22 10 18 17 14 17 OR94X2.1X M12x1.5 315 500 10,6  M-TEEO6SMCF
6 30 15 20 12 17 17 14 14 OR9.17X1.83X 7/1620UNF2A 400 630 65 M-WEE0657/16UNFCF 8 s 32 17 2 10 20 19 19 19 ORIAX2IX  M14x15 315 500 17,7  M-TEEOBSMCF
8 32 17 25 12 18 19 19 17 OR11.89X1.98X 9/16-18UNF-2A 400 630 85 M-WEE0859/16UNFCF 10 M50 34 18 27 11 23 22 19 22 OR134X21X  M16x1.5 315 500 19,5  M-TEE10SMCF
10 i 34 18 26 12 20 22 19 17 OR11.89X1.98X 9/16-18UNF-2A 400 630 9,0 M-WEE1059/16UNFCF 12 3822 31 12 25 24 22 24 OR15.54X262X M18x1.5 315 500 31,3  M-TEE12SMCF
12 Mo 38 22 30 14 26 24 22 22 OR1636X221X 3/416UNF2A 400 630 213 M-WEE1253/4UNFCF 16 250 43 25 35 14 28 30 27 27 OR19.2X3X M22x1.5 250 400 42,7  M-TEE16SMCF
16 43 25 34 16 29 30 27 27 OR19.18X2.46X 7/8-14UNF2A 400 630 28,6 M-WEE1657/8UNFCF 20 P5¥ 49 28 39 16 33 36 30 32 OR2347X295X M27x2 250 400 77,5  M-TEE20SMCF
20 49 28 37 19 37 36 30 32 OR23.47X2.95X 11/16-12UN-2A 400 630 55,5 M-WEE20511/16UNCF 25 54 30 44 16 41 46 36 41 OR28X3.15X  M33x2 160 250 100,7 M-TEE25SMCF
25 54 30 50 19 44 46 36 32 QR23.47X2.95X 11/16-12UN-2A 400 630 69,4 M-WEE25511/16UNCF 30 10 62 36 51 17 51 50 50 50 OR37.69X3.53X M42x2 160 250 143,6  M-TEE30SMCF
30 20 62 36 50 19 55 50 50 50 OR37.47X3X  15/8-12UN-2A 250 420 932 M-WEE30S15/8UNCF 38 P 65 34 54 19 56 60 50 55 OR425X3.I5K  M48x2 160 250 1656  M-TEE3BSMCF
38 %3 65 34 51 19 55 60 50 55 OR43.69X3X  17/8-12UN-2A 250 420 1042 M-WEE38517/8UNCF
PEREFENMITER SR M-WEE38517/8UNOMODCF AR REMIITRASPI:  X-M-TEE38SMA3C
order code of items without nut and DS-Ring for example:  M-WEE38517/8UNOMODCF order code of items without nut and DS-Ring for example: ~ X-M-TEE38SMA3C
Page 085 Page 084




AL Adjustable fttings AL Adjustable fttings

MASTER

L3

—

L3

L4

T X X1) C-ring OR

X2) retaining ring

L4
I

X1) O-ring OR

iy =38 AT I o) 43 3k — SR 4R 4L
Adjustable Locknut Branch Tee
order code: M-TEE-R

i =18 A [ Sk — A RS OB B &+
Adjustable Locknut Branch Tee
order code: M-TE-M-OR

SR EF oA AHES BAIE BB Mo %15?%91‘% ﬁ?‘] O;"ﬂ{% MREN 8AIfE 2B Bl
pipe OD series Lo L RS S s O-Ring T Bon E&gm) g%ﬁl}%ﬂﬁ ordercode pipeOi series [ L LB 5 g S 0-Ring T sex) E(jt]:or) kg%ﬂ%ﬁgi ordercode
6 29 14 20 7 15 14 14 14 OR8.1IX1.6X M10x1 315 420 93  M-TEEO6LMORCF 6 |, 29 14 19 7 15 14 14 14 OR8X1.88X G1/8A 315 420 93 M-TEEO6LRCF
8 i 31 16 22 10 18 17 14 17 OR9.3X2.2X  M12x1.5 315 420 103 M-TEEOSLMORCF 8 315 31 16 23 9 20 17 14 19 OR10.77X2.62X G1/4A 315 420 103 M-TEEO8LRCF
10 35 32 17 25 10 20 19 19 19 OR11.32.2X M14x15 315 420 175  M-TEE10LMORCF 10 69 35 97 25 9 20 19 19 19 OR10.77X2.62X G1/4A 315 420 171  M-TEETOLRCF
~ 12 i4se 34 19 26 10 23 22 19 22 OR13.3X22X MI16x15 315 4200 191 M-TEE12LMORCF 12 o 34 19 28 9 23 22 19 22 ORI3.94X2.62X G3/8A 250 400 20,6  M-TEET2LRCF
15 36 21 30 11 25 27 22 24 OR15.3X2.2X M18x1.5 315 420 3??1 M-TEE15LMORCF 15 3625 38 21 30 13 28 27 22 27 OR17X3X G12A 250 400 313 M-TEE15LRCF
L 40 24 33 12 28 32 27 27 OR193X22X M2xa5 315 420 423  M-TEE18LMORCF 18 40 24 36 13 28 32 27 27 ORIZX3X G12A 250 400 42,8  M-TEE18LRCF
22 44 28 35 14 33 36 30 32 OR23.6X2.9X M27x2 160 250 737 M-TEE22LMORCF
B 10 47 31 38 14 41 41 36 4 OR96X29X M332 160 250 777  M-TEE28LMORCE 22 44 28 36 13 33 36 30 36 OR22.5X3X G3/4A 160 250 719  M-TEE22LRCF
35 (220 59 38 48 14 51 50 50 50 OR38.6X29X M42x2 160 250 126,0 M-TEE35LMORCF 28 - 47 31 4 15 41 41 36 41 OR28X3.15X G1A 160 250 81,2 M-TEE28LRCF
42 61 38 49 16 56 60 50 55 OR44.6X2.9X M48x2 160 250 142,8 M-TEE42LMORCE 35 320 59 38 50 15 51 50 50 50 OR37.69%3.53X G11/4A 160 250 126,0 M-TEE35LRCF
6 30 15 22 10 18 17 14 17 OR9.3X2.2X M12x15 400 630 10,6 M-TEE06SMORCF 42 61 38 52 15 56 60 50 50 OR44.04X3.53X G11/2A 160 250 1428 M-TEE42LRCF
8 32 17 26 10 20 19 19 19 OR11.3X2.2X M14x15 400 630 17,7  M-TEEO8SMORCF 6 5 30 15 23 9 20 17 14 19 OR10.77X2.62X G1/4A 315 500 109  M-TEEOGSRCF
10 S 34 18 27 11 23 22 19 22 OR13.3X22X M1iex15 400 630 19,5  M-TEE10SMORCF 8 mse0 32 17 27 9 20 19 19 19 OR10.77X1.62X G1/4A 315 500 153 M-TEEO8SRCF
12 0y 38 22 31 12 25 24 22 24 ORI53X22X M18x15 400 630 313  M-TEE12SMORCF 10 34 18 29 9 23 22 19 22 ORI13.94X2.62X G3/8A 250 400 19,1 M-TEE10SRCF
16 43 25 35 14 28 30 27 27 OQR19.3X2.2X M22x1.5 400 630 42,7 M-TEE16SMORCF T 12 38 22 29 9 23 24 22 22 ORI2.94X2.62X G3/8A 250 400 23,8 M-TEE12SRCF
20 - 49 28 39 16 33 36 30 32 QpR236X209X M27x2 400 630 775 M-TEE20SMORCF 16 [32535] 43 25 36 13 28 30 27 27 ORIZX3X GI2A 250 400 432 M-TEE16SRCE
;(5) 6 2‘2‘ :2 :‘ :? :1 ‘5*2 ;g :; OR29.6X2.9X m;g ;;3 i;g 1222 m:gz;zmggg 20 49 28 39 12 33 36 30 36 OR22.5X3X G3/4A 250 400 757  M-TEE20SRCF
3625 0 M-TEE3USIMOURLE
3 1 65 34 34 19 35 60 30 55 ORMGOX M40 200 315 1656  MTEEBSMORCE z B8 3044 AL e B A1 DRZSUSE  GNA s U IR NEJEEZERCT
E 30 1w 62 36 49 15 51 50 50 50 OR37.69X3.53X G11/4A 160 250 1436  M-TEE30SRCF
38 P20 65 34 55 15 56 60 50 55 OR44.04X3.53X G11/2A 160 250 1656 M-TEE38SRCF

FHARHFEMMITHRSRE:  M-TEE38SMOROMDCF — ——
order code of items without nut and DS-Ring for example: AHRGRENNITERSRE:  M-TEE38SROMDCF

order code of items without nut and DS-Ring for example:

M-TEE38SMOROMDCF
M-TEE38SROMDCF

Page 087

Page 088




A[IESL  Adjustable fitings MASI=re MASIER AIIHESL  Adjustable fitings
L2
L2
57 — _
_ " =
T 15 L5 2 -
IR e 5
* s1 T
: SHRE i
52 ‘ 3
% s2 t
1 i |
2 [ %1 1 -
- | -
3 | ~Xi1)
1] |
& D5 X1) O-ring OR | T |
D X1) O-ring QR
AL — s > iy 2 A E_ 'LLUE‘ =] i =] E2 —/L} I "2.
i =i A S — E SR SO B B B iy = 18 P 1] 5 Sk — R IR
Adjustable Locknut Branch Tee Adjustable Lock Nut Run Tee
order code: M-TEE-UNF order code: M-LEE-M
WESNE R ORI AREN %If? %i}ém# Al
i i -Ri T3/1 ordercode WNEE RF Ol AEH BATHE BB #l=
ppesemes fs L B W05 S 5 0fing ! (bar) (bar) kgford pc pipEeOD seies |, L, L, L, D, S, S, S, O-Ring T P O rbp: ordercode
6 29 14 19 10 17 14 14 14 OR9,17X1,83X 7/16:20UNF-2A 315 420 9,1 M-TEEO6L7/16UNFCF oS A B O S B () ool T W OIS BE
8 31 16 19 10 18 17 14 14 ORY,17X1,83X 7/16:20UNF-2A 315 420 10,1 M-TEEO8L7/16UNFCF 6 29 14 8 7 15 14 14 14 OR8X1,88X M10x1 315 420 93  M-LEEOGLMORCF
10 32 17 24 10 20 19 19 17 OR11,8X1,98X 9/16-18 UNF-2A 315 420 17,5 M-TEE10L9/16UNFCF 8 L 31 16 8 10 18 17 14 17 OR94X21X M12x1,5 315 420 10,3 M-LEEOSLMORCF
12 315 34 19 25 11 26 22 19 17 OR11,89X1,98X 9/16-18 UNF-2A 315 420 191 M-TEE12L9/16UNFCF 10 [43;650] 32 17 11 9 20 19 19 19 OR114X2,1X M14x1,5 315 420 17,5  M-LEETOLMORCF
12 W0 34 19 25 13 26 22 19 22 ORI1636X2,21X 3/4-16UNF2A 315 420 24,7 M-TEE12L3/4UNFCF 12 34 19 14 9 23 22 19 22 ORI34AX21X  MIex1,5 315 420 191  M-LEE12LMORCF
[ 36 21 28 13 29 27 22 22 OR16,36X2,21X 3/4-16UNF2A 315 420 329 M-TEE15L3/4UNFCF 15 36 21 14 11 25 27 22 24 ORI1554X262X M18x15 315 420 331  M-LEEI5LMORCF
15 36 21 28 15 29 27 22 27 OR19,18X2,46X 7/8-14UNF-2A 315 420 32,9 M-TEE15L7/8UNFCF 18 250 40 24 17 11 28 32 27 27 OR19,23X M22x1,5 250 400 42,3  M-LEE18LMORCF
18 40 24 32 15 29 32 27 27 OR19,18X246X 7/8-14UNF-2A 315 420 41,9 M-TEE18L7/8UNFCF e
18 40 24 32 17 29 32 30 32 OR23,47X2,95X 11/16-12UN-2A 315 420 58,1 M-TEE18L11/16UNFCF 22 44 28 19 14 33 36 30 32 OR2347X295X M27x2 160 250 73,7  M-LEE22LMORCF
22 44 28 35 17 37 36 30 32 OR23,47X2,95X 11/16-12UN-2A 160 250 62,9 M-TEE22L11/16UNFCF 28 pxng 47 31 27 14 41 41 36 41 OR8X315X  M33x2 160 250 77,7  M-LEE28LMORCF
28 10 47 31 42 17 44 41 36 41 OR29,74X2,95X 15/16-12UN-2A 160 250 75,1 M-TEE28L15/16UNFCF 351 590 38 37 14 51 50 50 50 OR3769X353X M422 160 250 126,0 M-LEE35LMORCF
35 [8200 59 38 46 17 55 50 50 50 OR37,47X3X 15/8-12UN-2A 160 250 126,2 M-TEE35L15/8UNFCF 42 61 38 40 16 56 60 50 55 OR425X3,15X M48x2 160 250 142,8  M-LEE42LMORCF
42 61 38 47 17 55 60 50 55 OR43,69X3X  17/8-12UN-2A 160 250 1480 M-TEE42L17/8UNFCF e,  E0SRRS TR0 8 S AR R ORI AR X M1215 315 500 10,6  M-LEEO6SMORCF
6 30 15 20 12 17 17 14 14 OR9,17X1,83X 7/16-20UNF-2A 400 630 10,7 M-TEE0657/16UNFCF 8 35 32 17 10 10 20 19 19 19 ORI14X2,1X  M14x1,5 315 500 17,7  M-LEEOBSMORCF
8 32 17 25 12 18 19 19 17 OR11,89X1,98X 9/16-18UNF-2A 400 630 17,7 M-TEE0859/16UNFCF 10 560 34 18 12 11 23 22 19 22 ORI34X2,1X M16x15 315 500 19,5 M-LEETOSMORCF
10 S 34 18 26 12 20 22 19 17 OR11,89X1,98X 9/16-18UNF-2A 400 630 195 M-TEE1059/16UNFCF 12 38 22 13 12 25 24 22 24 OR1554X262X M1815 315 500 31,3  M-LEE12SMORCF
12 Mo 38 22 30 14 26 24 22 22 OR1636X221X 3/4-16UNF2A 400 630 31,1 M-TEE12S3/4UNFCF 16 250 43 25 14 14 28 30 27 27 OR192X3X M22x15 250 400 42,7  M-LEE16SMORCF
16 43 25 34 16 29 30 27 27 OR19,18X2,46X 7/8-14UNF2A 400 630 423 M-TEE1657/8UNFCF 20 B2 49 28 17 16 33 36 30 32 OR2347X295X M27x2 250 400 77,5  M-LEE20SMORCF
20 49 28 37 19 37 36 30 32 OR23,47X2,95X 11/1612UN-2A 400 630 66,7 M-TEE20511/16UNFCF 25 54 30 25 16 41 46 36 41 OR2X315X  M33x2 160 250 1007  M-LEE25SMORCF
25 54 30 50 19 44 46 36 32 QR23,47X2,95X 11/1612UN-2A 400 630 98,1 M-TEE25511/16UNFCF 30 30 62 36 34 17 51 50 50 50 OR37,69X353X M42x2 160 250 143,6  M-LEE30SMORCF
30 20 62 36 50 19 55 50 50 50 OR37,47X3X  15/8-12UN-2A 250 420 143,8 M-TEE30S15/8UNFCF 38 65 34 37 19 56 60 50 55 OR425X3,15X M48x2 160 250 1656  M-LEE38SMORCF
38 132 g5 34 51 19 55 60 50 55 OR43,69X3X  17/8-12UN-2A 250 420 1658 M-TEE38517/8UNFCF

TR R ENRITTER SR

order code of items without nut and DS-Ring for example:

Page 089

M-TEE06L7/16UNFOMDCF

M-TEEO6L7/16UNFOMDCF

AR RENANTTER SR

order code of items without nut and DS-Ring for example:

M-LEE38SMOROMDCF

M-LEE38SMOROMDCF

Page 090




AL Adjustable fttings MASI=re MASI=R A[F3ESL  Adjustable fttings

Lz

L5 L5
| = g
- o RRE o
T ] 8 — 1 =
mI 53 mI Jsa
- l + el '|
Hin as) 'l}:[
f r
X1) O-ring OH X1) O-ring OR
X2) retaining ring - X2) retaining ring
BHifim =B A ok —A f B g 0B FE B 3 im =18 R a5 Sk — S Hll 42 47
Adjustable Lock Nut Run Tee Adjustable Lock Nut Run Tee
order code: M-LEE-M-OR order code: M-LEE-R
WEINME F7 Ol NMREH BAIE 28 it i = = =
: : - BN Fa/100% WEHE #5 (oF:]:=! MREH BAIE B8 ne
ipe OD series 0-R T ordercode
pip L, L, L L D S, S 5, ing (bar) (bar) kgfor% pc. pipeOD series L, L, L, L, D, S, S, S, 0-Ring T on Eéj;w) k:g%%%%ﬂﬁt ordercode
6 29 14 20 7 15 14 14 14 OR8,IX1,6X M10x1 315 420 93  M-LEEO6LMORCF
8 | 31 16 22 10 18 17 14 17 OR93X22X M12d5 315 420 103  M-LEEOBLMORCF 6 29 14 19 7 15 14 14 14 ORSX1,88X G1/8A 315 420 93  M-LEEO6LRCF
10__ 5% 32 17 25 10 20 19 19 19 OR11,3X2,2X M14x1,5 315___4}_20 17,5 M-LEE10LMORCF 8 315 31 16 23 9 20 17 14 19 OR10,77X2,62X G1/4A 315 420 10,3 M-LEEOSLRCF
12 wss0 34 19 26 10 23 22 19 22 ORI3,3X22X MIex15 315 420 19,1  M-LEET2LMORCF 10 9 33 47 25 9 20 19 19 19 ORI077X2,62X G1/4A 315 420 17,1  M-LEE10LRCF
15 36 21 30 11 25 27 22 24 OR153X22X M18x1,5 315 420 33,1  M-LEE15LMORCF 12 ,, 34 19 28 9 23 22 19 22 OR13,94X2,62X G3/8A 250 400 20,6  M-LEE12LRCF
18 40 24 33 12 28 32 27 27 OR193X22X M2x15 315 420 423 M-LEE18LMORCF 15 3625 36 21 30 13 28 27 22 27 OR17X3X G1/2A 250 400 313 M-LEE15LRCF
2 44 28 35 14 33 36 30 32 OR23,6X2,9X M27x2 163 ;53 73,7 M-LEE22LM27X20RCF 18 40 24 36 13 28 32 27 37 ORI7X3X G12A 250 400 428 M-LEET8LRCF
28 160 47 31 38 14 41 41 36 41 OR29,6X29X M33x2 160 250 77,7  M-LEE28LMORCF 350 719  MLEEJILRCE
35 [2320 50 38 48 14 51 50 50 50 OR38,6X2,9X M422 160 250 1260  M-LEE35LMORCF =~ 120l ob 14 s ) 5o Lhiisan Gllak__1st '
2 61 38 49 16 56 60 50 55 OR446X20X M482 160 250 1428  M-LEE42LMORCF 28l o EEENETINEST ORI N R RO LR GO U VR T
6 30 15 22 10 18 17 14 17 OR93X22X MI2x1,5 400 630 106  M-LEEO6SMORCF do iy bo 33 of 15 sl af B0 S0 SRMSNCE  GillAA e ;:g E‘gg mt:gigtﬁg
10 5 3 18 27 1 23 22 19 22 ORI133X22X Mi16x1,5 400 630 195 M-LEET0SMORCE 6 315 30 15 23 9 20 17 14 19 OR10,77X2,62X G1/4A 315 500 10,9 M-LEEO6SRCF
12 [54580] 3822 31 12 25 24 22 24 ORI153X22X M18x15 400 630 313 M-LEE12SMORCE 8 [s600 32 17 27 9 20 19 19 19 OR10,77X1,62X G1/4A 315 500 153 M-LEEO8SRCF
16 43 25 35 14 28 30 27 27 OR193X22X M22x15 400 630 42,7  M-LEET6SMORCF 10 34 18 29 9 23 22 19 22 OR1394X2,62X G3/8A 250 400 19,1 M-LEE10SRCF
20 49 28 35 16 33 36 30 32 OR23e6X29X M27x2 400 630 77,5  M-LEE20SMORCF | 12 ., 38 22 29 9 23 24 22 22 ORI3,94X2,62X G3/8A 250 400 238  M-LEE12SRCF
25 35 54 30 44 16 41 46 36 41 OQR296X29X M33x2 315 420 1007  M-LEE25SMORCE 16 (3625 43 25 36 13 28 30 27 27 OR17X3X G1/2A 250 400 432 M-LEE16SRCF
e 20 49 28 39 12 33 36 30 36 OR225X3X G3/4A 250 400 757  M-LEE20SRCF
30 [32655)5] 62 36 51 17 51 50 50 50 OR38,6X29X M42x2 250 400 1436 M-LEE30SMORCF 25 54 30 44 14 41 46 36 41 OR28X3,15X G1A 250 400 1042 M-LEE25SRCF
- S 30 160 62 36 49 15 51 50 50 50 OR37,69X3,53X G11/4A 160 250 1436  M-LEE30SRCF
38 20 65 34 54 19 56 60 50 55 OR44,6X20X M48x2 200 315 1656  M-LEE38SMORCF e BM es mh b5 15 SF 60 50 S OCRASOAGSIY GTION EC 250 1656 — MAEESSSRCE

[2900]

. e — AR FENMI &N SRG:  M-LEE38SROMDCF
THEGRENMITHENR SRS M-LEE38SMOROMDCF i i _Ri : :
order code of items without nut and DS-Ring for example: M-LEE38SMOROMDCF order code of items without nut and DS-Ring for example: - M-LEE38SROMDCF

Page 091 Page 092




Adjustable fttings Adjustable fttings

RREEESS

BIRGEESS

@ D1

L2
@
L5
}AE
el

| -
S2
3 X1)
| %1) O-ring OR X1) O-ring OR
T S
——a| X2} retaining ring
@ D5

HRin =B ARk —E 2L 08 B EE
Adjustable Lock Nut Run Tee

order code: M-LEE-UNF

iH4S5 T EiE K —A HI MR AL
Adjustable Lock Nut 45° Elbow
order code: M-VEE-M

WEIIE FF O#F AREN %IﬁE 1%%9# dz“éi—' .

1 1 -Pi oraercoqe

pipeOD series L. L, L, L, D, S, S, S, O-Ring T (bar) (bar) kgfor% pc. e i Aih B 28 o

6 29 14 19 10 17 14 14 14 OR9,17X1,83X 7/16-20UNF-2A 315 420 9,1 M-LEEO6L7/16UNFCF pipeOD series L L, L, L D, S, S, S, O-Ring T o) E(i],m) kg%/r[.gﬂﬁl ordercode

8 31 16 19 10 18 17 14 14 OR9,17X1,83X 7/16-20UNF-2A 315 420 10,1 M-LEEO8L7/16UNFCF

10 .32 17 24 10 20 19 19 17 ORI1,89X1,98X 9/16-18UNF-2A 315 420 17,5  M-LEE10L9/16UNFCF 6 24 9 21 7 15 14 14 14 OR8X188X M10x1 315 420 57  M-VEEOSLMCF

12 315 34 19 25 11 26 22 19 17 OR11,89X1,98X 9/16-18UNF-2A 315 420 17,1 M-LEE12L9/16UNFCF 8 | .27 12 19 10 18 17 14 17 OR9AX21X  M12d5 315 420 62  M-VEEOBLMCF
12 M99 34 99 25 13 26 22 19 22 OR1636X2,21X 3/4-16UNF-2A 315 420 247 M-LEE12L3/4UNFCF 0 315 27 12 24 9 20 19 19 19 ORI14X21X M14x15 315 420 104  M-VEETOLMCF

15 36 21 28 13 29 27 22 22 OR16,36X2,21X 3/4-16UNF-2A 315 420 32,9 M-LEE15L3/4UNFCF 12 W% 28 14 25 9 23 22 19 22 ORI3AX21X  M16x15 315 420 140  M-VEEI2LMCF

15 36 21 28 15 29 27 22 27 OR19,18X2,46X 7/8-14UNF-2A 315 420 32,9 M-LEE15L7/8UNFCF 15 32 17 24 11 25 27 22 24 ORI1554X2,62X M18x1,5 315 420 19,8  M-VEEI5LMCF

18 40 24 32 15 29 32 27 27 OR19,18X2,46X 7/8-14UNF-2A 315 420 41,9 M-LEE18L7/8UNFCF 18 250 33 17 31 11 28 32 27 27 OR192X3X M22x1,5 250 400 26,0  M-VEE18LMCF
18 40 24 32 17 29 32 30 32 OR23,47X2,95X 11/16-12UN-2A 315 420 58,1 M-LEE18L11/16UNFCF i

22 44 28 35 17 37 36 30 32 OR29,74X2,95X 11/16-12UN-2A 160 250 62,9 M-LEE22L11/16UNFCF 2 |, 35 19 31 14 33 36 30 32 ORBA7X295X M27x2 160 250 382  M-VEE22LMCF

28 10 47 31 42 17 44 41 36 41 OR23,47X2,95X 15/16-12UN-2A 160 250 751 M-LEE28L15/16UNFCF 28 23200 40 23 35 14 41 41 36 41 OR28X315X  M33x2 160 250 40,6  M-VEE28LMCF
35 [ 59 38 46 17 55 50 50 50 OR3747X3X  15/812UN-2A 160 250 1262  M-LEE35L15/8UNFCF 35 48 27 37 14 51 50 50 50 OR3769X3,53X M422 160 250 729  MVERSLMCF
42 61 38 47 17 55 60 50 55 OR43,69X3X  17/8-12UN-2A 160 250 1480 M-LEE42L17/8UNFCF 42 499 26 37 16 56 60 50 55 OR425X315X M48x2 160 250 81,3  M-VEE42LMCF

6 30 15 20 12 17 17 14 14 OR9,17X1,83X  7/1620UNF2A 400 630 10,7 M-LEE0657/16UNFCF Bl SRR VRS (VORS00 1A Tk ST SOOI 6 AR VTSR

8 32 17 25 12 18 19 19 17 OR11,89%1,98X 9/16-18UNF-2A 400 630 17,7 M-LEE08S9/16UNFCF 8 435 27 12 19 10 20 19 19 19 OR114X21X M14x15 315 500 105 M-VEEOBSMCF
10 ¢ 34 18 26 12 20 22 19 17 OR11,89X1,98X 9/16-18UNF-2A 400 630 19,5 M-LEE10S9/16UNFCF 10 5600 29 13 23 11 23 22 19 22 OR134X21X  M16x1,5 315 500 11,4  M-VEE10SMCF

12 0 38 22 30 14 26 24 22 22 OR1636X221X 3/416UNF-2A 400 630 31,1 M-LEE12S3/4UNFCF 12 33 17 25 12 25 24 19 24 ORI1554X2,62X M18x1,5 315 500 149  M-VEE12SMCF

16 25 34 16 29 30 27 27 OR19,18X2,46X 7/8-14UNF-2A 400 630 42,3 M-LEE1657/8UNFCF 16 250 34 16 30 14 28 30 19 27 OR19,2X3X M22x1,5 250 400 222  M-VEE16SMCF

20 49 28 37 19 37 36 30 32 OR23,47X2,95X 11/16-12UN-2A 400 630 66,7 M-LEE20511/16UNFCF 20 3% 38 16 35 16 33 36 27 32 OR2347X295X M27x2 250 400 40,1  M-VEE20SMCF

25 54 30 50 19 44 46 36 32 QR23,47X2,95X 11/16-12UN-2A 400 630 98,1 M-LEE25511/16UNFCF 25 o B 19 37 16 41 46 36 41 OR28X315X  M33x 160 250 52,1  M-VEE25SMCF

30 20 62 36 50 19 55 50 50 50 OR37,47X3X  15/812UN-2A 250 420 143,8 M-LEE30S15/8UNFCF 30 ;g S0 24 37 17 51 50 50 50 OR3769X3,53X M42x2 160 250 81,7  M-VEE30SMCF
38 13X g5 34 51 19 55 60 50 55 OR43,69X3X  17/8-12UN-2A 250 420 1658 M-LEE38517/8UNFCF 38 5221 38 19 56 60 50 55 OR425X315X M48x2 160 250 92,7  M-VEE3BSMCF
A RERNII RS M-LEE06L7/16UNFOMDCF TS RENNITENRSRAE:  M-VEEOGLMOMDCF
order code of items without nut and DS-Ring for example: ~ M-LEE06L7/16UNFOMDCF order code of items without nut and DS-Ring for example: ~ M-VEEO6LMOMDCF

Page 093 Page 094




A[E#ESL  Adjustable fttings MASIER MASIR A[EREESL  Adjustable fttings

AN
X1) O~ing OR
X1) C-ring CR X2) relaining ring
i 45° A [EiE L — A H R GOBE B W45 ° AT [ Sk —F g 41
Adjustable Lock Nut 45° Elbow Adjustable Lock Nut 45° Elbow
order code: M-VEE-M-OR order code: M-VEE-R
RNEIE 7F OmME MRED ®AIfE B8 me - = -
: : : EA F3/1004 WEIE R Oz MREH BAIE BB A=
pipeOD series | . L. L D S. S. S O-Ring T ordercode : : : ;
1 2 Ly s 3 1 22 (bar) (bar) kgfor% pc. pipeOD series L. L, L, L, D, S, S, S, O-Ring T e E(j;or) @%ﬁ% ordercode
6 29 14 20 7 15 14 14 14 OR8,1X1,6X M10x1 315 420 57  M-VEEO6LMORCF
8 31 16 22 10 18 17 14 17 OR93X22X M12x15 315 420 62  M-VEEOSBLMORCF 6 , 24 9 21 7 15 14 14 14 OR8X188X G1/BA 315 420 50  M-VEEO6LRCF
10 35 32 17 25 10 20 19 19 19 OR11,3X22X M14x1,5 315 420 104  M-VEETOLMORCF 8 315 27 12 20 9 20 17 14 19 OR10,77X2,62X G1/4A 315 420 5,5 M-VEEOSLRCF
12 15600 34 19 26 10 23 22 19 22 OR133X22X MI16x1,5 315 420 140  M-VEE12LMORCF 10 ™9 27 12 25 9 20 19 19 19 OR10,77X2,62X G1/4A 315 420 10,5  M-VEETOLRCF
15 36 21 30 11 25 27 22 24 OR153X22X M18x1,5 315 420 198  M-VEE15LMORCF 12 . 28 14 28 9 23 22 19 22 ORI1394X2,62X G3/8A 250 400 147  MVEE12LRCF
18 40 24 33 12 28 32 27 27 OR193X22X M22x1,5 315 420 260  M-VEE18LMORCF 15 B62sl 32 17 26 13 28 27 22 27 OR17X3X G1/2A 250 400 20,2  M-VEE15LRCF
22 44 28 35 14 33 36 30 32 OR23,6X29X M27x2 160 250 382  M-VEE22LM27X20RCF 18 33 17 32 13 28 32 27 27 ORI7X3X G12A 250 400 26,1 M-VEE18LRCF
281 10 BRI AR IS AT A6 S A OR2D 6X2I0X SN S i SN 160 25008 40,6 SN VEES A MORCE by) 35 19 37 13 33 36 30 36 OR22,5X3X G3/4A 160 250 388  M-VEE22LRCF
35 [2320 50 38 48 14 51 50 50 50 OR38,6X29X M42x2 160 250 72,9 M-VEE35LMORCF 28 40 23 37 15 41 41 36 41 0R283(3 15X GI1A 160 250 50,0 M-VEE28LRCF
42 61 38 49 16 56 60 50 55 OR44,6X29X M48x2 160 250 81,3  M-VEE42LMORCF - 160 : - £
. R R T R TR TR T R T T 35 (2320 48 27 39 15 51 50 50 50 OR37,69X3,53X G11/4A 160 250 71,1 M-VEE35LRCF
10 5 34 18 27 11 23 22 19 22 ORI33X22X MI16x1,5 400 630 114  M-VEE10SMORCF 6 35 24 9 19 9 20 17 14 19 ORI077X2,62X G1/4A 315 500 58  M-VEEOGSRCF
12 ssoq 38 22 31 12 25 24 22 24 OR153X22X M18x1,5 400 630 14,3 M-VEE12SMORCF 8 Ms600 27 12 23 9 20 19 19 19 OR10,77X2,62X G1/4A 315 500 10,6 M-VEEO8SRCF
16 43 25 35 14 28 30 27 27 ORI19,3X2,2X M22x1,5 400 630 22,2  M-VEE16SMORCF 10 20 13 25 9 23 22 19 22 ORI1394X2,62X G3/8A 250 400 12,7  M-VEE10SRCF
20 49 28 39 16 33 36 30 32 OR23,6X29X M27x2 400 630 40,1  M-VEE20SMORCF 12, 33 17 25 9 23 24 19 22 ORI394X262X G3/BA 250 400 156  M-VEE12SRCF
25 315 54 30 44 16 41 46 36 41 OR9,6X29X M312 315 420 521  MVEE2SSMORCF 16 36251 34 16 31 13 28 30 19 27 OR17X3X G1/2A 250 400 226  M-VEE16SRCF
60 20 38 16 34 12 33 36 27 36 OR22,5X3X G3/4A 250 400 30,5  M-VEE20SRCF
30 250 62 36 51 17 51 50 50 50 OR38,6X29X M42x2 250 400 81,7 M-VEE30SMORCF 25 43 19 37 14 41 46 36 41 OR28X3.15X GI1A 250 400 61,5 M-VEE25SRCF
[3625] ;
38 65 34 54 19 56 60 50 55 OR44,6X2,9X M48x2 200 315 92,7  M-VEE38SMORCF il e EEEECINIEI R TS
200 ,6X2, X : - [2320] z
oy 8 52 21 38 15 56 60 50 55 OR44,04X3,53X G11/2A 160 250 90,9  M-VEE38SRCF
— N3 JHYT 1'—|b -— ,_\ : -
ARG FEMAITSALSTE:  M-VEE3BSMOROMDCF ?:—rg]f ;cﬁ%ﬁtﬁ?&ﬁ%&?ut and DS Fing for exsmple:  M-VEE38SROMDCF
order code of items without nut and DS-Ring for example: M-VEE38SMOROMDCF 9 ple:
Page 0925 Page 096




A[Yg#Esk  Adjustable fttings MASI=r® MASI=rR FEEE R

o o L8
VI, R « -
= X1) D1 J—'w"‘.""”“l panl L
B— 11111111 y
_ 3
X1) O-ring OR
182

um45° A [k — R HIR L OB B & &
Adjustable Lock Nut 45° Elbow

order code: M-VEE-UNF

mEsE Rl O sREDRAIF PR S M-F682EDMLO Swivel male stud

pipeOD series | L L, L, D, S, S, S 0O-Ring T : o ordercode . _

S S B I M-ORFS Swivel female end/Male metric thread — ED seal (ISO 9974)

6 24 9 19 10 17 14 14 14 OR9,17X1,83X 7/16-20UNF2A 315 420 57 M-VEE06L7/16UNFCF
D 27 12 19 10 18 17 14 14 OR9,17X1,83X 7/1620UNF-2A 315 420 62 M-VEEO8L7/16UNFCF

10 L 27 12 24 10 20 19 19 17 OR11,89X1,98X 9/16-18UNF-2A 315 420 105 M-VEE10L9/16UNFCF
12 x5 28 14 24 11 26 22 19 17 ORI1,89X198X 9/16-18UNF-2A 315 420 10,1 M-VEE12L9/16UNFCF

12 6% "8 14 24 13 26 22 19 22 OR16,36X2,21X 3/416UNF2A 315 420 147 M-VEE12L3/4UNFCF Tub Thead | Thread | L | e | Weight NGRS B
15 32 17 24 13 29 27 22 22 OR1636X2.21X 3/416UNF2A 315 420 203 M-VEETSL3/4UNFCF e s i (B e e [ A B i 5

18 32 w24 15 29 ¥ D 21 OMGIBARK J/E-13UNFRA 315 @20 180 (MWEEISL7Z/BUNFCE 6 /4 MI12x15 9/16-18 17 17 4 4 39 27 56 M-4M12F682EDMLS 500

18 33 17 30 15 29 32 27 27 OR19,18X2,46X 7/8-14UNF2A 315 420 264 M-VEE18L7/8UNFCF 810  5163/8 M14X15111/16-16 22 | 19 7 5 41 29 73 M-6M14F682EDMLS | 630

18 33 17 30 17 29 32 30 32 OR2347X2,95X% 11/16-12UN-2A 315 420 364 M-VEE18L11/16UNFCF 8,10 5/16,3/8 M16X1,5 11/16-16 24 22 7 7 41 29 85 M-6MI6F682EDMLS 630
= '35 19 33 17 37 36 30 32 OR2347X295X 11/16-12UN-2A 160 250 388 M-VEE22L11/16UNFCF 12 12 M16X1513/1616 24 | 22| 9 7 | 48 | 36 | 109 M-8M16F682EDMLS | 630

28 1 39 23 35 17 44 41 36 41 OR2347X295X 15/16-12UN-2A 160 250 500 M-VEE2BLIS/IGUNFCF 141516 58 M22X15 114 30 27 12 12 53 39 165 M-10M22F682EDMLS 420

35 2320 48 27 37 17 55 50 50 50 OR3747X3X  15/8-12UN-2A 160 250 73,1 M-VEE35L15/8UNFCF 1820  3/4 M27X2 113/16-12 36 32 14 14 58 42 | 282 M-12M27F682EDMLS 420

42 49 26 37 17 55 60 50 55 OR4369X3X  17/8-12UN-2A 160 250 81,5 M-VEE42L17/8UNFCF 0225 |1 ‘M33X2 17/1612 41 41 20 20 68 50 467 M-16M33F682EDMLS 420
6 24 9 18 12 17 17 14 14 OR9,17X1,83X 7/16:20UNF-2A 400 630 65 M-VEE06S7/16UNFCF 283032 1174 M42X2 111/1612 50 | 50 | 26 25 |70 | 50 | 635 |M-20M42F682EDMLS 350

8 27 12 21 12 18 19 19 17 OR11,89X1,98X 9/16-18UNF2A 400 630 106 M-VEEO8S9/16UNFCF 3538 11/2  M48X2 212 60 55 32 32 72 50 885 M-24M48F682EDMLS 280

10 5 29 13 21 12 20 22 19 17 OR11,89X1,98X 9/16-18UNF-2A 400 630 11,5 M-VEE1059/16UNFCF

12 4033 17 22 14 26 24 22 22 OR16,36X2,21X 3/416UNF2A 400 630 17,1 M-VEE1253/4UNFCF

[5800] M-ORFS is delivered with NBR elastomeric seals as standard.

16 34 16 29 16 29 30 27 27 OR19,18X2,46X 7/8-14UNF-2A 400 630 266 M-VEE1657/8UNFCF _
20 38 16 31 19 37 36 30 32 OR2347X2,95X 11/1612UN-2A 400 630 40,7 M-VEE20S11/16UNFCF Part numbers shown are part of our current manufacturing programme.
25 54 30 33 19 44 46 36 32 OR23,47X2,95X 11/16-12UN-2A_ 200 630 558 M-VEE25511/16UNFCF Imperial and metric parts may vary in hexagon dimensions.

30 250 50 24 35 19 55 50 50 50 OR37,47X3X  15/8-12UN-2A 250 420 819 M-VEE30S15/8UNFCF PN1(gar)=PN(MPa)

38 B63 57 21 35 19 55 60 50 55 OR43,69X3X 17/8-12UN-2A 250 420 92,9 M-VEE38517/8UNFCF

Pressure ratings — PN shown, apply to Steel versions of the product.

AHBERENPITHEASRE:  M-VEE38517/8UNFOMDCF
order code of items without nut and DS-Ring for example: M-VEE38517/8UNFOMDCF

Page 097 Page 098




| S 'r-!-:i‘ -.-\‘
MASIEr MASIErR FEEHES
M 52*
JJ
. D \l'
______ ) — = L DI
N
XX
N - L30 | ( D
v B1 L29
: 53
S T87
D2 [ M
— <20
*Across Hex Flats
M-C870MLO Male stud elbow
M-ORFS tube end/Male metric thread - O-ring (I1SO 6149-2)
SAE 52M0287 150 8434-3 SDE
Tub Thread Thread Weight
0.D. tri UN/UNF-2B B1 D | D2 | U M N XX (steel) M-ORFS PN (b =
mm in. mTeEB;Ic T mm mm | mm mm mm | mm mm g/ﬁﬁiice Steel S{an M CC87OMLO EXtended male StUd erOW
6 1/4 M10X10 9/16-18 14 5 3 14 22 3 21 50 M-4M12F682EDMLS 420 . .
6 /4 M12x15 91618 17 | 5 | 4 14 | 22 | 33 22 | 52 |M-4M12F682EDMLS | 420 M-ORFS tube end/Male metric thread - O-ring (ISO 6149-2)
6 1/4 M14X1.5 9/16-18 19 5 6 14 24 36 25 55 M-4M12F682EDMLS 420
8,10 5/16,3/8 M12x1.5 11/16-16 17 | 7 | 4 19 25 | 36 | 25 | 60 M-6M14F682EDMLS | 420 SAE52M1587 150 8434-3 SDEL
8,10 5/16,3/8 M14x15 11/16-16 19 7 6 19 25 | 36 25 60 M-6M-M16F682EDMLS 420
8,10 5/16,3/8 M16X1.5 11/16-16 22 7 7 119 25 | 38 | 27 65 M-6M16F682EDMLS 420 v — e Weiaht
= @ ube rea rea eig
12 1/2 M14x%1.5 13/16-16 19 10 6 19 28 36 25 150 M-8M16F682EDMLS 420 oD, s UN/UNE2A | D1 (D20 | 17 1129 1130 |52 |s3 (steel) e PN
12 1/2 M16X1.5 13/16-16 22 | 10 7 19 | 28 | 38 | 27 92 M-8M16F682EDMLS 420 mm in. M D mm |mm |mm | mm | mm| mm| mm |g/ piece Steel (bar)
12 1/2 M18x1.5 13/16-16 24 10 9 19 28 4 27 161  M-8M16F682EDMLS 420
T T T T T T T T 6 1/4 M12X1.5 9/16-18 5 4 | 2 56 | 45| 14 | 17 44 M-4M12CC870MLOS | 420
111516 L M22x1.5 13/16-16 27 | 10 (12 27 31 49 35 = 200 M-8M16FGB2EDMLS 420 8,10 |5/16,3/8 | M14x15 | 111616 | 7 | 6 |25 | 56 | 45 | 17 | 19 51 |M-6M14CC870MLOS | 420
15,10/ 5/8  M18X15 114 | 24 | 13 | 9 27 | 33 48| 36 | 190 |M-10M22F682EDMLS | 420 8,10 | 5/16,3/8 | M16X1.5 | 1171616 | 7 | 7 |25 | 67 | 54| 17 | 22 51 |M-6M16CC870MLOS | 420
14,1516 5/8 M22x1.5) 114 27 |13 (12 27 33 49 34 214 |M-10M22F682EDMLS 420 12 1/2 M18%<1.5 | 13/16-16 | 10 | 9 [ 28 | 75| 61| 19 [ 24 150  |M-8M18CC870MLOS | 420
18,20  3/4 M22x1.513/16-12 27 16 12 30 | 37 50 35 390  M-12M27F682EDMLS 420 12 1/2 M22X1.5 13/16-16 | 10 |12 | 31 | 88 | 73| 27 | 27 150 [M-8M22CC870MLOS | 420
18,20 3/4 M27x2 13/16-12 32 (16 |15 30 | 37 | 56 | 40 440  |M-12M27F682EDMLS | 420 14,15,16 5/8 M22x1.5 1-14 13 [ 12 | 34 | 88 | 73| 27 | 27 160 m—1gm%2ggg78mtgg 420
2225 1 M33x2 17/16-12 41 21 20 36 42 59 43 501  M-12M27F682EDMLS 420 18,20 3/4 M27x2 13/16-12 |16 | 15 | 38 | 101 | 82 | 27 | 32 290 -1 7CC87 420
283032114 [ Ma3x2 N11/1612 41126 [20 a1 [as [ 62[ 46 [ 530 [M-1GM33FGSIEOMLS [ 350 o8y PN 1757 0 2 T A .06 MY
28,30,32 11/4 M42x2 111/16-12 50 26 26 41 45 63 46 561 M-20M42F682EDMLS 280 S ‘
3538 11/2  M48x2 212 55 /32 |32 50 |49 72 | 53 684  M-24M48F682EDMLS 280
i i . i M-ORFS is delivered with NBR elastomeric seals as standard.
NY-ORES (s delivered with NBR elastomeric sealsas stanc!ard. Part numbers shown are part of our current manufacturing programme.
Part numbers shown are part of our current manufacturing programme. Imperial and metric parts may vary in hexagon dimensions
Imperial and metric parts may vary in hexagon dimensions. P P e g )
PN (bar) PN (bar) _p (mpa)
S5 =PN (MPa) 10
Pressure ratings — PN shown, apply to Steel versions of the product.
Page 099 Page 100




P B S MAST=re MASTEre FEEHEX

. M
A rD M
—— JJ
XX é{& —
N ] T |
-~ 72 |

M-C50MLO Male stud elbow Y
M-ORFS tube end/Male UN/UNF thread — O-ring (ISO 11926)

SAE 520220 BLE*]T

|
= _»:}_—\_ |

Tube Thread Thread Weight PN (bar) D2 ‘
0.D. UN/UNF-2A UN/UNF-2A| B1 D | D2 | JJ | M | N | XX |(steel) M-ORFS |
mm in. 15 T mm mm mm mm mm | mm mm g/lpiece Steel S T5
6 1/4 7/16-20 9/16-18 16 5 5 14 22 33 22 53 M-4 C50L0-S 420 SR
6 1/4 9/16-18 9/16-18 | 19 5 8 19 24| 37 25 66 | M-4-6C50MLOS 420
6 1/4 3/4-16 9/16-18 24 5 10 19 25 41 27 67 M-4-8 C50L0-5 420
8,10 5/16,3/8 9/16-18 11/16-16 19 7 8 19 25| 37 25 68 M-6C50MLOS 420
8,10 5/16,3/8 7/16-20 11/16-16 16 7 5 19 25 35 24 57 M-6-4 C50L0-5 420
8,10 5/16,3/8 3/416 11/1616 24 7 10 19 27| 41 27 | 105 M-6-8C50MLOS 420
8,10 5/16, 3/8 7/8-14 11/16-16 | 27 7 12 22 29 50 34 196  M-6-10 C50L0O-S 420

8,10 5/16,3/8 11/16-12 | 11/16-16 | 36 7 16 27 33 55 37 250  M-6-12 C50L0O-S 420

12 12 3416 131616 24 10 10 19 28 41 27 164 M-8CS50MLOS 420
12 1/2 9/16-18 13/16-16 | 19 10 7 19| 28| 37| 25 81 M-8-6 C50L0-S 420 &
12 1/2 7/8-14 13/16-16 | 27 10 13 ‘ 27 3 50‘ 34 187 - M-8-10C50MLOS 420 M CCSOLO EXtended male StUd EIbOW
12 | 12 | 1171612 13/16-16 | 36 10 15 30 36 55 37 | 201 M-812C50L0-5 = 420 M-ORFS tube end/Male UN/UNF thread — O-ring (ISO 11926)
14,15,16 5/8 7/8-14 1-14 27 13 13 27 33 50 34 214 | M-10C50MLOS 420 SAE 521520
14,1516 5/8 | 3/4-16 114 | 24113 10 27 33 46 32 | 175 M-10-8C50L0-5 | 420
14, 15,16 5/8 11/16-12 1-14 35 13 16 30 36 55 37 248 M-10-12 C50LO-S 420
18,20 3/4 11/16-12  13/16-12| 36 | 16 16 30 37 55 37 442 M-12C50MLOS 420 Tub Thread Thread Weidht
T 1 1 1 ube rea rea elg
18, 20 3/4 7/8-14 13/16-12 | 27 16 13 30 37 51 35 296 M-12-10C50MLOS | 420 mm in. 15 T mm | mm [ mm | mm | mm | mm | mm | g/1 piece Steel S
1820 | G 1371612 190612 | 4L | 18 ) 56 &1 60 A1 |36  W-1216C0L0S5 | G 6 | w4 [ 71620 | 9/1618 | 16| 5 | 5 | 14|22 [ 57 46 | 44 | M4CC50L0S | 420
225250 1 151612 17/16-12 | 41 | 21| 21 37| 42 60 41 | 502 M-16 C50LO-S | 380 8,10 5/16, 3/8 9/16-18 11/16-16 19 7 7 19 | 25 66 | 54 51 M-6 CC50L0-S 420
22,25 1 111612 171612 35 21 16 |37 | 42 59 40 473 M-16-12C50L0-S 420 12 12 . 3/4-16 13/16-16 | 24 |10 | 10| 19| 28 | 75| 61 | 146 | m-8ccsoLos | 420
22,25 1 15/812  17/1612 48 21 26 41 45 62 44 580 M-16-20C50L0-S 280 14,1516 | 58 | 7/814 | 114 | 27 |13 [ 13|27 [ 33 |9 | 73| 159 | M-10CC50LO-S | 420
28,30,32 11/4 15/8-12 111/16-12 48 26 26 41 45 62 44 563 M-20 C50L0-S 280 18,20 3/4 11/16-12 13/16-12 36 | 16 | 16 | 30 37 | 101 82 291 M-12 CC50LO-S 420
28,30, 32 11/4 15/16-12 111/16-12 41 | 26| 22 |41 | 45 62 | 43 563 M-20-16C50MLOS | 380 22,25 1 15/16-12 17/16-12 41 21 21 36 42 | 115 96 481 M-16 CC50L0-S 380
28,30, 32 11/4 17/8-12 111/16-12| 54 | 26 | 32 |48 | 49 66 | 47 764 M-20-24 C50LO-S 280
35,38 11/2 17/8-12 2-12 54 32 32 48 | 49 66 47 689 M-24 C50LO-S 280 M-ORFS is delivered with NBR elastomeric seals as standard.
35,38 11/2 15/8-12 2-12 48 | 32 26 | 48| 49 66 @ 47 644 M-24-20 C50LO-S 280 Part numbers shown are part of our current manufacturing programme.
50 2 21/2-12 21/2-12 70 45 40 64 70 78 59 2200 M-32 C50L0-S 170 Imperial and metric parts may vary in hexagon dimensions.
PN ®an) _ py (mpa)
M-ORFS is delivered with NBR elastomeric seals as standard. 0

Part numbers shown are part of our current manufacturing programme.

Imperial and metric parts may vary in hexagon dimensions.

PN (bar)
10

Pressure ratings — PN shown, apply to Steel versions of the product.

=PN (MPa)

Page 101 Page 102




FE TR MAST=re FEREHES

J)

M-C40MLO Male stud elbow
M-ORFS tube end/Male BSPP thread O-ring + retaining

1/8 9/16-18 14 5 4 14 22 30 22 49

Tube Threa Thread Weight
0.D. BSPP |UN/UNF-2A| B1| D | D2| JJ| M| N| XX (steel) M-ORFS PN (bar)
mm in. T4 T mm | mm| mm| mm| mm| mm| mm |g/1 piece Steel S
s | 178 | 9/1618 | 14| 5 | 4 | 14| 22] 30| 22| 49 |  4C4OMLOSS | 250 M-C80OMLO Male stud elbow
6 1/4 1/4 9/16-18 | 19| 5| 8 | 19| 24| 36| 25 93 4-4C40MLOSS 250 . : P :
. T 38 | 91618 | 22| 5| 10| 19| 25| 38| 27| 99 | ascaomioss | 250 M-ORFS tube end/Male metric thread — O-ring + retaining ring
810 | 5/163/8| 1/4 | 11/16-16 | 19 [ 7 | 8 | 19| 5| 36| 25 | 97 |  6C4OMLOSS | 250
810 |5/163/8| 1/8 | 11/16-16 | 14| 7 | 5 | 19| 25[ 32| 24| 62 6-2C40MLOSS 250
8,10 5/16,3/8 3/8 11/16-16 | 22 | 7 | 10| 19| 27( 38| 27 106 | 6-6C40MLOSS 250
810 |5163/8| 1/2 | 11/1616 | 27 | 7 | 13| 27| 29| 49| 34| 120 | 6-8C4OMLOSS | 250 Tube Thread Thread Weight
12 1/2 3/8 13/16-16 | 22 | 10| 10 | 19| 28| 38| 27 108 8C40MLOSS 250 0D. metric UN/UNF-2A [ B1 | D |D2 | J | M N | XX (steel) M-ORFS PN
12 1/2 1/4 13/16-16 | 19| 10| 8 | 19| 28| 36| 25 99 8-4C40MLOSS 750 mm in. T8 T mm | mm | mm|mm | mm | mm| mm | g/1piece Steel (bar)
12 1/2 3/4 13/16-16 | 36 | 10| 16 | 30| 34| 52| 37 258 8-8C40MLOSS 250 6 1/4 M12X1,5 9/16-18 17 | 5 4 14| 22| 33|23 52 M-4M12C80MLOS 250
12 12 172 | 13/16-16 | 27 | 10| 12| 27| 31| 49| 34| 239 | 8-12C40MLOSS 250 6 1/4 | M14X15 | 91618 |17 |5 | 6 | 14| 24| 36 |24 | 58 | M-4M14C80MLOS | 250
141516 | 58 | 12 | 114 | 27| 13| 12| 27| 33| 49| 34| 274 | 10caomLOss | 250 8,10 | 5/16,3/8 | M14X1,5 | 11/16-16 (17 | 7 |6 | 19 | 25| 36 | 24 62 | M-6M14C80OMLOS | 250
' 14,15,16 5/8 3/8 1-14 22| 13|10 27| 33| 3] 31 235 | 10-6C40MLOSS 50 8,10 5/16,3/8 | M16X1,5 11/16-16 19 | 7 7i 19 | 25 | 38 | 26 65 M-6M16C80MLOS | 250
141516 | 5/8 34 114 | 36| 13| 16| 30| 36| 52|37 | 352 |10-12C40MLOSS | 250 12 | n M16X1,5 | 13/1616 |19 [ 10 | 7 | 19| 28 | 38 | 26 82 | M-8M16CBOMLOS | 250
14.15.16 5/8 1 1-14 21| 13| 22| 36| 40| 58| 41 382 | 10-16C40MLOSS 250 12 1/2 | M18X1,5 | 13/16-16 22 |10 | 9 19 | 28 | 41 | 29 161 M-8M18C8OMLOS | 250
18,20 3/4 34 | 131612 | 36| 16| 16 | 30| 37| 52| 37| 355 12C40MLOSS | 250 14,15,16 | 5/8 | M18X1,5 | 1-14 [22 [13 |9 | 27| 33| 48|33 | 18 [M-10MI8CBOMLOS| 250
1820 3/4 12 131612 | 27 | 16| 12| 30| 37| 50| 35 297 | 12-8C40MLOSS 250 14,15,16 | 5/8 | M22X1,5 | 1-14 | 27 |13 |12 | 27| 33 | 49 | 35 214 | M-10M22C80OMLOS | 250
18.20 374 1 1771612 | 41| 161 22 | 36| a1l 58] a1 362 | 12-16C40MLOSS 750 18,20 3/4 | M27X2 | 13/16-12 |32 | 16 | 15 | 30 | 37 | 56 | 39 440 M-12M27C80MLOS | 250
22,25 1 1| 171612 | 41| 21| 22| 36| 42| 58| 41| 551 | 16C4OMLOSS | 250 22,25 | 1 MR (716 THR FRe ) ROV PO (F 6 PR N et AT N SU TR T e e D MO T
22,25 1 34 | 171612 | 36 | 21| 16 | 36 55| 41 | 533 | 16-12C4OMLOSS | 250 28,30,32| 11/4 M42X2 | 111/1612 | 50 | 26 | 26 | 41 | 45 | 63 | 46 | 561 | M-20M42CBOMLOS | 140
= 42 35,38 11/2 M48X2 2-12 55 | 32 | 32 | 50| 49 | 72 | 49 684 M-24M48C80MLOS | 140
2225 1 11/4 | 17/1612 | 50 | 21| 28 | 41| 45| 61| 44 | 758 |16-20C40MLOSS | 210
~28,30,32 1174 1174 1 111/16-12| 50 | 26| 28 | 41| 45| 61| 44 752 20C40MLOSS 210 M-ORFS is delivered with NBR elastomeric seals as standard.
28,30,32 11/4 1 1111612 | 41| 26| 22 | 41| 45| 61| 44 712 | 20-16C40MLOSS 250 Part numbers shown are part of our current manufacturing programme.
28,3032 | 11/4 11/2 | 111161 | 55 | 26| 33 | 50| 49| 65| 47 | 821 | 20-24C40MLOSS 140 mpecial s ietre parts mayvary i hexagon:imensions.
35,38 11/2 11/2 2-12 55| 32| 33| 50| 49| 65| 47 | 953 24C40MLOSS 140 PN1(gar)=pN(Mpa)
M-ORFS is delivered with NBR elastomeric seals as standard.
Part numbers shown are part of our current manufacturing programme.
Imperial and metric parts may vary in hexagon dimensions.
PN (bar) _ py (mpa)
10
Pressure ratings — PN shown, apply to Steel versions of the product.
Page 103 Page 104




AAAA,

M-V870MLO 45° male stud elbow

M-ORFS tube end/Male metric thread — O-ring (ISO 6149-2)

SAE 52M0387 1SO 8434-3 SDE45
Tube Thread Thread Weight
0.D. metric UN/UNF-2A B1 D D2 JJ P Q XX (steel) M-ORFS PN (bar)
mm in. T87 T mm mm mm mm mm mm mm g/1 piece SteelStainless S
6 1/4 M12x1.5 | 9/16-18 17 5 4 14 16 30 19 44  M-4M12V870MLOS 420
8,10 5/16,3/8 M16ex1.5 11/16-16 22 7 7 19 19 33 19 82 M-6M16V870MLOS6 420
12 1/2 M18x1.5  13/16-16 24 10 9 19 20 37 23 110 M-8M18V870MLOS8 420
14,15,16  5/8 M22 x1.5 1-14 27 13 12 27 23 43 29 190 M-10M22V870MLOS 420
18,20 3/4 | M27X2 | 13/16-12 32 16 15 30 26 50 32 288 M-12M27V870MLOS 420
22,25 1 | M33x2 | 17/16-12 |41 |21 20 | 36| 30 52 34| 300 M-16M33V870MLOS | 420
28,30,32 11/4 M42x2  111/1612 50 26 26 41 32 54 35 444 M-20M42V870MLOS = 280
35,38 11/2 M48 X2 2-12 55 32 32 50 37 56 35 569 M-24M48V870MLOS 280

M-ORFS is delivered with NBR elastomeric seals as standard.

Part numbers shown are part of our current manufacturing programme.

Imperial and metric parts may vary in hexagon dimensions.
w = PN (MPa)

Pressure ratings — PN shown, apply to Steel versions of the product.

Page 105

M-V50MLO45° male stud elbow
M-ORFS tube end/Adjustable UN/UNF thread O-ring (ISO 11926)

SAE 520320
Tube Thread Thread Weight
0.D. UN/UNF-2AUN/UNF-2A B1| D | D2| JJ | P | Q | XX |(steel) M-ORFS PN (bar)
mm in. 15 T mm mm | mm [ mm| mm |[mm| mm |g/1 piece Steel 5
6 1/4 7/16-20 | 9/16-18 [ 16 | 5 5 |14 ]16|30] 19 | 45 M-4V50MLOS 630
6 | 1/4 | 91618 | 9/16-18| 19 | 5 | 8 |19 | 17 33| 21 | 76 |M-4-6V50LO-S 630
8,10 _5/16,3/8_ 9/16-18 | 11/16-16 | 19 | 7 8 |19 19|33 21 83 |M-6V50LO-S 630
8,10 [5/16,3/8| 7/16-20 [11/16-16| 16 | 7 | 5 |19 | 19|31 | 20 | 64 |M-6-4V50LO-S 630
8,10 |5/16,3/8| 3/4-16 | 11/16-16| 24 | 7 10 (19 | 19| 36| 23 96 M-6-8 V50L0-5 630
12 1/2 3/4-16 13/16-16| 24 | 10 | 10 |19 | 20 | 36 | 23 117 M-8V50MLOS 630
12 [ 12 | 91618 |1316-16] 19 [10 | 7 |19 20 32] 20 | 71 [M-86V50LOS 630
12 1/2 7/8-14 | 13/16-16| 27 [ 10 | 13 |27 | 21 [ 45| 29 | 147 |M-8-10V50LO-S 420
14,15,16 5/8 7/8-14 1-14| 27 |13 | 13 |27 | 23 | 45| 29 194 M-10V50L0-S 420
14,15,16| 5/8 3/4-16 11424 |12 10 [27 [ 23 [ 40| 27 | 192 |M-10-8 V50LO-S 420
14,15,16| 5/8 11/16-12 1-14|36 |12 | 16 (30 | 24 | 50 | 32 | 207 M-10-12V50LO-S 420
18, 20 3/41 1/16-12 [ 13/16-12 |35 | 16 | 16 [30 | 26 | 50 | 32 294 M-12 V50L0-S 420
18,20 3/4 7/8-141 3/16-12 1 27 | 16 | 12 [30 | 26 | 46| 30 219 M-12-10 V50L0-S 420
18,20 3/4 15/16-12 | 13/16-12| 41 [ 16 | 21 |37 | 30 [ 52 | 34 322 M-12-16 V50LO-S 420
22,25 1 15/16-12 | 17/16-12| 41 | 21 | 21 |37 | 30 | 52| 34 394 M-16 V50L0-5 420
22,25 1 11/16-12 | 17/16-12{ 36 | 21 | 16 |36 | 30 | 52 | 33 | 337 [M-16-12V50MLOS 420
22,25 1 15/8-12 | 17/16-12| 48 | 21 | 31 |41 | 32 | 54| 35 | 511 M-16-20 V50LO-S 420
28,30,32| 11/41 5/8-12 [111/16-12| 48 | 26 | 26 |41 | 32 | 54 | 35 | 447 |M-20V50LO-S 350
35,38 | 11/21 7/8-12 2-12 54 [ 32|32 [48 | 37 | 54| 35 | 571 M-24 V50L0-S 280

M-ORFS is delivered with NBR elastomeric seals as standard.
Part numbers shown are part of our current manufacturing programme.

Imperial and metric parts may vary in hexagon dimensions.

PN (bar)

———— =PN (MPa)

10

Pressure ratings — PN shown, apply to Steel versions of the product.

Page 106




PR MASI=re MASIEre FEEEX

M-V40MLO 45° male stud elbow
M-ORFS tube end/Adjustable BSPP thread O-ring + retaining ring (ISO 1179)

V8OMLO 45° male stud elbow

Tube Thread Thread
0.D. BSPP [UN/UNF-2A| B1 | D (D2 [JJ | P | Q [XX M-ORFS PN (bar)
mm in. T4 T mm | mm mm |mm | mm| mm | mm Steel 5 M-ORFS tube end/Male metric thread - O-ring + retaining ring
6 1/4 - 1/8 9/16-18 | 14 | 5 4 |14 [ 16 | 28 | 19 | M-4V40MLOS | 250
6 | 14 | 14 91618 | 19 | 5 | 8 |19 17 | 33 | 21 | M-4-4V40MLOS | 250

8,10 5/16,3/8 1/4 11/16-16 | 19 7 8 |19 19 | 32 | 21 | M-6V40MLOS 250

8,10 5/16,3/8 3/8 11/16-16 | 22 il 10 | 19| 19 | 34 | 23 | M-6-6V40MLOS 250 Tube Thread Thread Weight

8,10 5/16,3/8 172 | 111616 | 27 7 12 | 27| 19 | 43 | 28 | M-6-8V40MLOS 250 0.D. metric UN/UNF-2A | B1 D (D2 | JJ P Q |XX (steel) M-ORFS PN
12 /2 | 3/8 | 13/16-16 | 22 |10 | 10 | 19| 20 | 34 | 23 | M-8V40MLOS | 250 mm in. T8 T mm | mm|{mm | mm | mm| mm|mm | g/1 piece Steel (bar)
14,15,16 58 | 12 | 114 27 |13 |12 | 27| 23 | 43 | 29| M-10V40MLOS | 250 6 1/4 M12x1.5 9/16-18 17 5 4114 16] 30| 20 44 M-4M12V80MLOS 250
14,15,16)  5/8 344 | 1-14 |36 |13 | 16 {30 24| 46 | 31| M-10-12V40OMLOS| 250 10 | 38 |[Mmiexis | 1171616 | 19| 7| 7119 19[ 33| 22| 82 | M-6M16V8OMLOS | 250

18,20 3/4 3/4 13/16-12 36 16 16 30 26 46 31 | M-12V40MLOS 250 12 1/2 M’|4x‘|_5 13/16-16 17 10 6 19 20 31 20 92 M- 8M14V80OMLOS 250

18,20 34| 1 13/16-12 | 41 |16 | 22 | 36| 30| 51 | 34| M-12-16V4OMLOS | 250 12 12 M18X15 | 13/1616 | 22 | 10| 9| 19| 20| 37 | 25 110 | M-8M18VBOMLOS | 250

22,25 1 1 17/1612 | 41 | 21 | 22 | 36| 30 | 51 | 34| M-16VAOMLOS 250 14,1516 | 58 | M18x15 | 1-14 27 [ 13| 9|27 24|43 |30 160 |M10MI8YBOMLOS | 250
800 20 17 S 10 6 s 2 B 2 A 2 SR | M SOV MEDS 20 14,1516 | 58 | M22x15 |  1-14 27 [13 |12 | 27 | 23 |43 [ 30| 190 | Mm10M22vBOMLOS | 250

3538 | 12 | M2 | 212 |55 |32 | 33|50 37] 52| 35| M-24v40MLOS | 140 18,20 34 | M27x2 13/1612 |32 |16 | 15 |30 | 26 | 50 | 34 | 288 | M-12M27V8OMLOS | 250
M-ORFS is delivered with NBR elastomeric seals as standard. 22,25 1 M33x2 17/16-12 38 21 20 36 30 52 36 300 M-16M33V80OMLOS 140
Part numbers shown are part of our current manufacturing programme. 028,30,32 | 11/4 | M42X2 | 111/16-12 |50 |26 |26 |41 | 32 | 54 | 37 | 444 M-20M42V8OMLOS | 140
Imperial and metric parts may vary in hexagon dimensions. 35, 38 11/2 M48x2 2-12 55 | 32 | 32 | 50 | 37 | 56 | 37 568 M-24M48V8OMLOS 140
ENibat). = PN (MPa) M-ORFS is delivered with NBR elastomeric seals as standard.

10 Part numbers shown are part of our current manufacturing programme.
Pressure ratings — PN shown, apply to Steel versions of the product. Imperial and metric parts may vary in hexagon dimensions.

PN1(§a’) =PN (MPa)
Page 108

Page 107




PEEHEL MASIEr MAST=r FEREHREX

_JJ [ >
‘F‘ITT‘A\T I I“AIT‘W?Y — D
W ! [ Y
II\IHM_I‘ e | \!IH|\|‘
IL10L) I I N I (i1 S
A J | |",+

S50MLO Male stud branch tee
M-ORFS tube end/Adjustable UN/UNF thread O-ring (I1SO 11926)

S870MLO Male stud branch tee
M-ORFS tube ends/Adjustable metric thread — O-ring (ISO 6149) SAE 520429

SAE 52M0489 SO 8434-3 SDBT

Tube Threa Thread Weight
0.D. UN/UNF-2A [UN/UNF-2A| B1 | D | D2| JJ| M| N [ XX | (steel) M-ORFS Ll
Tube Thread Thread Weight PN(bar) mm | in. T5 T mm | mm |mm |mm | mm | mm [mm |g/1 piece Steel S
0D. metric [UN/UNF-2A | BT | D {D2 | JJ | M | N | XX| (steel) M-ORFS 6 1/4 77620 | 9/1618 | 16 | 5 | 5 | 14 | 22 | 33 | 22| 67 M- 4 S50L0-S 420
mm | . o LT o fom I g ipmig T peenl o - 810 [5/16,38| 9/16-18 | 11/16-16| 19 | 7 | 8 [19 25| 37| 25| 131 | M6SSOMLOS | 420
6 | 1/4 | M12x1.5| 9/16-18 [17 |5 |4 |14 |22 [33 |22 | 66 |M-4M12S870MLOS | 420 8,10 |5/16,3/8] 3/416 | 11/16-16 |24 |10 |10 | 19| 26 | 41| 27| 160 M-6-6-8 S50LO-5 420
8,10 5/16,3/8) M16x1.5| 11/16-16 |22 |7 7 19 |25 |37 |27 131 M-6M165870MLOS 420 12 1/2 3/4-16 13/16-16 | 24 |10 |10 | 19 | 28 | 41| 27 187 M-8 S50L0-S 420
12 172 | M18x15] 13/16-16 |24 |10 |9 |19 |28 |41 |27 | 187 |m-8m185870MLOS | 420 13,1516 | 5/8 | 7/814 | 114 |27 |13 |12 | 27 | 33| 50| 34| 279 M-10 550L0-5 T 420
14,15,16 5/8 M22x1.5 1-14 27 |13 |12 |27 |33 |49 |34 283 M-10M225870MLOS 420 18,20 | 3/4 11/16-12 | 13/16-12 , 36 (16 |16 | 30 | 37 | 55| 37 441 M-12 S50L0-S I 420
18,20 | 3/4 | M27x2 | 13/16-12(32 |06 |15 |30 |37 |55 [37 | 549 |M-12M275870MLOS| 420 18,20 3/4 | 151612 | 13/16-12| 42 |18 |21 |37 | 42| 60| 41| 500 M-12-12-16 S50L0-S 380
22,25 1 | M33x2 | 177161241 |21 |20 |36 |42 |59 |41 | 565 |M-16M335870MLOS| 420 2% 1| 151612 | 171612 | 41 |21 |21 | 37| 42| 60| 41] 539 M-16 550L0-5 380
28,30,32| 11/4 | M42x2 | 111/16-12|50 |26 |26 |41 |45 |62 |44 | 824 |m-20m425870MLOS| 280 28,30,32 | 11/4 | 15/812 |111/16-12| 48 |26 | 26 | 41 | 45| 62| 44| 851 M-20850L0- | 280
35,38 11/2 | M48X2 2-12 59 |32 |32 |48 | 49 |69 |48 940 M-24M485870MLOS 280 35,38 11/2 17/8-12 2-12 54 |32 |32 | 48| 49| 66| 47 942 M- 24 S50L0-S 280
M-ORFS is delivered with NBR elastomeric seals as standard. M-ORFS is delivered with NBR elastomeric seals as standard.
Part numbers shown are part of our current manufacturing programme. Part numbers shown are part of our current manufacturing programme.
Imperial and metric parts may vary in hexagon dimensions. Imperial and metric parts may vary in hexagon dimensions.
PRa0) — oy apa) NG _py
Pressure ratings — PN shown, apply to Steel versions of the product. Pressure ratings — PN shown, apply to Steel versions of the product.
Page 109 Page 110




PEEEE MASI=r MASI=R FEEH S

XX XX

YV M - D2

M-R40OMLO Male stud run tee M-R8OMLO Male stud run tee
M-ORFS tube ends/Adjustable BSPP thread O-ring + retaining ring (1SO 1179) M-ORFS tube end/Adjustable metric thread — O-ring + retaining ring
Tube Threa Thread Weight Tube Threa Thread Weight
0.D. BSPP  UN/UNF2A B1 D D2 JJ M N XX (steel M-ORFS PN (bar) 0D. BSPP UN/UNF-2A- B1 D D2 JJ M N XX  (steel) M-ORFS PN (bar)
mm  in. T4 T mm mm mm mm mm mm mm g/l piece Steel 5 ol ik 18 T mm mm mm mm mm mm mm  g/1 piece Steel 5
6 1/4 1/8 9/16-18 14 5 4 14 22 30 22 69 M-4R40MLOS 250 6 1/4 M12x1.5 9/16-18 17 5 4 14 22 33 23 66 M-4M12R80MLOS 250
6 1/4 1/4 9/16-18 19 5 8 19 24 36 25 97 M-4-4-4R40MLOS 250 810 5/16,3/8 Mi6x1.5 11/16-16 19 7 7 19 25 38 26 131 M-6M16R80MLOS 250
8,10 5/16.3/8 1/4 11/16-16 19 7 8 19 25 36 25 127 M-6R40MLOS 250 12 1/2 M18x1.5 13/16-16 22 10 9 19 28 41 29 187 M-8M18R80MLOS 250
8,10 5/16.3/8 3/8 11/16-16 22 7 10 19 27 38 27 126 M-6-6-6R40MLOS 250 14,15,16 5/8 M22x1.5 1-14 27 13 12 27 33 49 35 283 M-10M16R80MLOS 250
12 1/2 3/8 13/16-16 22 10 10 19 28 38 27 146 M-8R40MLOS 250 18,20 3/4 M27x2 13/16-12 32 16 15 30 37 55 39 550 M-12M27R80MLOS 250
12 1/2 12 13/16-16 27 10 12 27 31 49 34 174 M-8-8-8R40MLOS 250 22,25 1 M33x2 17/16-12 38 21 20 36 42 59 43 566 M-16M16R80MLOS 140
14,15,16 5/8 12 1-14 27 13 12 27 33 49 34 288 M-10R40MLOS 250 28,3032 11/4 M42x2 111/16-12 50 26 26 41 45 63 46 824 M-20M42R80MLOS 140
16 3/4 1-14 3 13 16 30 36 52 37 314 M-10-12-10R40MLOS 250 3538 11/2 M48x2 2-12 55 32 32 48 49 69 49 940 M-24M48R80MLOS 140
1820 3/4 3/4 13/1612 36 16 16 30 37 52 37 531 M-12R40MLOS 250 - . .
1820 3/4 1 13/16-12 41 16 22 36 41 58 41 559 M-12-16-12R40MLOS 250 g::iz:;:r‘:"sfcﬁ‘:::hpr:ftR;'::tr°c"l]fr!:‘:':nzsf:z:s::;d';mgmmme
22,25 1 1 17/16-12 41 21 22 36 42 58 4 553 M-16R40MLOS 250 I el S e G iy ary I HEaon dieREions
28,3032 11/4 11/4 111/16-12 50 26 28 41 45 61 44 824 M-20R40MLOS 210
3538 11/4 1172 212 55 32 32 50 19 65 47 940 M-24R40MLOS 140 wﬂn (MPa)
M-ORFS is delivered with NBR elastomeric seals as standard.
Part numbers shown are part of our current manufacturing programme.
Imperial and metric parts may vary in hexagon dimensions.
PN (bar) _
10 =PN (MPa)
Pressure ratings — PN shown, apply to Steel versions of the product.
Page 111 Page 112

OSSOSO




FEBEE MAS=ro MASIer FEEH L

M-R50MLO Male stud run tee
M-ORFS tube end/Adjustable UN/UNF thread O-ring (ISO 11926)

M-R870MLO Male stud run tee

. , _ SAE 520428
M-ORFS tube ends/Adjustable metric thread — O-ring (ISO 6149)
SAE 52M0488 1S0O 8434-3 SDRT Tube Thread  Thread Weight
0.D. UN/UNF-2A UN/UNF-2AB1 D D2 J M N XX (steel) M-ORFS PN (bar)
mm in. T5 T mm mm mm mm mm mm mm g/1 piece Steel S
Tube Threa Thread Weight 3 3
0.D. BSPP UN/UNF2A Bl D D2 JJ M N XX (steel) M-ORFS PN (bar) 6 14 71620 971618 16 5 5 14 22 33 2 67 M-4 RS0LO-S 420
mm in.  T87 T mm mm mm mm mm mm mm g/1piece Steel S 8‘]120 5”16/'23/8 9/16-18  11/16-16 19 7 8 19 25 37 25 131 ngRSS%hII_‘CISOSS :gg
6  1/4 Mi2xl5 971618 17 5 4 14 22 33 22 66 M-aM12R870MLOS 420 e N : é
14,15,16 5/8 7/8-14 1-14 27 13 13 27 33 50 34 288 M-10 R50LO-S 420
8,10 5/16,3/8 M16x1.5 11/16-16 22 7 7 19 25 38 27 131 M-6M16R870MLOS 420
18,20  3/4 11/16-12 13/16-12 35 16 16 30 37 55 37 558 M-12 R50LO-5 420
12 /2 Mi18x15 13/16-16 24 10 9 19 28 41 27 187 M-8M18R870MLOS 420 1820 3/4 151612 1371612 4116 21 36 41 60 41 560 M-12-16-12 R50LO.S 380
141516 5/8 M22x1.5 1-14 27 13 12 27 33 49 34 283 M-10M22R870MLOS 420 | 22'-25 1 _‘I-.SI/1.6__1"2. 1 7"./16._1“2 41 21 21 36 42 60 41 566 M-16 R50LO-S 380
1820  3/4 M27x2  13/16-12 32 16 15 30 37 55 37 549 M-12M27R870MLOS 420 = - .
283032 11/4 15/812 111/16-12 48 26 26 41 45 62 44 825 M-20 R50LO-5S 280
22,25 1 M33x2 17/16-12 41 21 20 36 42 59 41 565 M-16M33R870MLOS 420 3538 112 17/8-12 )12 sa 32 30 48 49 66 47 940 M-24 RSOLO-S 280
283032 11/4 M42x2 111/16-12 50 26 26 41 45 63 44 824 M-20M42R870MLOS 280 : . -
3538 11/2 M48x2 2-12 55 32 32 48 49 69 47 940 M-24M48R870MLOS 2l M-ORFS is delivered with NBR elastomeric seals as standard.
) ) ) _ Part numbers shown are part of our current manufacturing programme.
M-ORFS is delivered with NBR elastomeric seals as standard. Imperial and metric parts may vary in hexagon dimensions.
Part numbers shown are part of our current manufacturing programme.
. 0 . . ‘ PN (bar)
Imperial and metric parts may vary in hexagon dimensions. 0 PN (MPa)
PN1([I:;ar) =PN (MPa) Pressure ratings — PN shown, apply to Steel versions of the product.
Pressure ratings — PN shown, apply to Steel versions of the product.
Page 113 Page 114




FEEEEL MAST=re MASTER FEER S

M
>
mm_ ¢« D
T I
y — - - —
: A
\
T
N .
y :
M-S40MLO Male stud branch tee SSOMLO Male stud branch tee
M-ORFS tube end/Adjustable BSPP thread O-ring + retaining ring (IS0 1179) M-ORFS tube end/Adjustable metric thread — O-ring + retaining ring
Tube Threa Thread Weight Tub Thread  Thread Weight
0D. BSPP  UN/UNF2A B1 D D2 JJ M N XX (steel) M-ORFS PN (bar) 0.D. ~  metric UN/UNF-2AB1T D D2 J M N XX (steel) M-ORFS PN
mm in. T4 T mm mm mm mm mm mm mm g/l piece Steel S mm in. T8 T mm mm mm mm mm mm mm g/1 piece Steel (bar)
6 1/4 1/8 9/16-18 14 5 4 14 22 30 22 69 M-4540MLOS 250 6 1/4  M12x1.5 9/16-18 17 5 4 14 22 33 23 66 M-4M12580MLOS 250
6 1/4 1/4 9/16-18 19 5 8 19 24 36 25 97 M-4-4-4540MLOS 250 810 5/16,3/8 M16x1.5 11/16-16 19 7 7 19 25 37 26 131 M-6M16580MLOS 250
8,10 5/16,3/8 1/4 11/16-16 19 7 8 19 25 36 25 127 M-6540MLOS 250 12 /2 M18x1.5 13/16-16 22 10 9 19 28 41 29 187 M-8M18580MLOS 250
810 5/163/8 3/8 11/16-16 22 7 10 19 27 38 27 126 M-6-6-6540MLOS 250 141516 5/8 M22x1.5  1-14 27 13 12 27 33 49 35 283 M-10M22580MLOS 250
121/2 -3'18 1'3/1'671-6 22 10 10 19 28 38 27 146 M-8540MLOS 250 ) 18,20 3/4  M27x2  13/16-12 32 16 15 30 37 55 39 550 M-12M27580MLOS 250
12 1/2 1/2 13/16-16 27 10 12 27 31 49 34 174 M-8-8-8540MLOS 250 22,25 1 M33x2 17/16-12 38 21 20 36 42 59 43 566 M-16M33580MLOS 140
14,1516 5/8 12 1-14 27 13 12 27 33 49 34 288 M-10540MLOS 250 ' 283032 11/4 M42x2 11171612 50 26 26 41 45 62 46 824 M-20M42580MLOS 140
14,1516 5/8 3/4 1-14 36 13 16 30 36 52 37 314 M-10-10-12540MLOS 250 3538 1172 M48x2 2-12 55 32 32 48 49 69 49 940 M-24M48S80MLOS 140
1820 3/4  3/4 1371612 36 16 16 30 37 52 37 531 ‘M-12540MLOS 250 _
22,25 1 1 17/16-12 4 21 22 36 42 58 41 600 M-16S40MLOS 250 M-ORFS is delivered with NBR elastomeric seals as standard.
283032 11/4 11/4 111/16-12 50 26 28 41 45 61 44 850 M-20540MLOS 210 Part numbers shown are part of our current manufacturing programme.
3538 11/2 11/2 2-12 55 32 33 50 49 65 47 940 M-24S40MLOS 140 Imperial and metric parts may vary in hexagon dimensions.
PN(bar) _ py (Mpa)
M-ORFS is delivered with NBR elastomeric seals as standard. 10

Part numbers shown are part of our current manufacturing programme.

Imperial and metric parts may vary in hexagon dimensions.

PN (bar)
10

Pressure ratings — PN shown, apply to Steel versions of the product.

=PN (MPa)

Page 115 Page 116




B Single parts Y =] M= B Single parts

i B

5 i
{/// el i
."/—.\\I 7 ) — A_.
o ‘ '\ T =3 3 5 1 S
=} = =
ks N
(o | |
Y
h1 t1
i | h|
+E. 128
Cap nuts, DS-Ring
order code: M order code: DS
5 8 -
DS-Ring™ Cap nuts Fa *ﬁit!ﬂ?'&
WESME R e e Counter nut
pipe OD series M d d d i S h L L ordercode ordercode
A 4 s bk 1 2 2 order code: M-GM
4 M 81 4 5 3 4 8 10 115 M-04LLCFX
6 uw MIx1 6 75 4555 8 12 12 M-06LLCFX
8 Mi2x1 8 95 6 55 9 14 125 GR08LL
6 M12x15 6 81 4 7 10 14 15 95 9 DS 6L/S M-06LCFX =5 —
8 M14x1,5 8 101 6 7 10 17 15 95 95 DS &-L/S M-08LCFX . - : kngfﬁofrg%Ugi ardarente
0 M16x15 10 123 8 7 11 19 16 10 10 DS 10-L/S M-10LCFX 3 :
12 M18x1,5 12 143 10 7 11 22 16 10 105 DS 12-L/5 M-12LCFX M12X1,5 17 : it WShie L aE
15 | M2a5 15 173 12 7 12 27 175 102 105 DS 15-L M-15LCFX  M14xas 19 g L GITC L& TCEX
18 M26x1,5 18 203 15 7,5 12 32 18 102 11 DS 18-L M-18LCFX M 16X1,5 22 6 11 M-GM 8-5/10-LCFX
22 M30x2 22 243 19 7,5 14 36 205 11,5 115 DS 22-L M-22LCFX M 18X1,5 24 6 1.2 M-GM 10-5/12-LCFX
28 M36x2 28 303 24 7,5 14 41 22 115 115 DS 28-L M-28LCFX M 20X1,5 27 6 15 M-GM 12-5CFX
B M45x2 35 38 30 105 16 50 25 135 13 DS35l M-35LCFX 2 20 z o 2o
42 M52x2 42 45 36 11 16 60 25 135 135 DS 42-L M-42LCFX M 24X1,5 32 7 24 M-GM 16-SCFX
6 Miax15 6 81 4 7 12 17 16 95 9 DS 6L/ “M-065CFX __M26X1,5 36 B 3.7 LG BHIARY
8 M16x1,5 8 101 5 7 12 19 16 95 95 DS 8-L/S M-085CFX M 30X2 41 8 4,6 M-GM 20-5/22-LCFX
10 M18x15 10 123 7 7,5 12 22 175 10 10 DS 10-L/S M-105CFX M 36X2 46 9 6,0 M-GM 25-5/28-LCFX
12 M20x1,5 12 143 8 7,5 12 24 18 10 105 DS 12-L/S M-125CFX ~ M42X2 50 9 58 M-GM 30-5CFX
14 M2x5 14 163 10 8 14 27 20 105 105 DS 14-5 M-14SCFX _ Ma5x2 55 2 12 oM 45, L EEX
16 M24x15 16 183 12 85 14 30 21 105 105 DS 165 M-165CFX M 52X2 65 10 12,3 M-GM 38-5/42-LCFX
20 ‘M30x2 20 229 16 105 16 36 24 127 125 DS 20-S M-20SCFX
25 M36x2 25 279 20 12 18 46 265 127 13 DS 25-5 M-255CFX
30 M42x2 30 33 25 13,5 20 50 295 135 13 DS 30-S M-30SCFX
38 M52x2 38 41 32 16 22 60 325 135 135 DS 385 M-385CFX
Page 117 Page 118




Bfff  Single parts MASIere MASIER Bifk  Single parts

D S L
1 ~
|
—
(m]
I S =
S1
> !
A
X1)
G
X1)0OZEE
VSTIN N Al O —EDARGHEME
Blanking ends VSTI-ORMA 7~ £ i 1 i 4 Sk——4N ) 2 5 O BY B 22
order code: M-VSTI
order code: M-VSTI-OR
N Loy Loy
Withw.pipe thread
Pk = IR (bor)
B MA* MA* T D1 L1 L2 S1 ORE =/t et CF
%51 in k=) in me == WS
series G D | i S NM ordercode G D I i S NM ordercode M 8X1 12 13.0 9.5 4 OR6.1x1.6X 6 M-VSTI8x10RCF 630
M 10x1 14 12 8 5 13 M-VSTI 10x1 EDCF G 1/8"A 14 12 8 5 15 M-VSTI 1/8 EDCF M 10X1 13 1355 9.5 5) OR8.1x1.6X 8 M-VSTI10x10RCF 630
M12x1,5 17 17 12 6 30 M-VSTI 12x1.5 EDCF M 12X1,5 17 15.5 11.0 6 0OR9.3x2.2X 14 M-VSTI12x1.50RCF 630
M14x1,5 19 17 12 6 40 M-VSTI 14x1.5 EDCF G 1/4"A 19 17 12 6 33 M-VSTI 1/4 EDCF M 14X1,5 19 16.0 11.0 6 OR11.3x2.2X 20 M-VSTI14x1.50RCF 630
M16x1,5 22 17 12 8 60 M-VSTI 16x1.5 EDCF ) _ M 16X1,5 21 17.5 12.5 8 OR13.3x2.2X 26 M-VSTI16x1.50RCF 630
200 M18x1,5 24 17 12 8 70  M-VSTI18x1.5EDCF G 3/8"A22 17 12 8 70 M-VSTI 3/8 EDCF _ ~ M18X1,5 23 19.0 14.0 8 OR15.3x2.2X 37 M-VSTI18x1.50RCF 630
M20x1,5 26 19 14 10 90  M-VSTI20x1.5 EDCF M 22X1,5 27 20.0 15.0 10 OR19.3x2.2X 58 M-VSTI22x1.50RCF 630
M22x1,5 27 19 14 10 100  M-VSTI 22x1.5 EDCF G 1/2"A 27 19 14 10 90 M-VSTI 1/2 EDCE M 26X1,5 31 21.0 16.0 12 OR22.7x2.8X 77 M-VSTI26x1.50RCF 400
M26x1,5 32 21 16 12 120  M-VSTI 26x1.5 EDCF M 27X2 32 23.5 18.5 12 OR23.7x2.9X 95 M-VSTI27x20RCF 400
M27x2 32 21 16 12 150 M-VSTI 27x2 EDCF G 3/4_"A 32 21 16 12 150 M-VSTI 3/4 EDCF _ M 33X2 38 25.0 18.5 14 OR29.6x2.9X 148 M-VSTI33x20RCF 400
M33x2 40 225 16 17 250  M-VSTI 33x2 EDCF G 1"A 40 225 16 17 220 M-VSTI 1 EDCF _ M 42X2 48 25.5 19.0 22 OR38.6x2.9X 233 M-VSTI42x20RCF 400
o M42x2 50 22,5 16 22 400  M-VSTI 42x2 EDCF G11/4" A 50225 16 22 500 M-VSTI 1/4 EDCF M 48X2 =5 28.0 215 24 OR44.6x2.9X 336 “M-VSTI48x20RCF 400
M48x2 55 22,5 16 24 400  M-VSTI 48x2 EDCF G11/2" A 55225 16 24 500 M-VSTI 1/2 EDCF
TEEEMEL NBR
Page 119 Page 120




Pitr  Singleparts MASI=re MASI=R Bt Single parts

S 51
< 2]
‘.,‘i i
de
Rz AN EEE
L2 Seal-edge rings
L1 order code: M-DKA, M-DKAD
T SBE/SGE SB..
il o P Pt i w o
. - = ntendedause #= 1100 ntendequse #;= J100
Standpipe End Plugs with 24 Inner Cone SBE../SGE. . order code b ko SE order code b i G d, d
g P 9 p 5 6
q e 6-RL M-DKAR 1/8" /SA25 25 0,1 6-RL M-DKAR 1/8" /M10 37 02 G 1/8°A 10 14
order code: M-ROV 8RL6RS MDKAR1/4” SA3 3 02 8RL GRS M-DKAR 1/4’ 35 03 G UA4A 1316 18
10-RL;8-RS 10-RL; 8-RS
12-RL; 10-RS M-DKAR 3/8" /SA 3 03 12RL; 10-RS  M-DKAR 3/8" 45 04 G 3/8"A 1666 22
12-RS 12RS; - - ,
15-RL; 14-RS M-DKAR1/2" /SA4,5 45 06 15RL; 14-RS  M-DKAR 1/2 55 07 G 12°A 209 26
PN _ 18RL6RS _ _ 18RL;16RS _ S N
WEsE  EZ5 e 22-RL; 20-RS M-DKADR 3/4" 35 06 22R;20RS  M-DKAR 3/4" 5 07 G34A 2644 32
pipe OD series S g L, L, ordercode 28-RL; 25-RS M-DKAR1" /M33/SA3,5 35 09 28RL;25-RS  M-DKAR1"/M33 6 1,1 G1 " A 3325 39
6 ) 12 14 22 7 M-ROVOGLCF 35-RL; 30-RS M-DKAR11/4" /M42/SA3535 12  35-RL; 30-RS  M-DKAR11/4" /M4265 13  G11/4'A 42 49
8 s 14 17 23 8 M-ROVOSLCF 42-RL; 38-RS M-DKAR11/2" /M48/SA3,535 1,4 42-RL;38RS  M-DKAR 11/4" /M4265 1,5 G11/2’A 48 55
1w 2 Taz 1w 9 M-ROVIOLCF 6-ML  M-DKA M10/SA2,5 25 01 6ML MDKAR 1/8” /M10 37 02 M10x1 10 14
0 19 22 25 10 M-ROV12LCF - 8ML;6-M5 M-DKA M12/5A3 3 02  8ML 6-MS M-DKA M12 4,5 03 M12x1,5 12 17
15 [1470000] 24 27 26 1 M-ROV15LCF 10-ML; 8-MS  M-DKA M14/SA3 3 03  10-ML; 8-MS M-DKA M14 45 04 M14x1,5 14 19
18 27 32 28 11,5 M-ROV18LCF 12-ML; 10-MS M-DKA M16/SA3 3 03 12-ML; 10-MS ~ M-DKA M16 4,5 04 M16x1,5 16 21
22 32 36 30 13,5 M-ROV22LCF 15-ML; 12-MS M-DKA M18/SA3 3 0,3 15-ML; 12-MS M-DKA M18 4,5 04 M18x1,5 18 23
j 28 30 41 41 31 145 M-ROV28LCF ~14MS M-DKA M20/SA3 3 04 14-MS M-DKA M20 45 05 M2x1,5 20 25
T35 MO0 a5 30 36 145 M-ROV35LCF 18-ML; 16-MS M-DKA M22 45 06 18-ML16-MS  M-DKA M22 45 06 M22x15 22 27
42 55 60 39 16 M-ROV42LCF 22-ML M-DKAD M26 3,5 0,5 22-ML M-DKA M26 45 0,6 M26x1,5 26 £l |
6 » 14 17 26 n M-ROV06SCF 20-Ms M-DKAD M27 35 06 20-MsS M-DKA M27 55 07 M2 27 32
~ 8 8o 17 19 28 13 M-ROVO8SCF 28-ML; 25-MS M-DKAR1” /M33/SA35 35 08 28ML;25-MS M-DKAR1" /M33 6 1,0 M33x2 3325 39
10 3400 9 9 29 125 M-ROV10SCE 35-ML; 30-MS M-DKAR11/4" /M42/SA3,53,5 1,2  35-ML;30-MS  M-DKAR 11/4" /M426,5 1,3  M422 42 49
12 22 24 31 145 M-ROV12SCF 42-ML; 38-MS M-DKAR11/2" /M48/SA3,535 14  42-ML;38-MS  M-DKAR 11/2" /M486,55 1,5 M48x2 48 55
14 ooy 24 27 34 16 M-ROV14SCF SBD..
T 27 30 34 155 M-ROV16SCF 18-RL M-DKADR 1/2" 35 05 GI2"A 21 26
20 32 36 39 175 M-ROV20SCF 22-RL M-DKAD R 3/4" 35 06 G3/4" A 265 32
25 400 A 46 44 20 M-ROV25SCF 16-RS M-DKADR 1/2" 35 05 G1/2"A 21 26
30 07000 46 50 47 205 M-ROV30SCF 20-RS M-DKAD R 3/4" 35 06 G34"A 265 32
38 55 60 54 23 M-ROV06SCF 18-ML M-DKAD M 22 35 05 M22X15 22 27
L 22-ML M-DKAD M 26 35 06 M26X1,5 26 31
FHEEFRERNITHERSRE:  M-ROVO6LCFX - -
der code of items without nut and DS-Ring f. le:  M-ROVOBLCFX 16-MS M-DKAD M 22 el el L
oraer code ot items without nut an -RiNg Tor example: - 20-MS M-DKAD M 27 35 0,6 M27X2 27 32
Page 121 Page 122




Wi Singlepans MASTee MASIE= Mt Single parts

1 7 )
= |

ds = NN
S

a5 . Ys7 B
b 0-Ring
L1
HEFLIE L

Backing Plugs
order code: M-VKA

WEsE PN Er=]
pipeOD %%l F35/100 Fiih=
d, series L L OR ing kgfor%pc.  ordercode
6 . 18,5 20 45 X 1,5 0,6 M-VKAO6CF
8 500 18,5 20 65 X 1,5 0,9 M-VKAO8CF
g 20 21 8 x 15 1,4 M-VKA10CF
EAFRRZEHE 12 p= 20,5 21,5 0 X 15 19 M-VKAT2CF
H i [1700] 20,5 21,5 12 x 2 3,1 M-VKA15CF
Seal-edge rings T 22,5 24 15 X 2 62 M-VKA18CF
. 22 25 26,5 20 X 2 9,9 M-VKA22CF
order code: M-DKI 28 - 255 27 26 x 2 15,1 M-VKA28CF
35 [1100] 30 33 32 X 25 25,2 M-VKA35CF
42 30 335 38 x 2,5 359 M-VKA42CF
6 5 18,5 20 45 x 1,5 06 M-VKAO6CF
8 o 18,5 20 65 X 1,5 09 M-VKAOBCF
10 20 21,5 8 x 15 14 M-VKA10CF
12 20,5 22 10 x 1,5 1,9 M-VKA12CF
O THAS 14 o 22,5 24,5 1 x2 26 M-VKA14CF
Forinternal thread  d; dg h orderings symbol 16 23,5 26 12 X 2 46 M-VKA16CF
G1/4" 6 11,3 45 M-DKIR 1/4” ) 20 28,5 31,5 16,3%x 2,4 7,7 M-VKA20CF
G1/2" 12 18,5 5 M-DKIR 1/2" _ 25 400 29 32,5 20,3x 2,4 11,9 M-VKA25CF
30 11700 30,5 35,5 253X 2,4 17,9 M-VKA30CF
38 33 40,5 334X 24 30,8 M-VKA38CF
Page 123 Page 124




FitF  Singleparts MASI=re MASIER BifE  Single parts

-= —
D1
D2
D3 ™ o
Ql X1)t-t =| 8
(N o Q
Q
X2)
N '
L2
ED 2T B L1
Captive seals and TR-rings
order code: M-ED order code: M-TR
WD# R Materials WD: NBR TEg#&f: FPM &g
WD & Materials TR: NBR TEg#&Ek: FPM &gk
B8 BE i 5t ik . 5 il
Stud thread Nenn- D, L Order code" L Order code s =
M 8x 1 8 65 99 o M-ED MBxIL. 15 57  WMIRELS KDS BrisiEN Bk (SWVE/WH/TH) 3 E
M10x1 GI/8 "A 10 84 11,9 "~ M-EDR1/8" /M10x1/.. | 15 7.7 M-TR 8-L/S
M12 x1,5 12 98 144 M- ED M12x1, 5/.. _ 15 9,7 M-TR 10-L/$
M14x1,5 Gl1/4 "A 14 116 165 M- ED R1/47M 14x 1,5/ ... 15 11,7 M-TR 12-L/S
16 Z ' ' ' TR 15- X1) TG Bt
M16x1,5 ] 138 18,9 M- ED M16)i1, 5/... 15 14,7 M-TR 15-L X2) ST (BE4)
G3/4 "A 17 147 189 M- ED R3/8" /.. . 1,5 17,7 M-TR 18-L
M18x1,5 18 157 209 1,5 M-ED M18x1, 5/.. 20 217 M-TR 22-L
M20x1,5 20 178 229 M-ED M20x1, 5/. | 20 277 M-TR 28-L _ THES
G3/4 'A 21 185 239 M-Ep R1/2" / 7 1,5 34,6 M-TR 32-L Gl B =
M22x1,5 22 196 243 M-ED M 22x1, 5/... 1,5 41,6 M-TR 42-L SMBEL SME AL D1 D2 D3 L1 L2 =/ BT RS B/ R
M26x15/M27x2 G3/4 "A 27 239 292 M-ED R 3/47M26/M27/... 15 57 M-TR 6-L/S M10x1 G1/8A 103 | 149 | 160 25 1.1 2 KDS10X KDS10VITX
M33x2 G1 "A 33 297 357 M-ED R 1/M33x2/ .. 15 17 M-TR 8-L/S R:}ijg — :ig g-g ;g-g g-g 1-2 g ﬁgg}fé ﬁgg:ﬂg
" Iy T > 4 I 3 5 2 H Jl
L Gl/4'A 42 388 45820 MEDR1/A/MA2x2/.. | 15 97  MIRIOLS _ M16x15 | G3/8A 170 | 219 | 240 | 30 | 2. 3 KDS16X KDS16VITX
M48x2 G11/2"A 48 447 50,7 M-ED R 11/2"/M 48x2/ ... _ 15 11,7 M-TR 12-L/S _ M18x1.5 18.3 23.9 239 3.0 4 KDS18X KDS18VITX
1.5 13,7 M-TR 14-5 M22x1.5 G12A 223 | 269 | 30.0 45 26 7 KDS22X KDS22VITX
15 15,7 M-TR 16-S _ M26x1.5 263 | 319 | 350 35 26 7 KDS26X KDS28VITX
20 19,7 M-TR 20-S M27x2 G3/4A 273 | 329 | 380 3.5 26 8 KDS27X KDS27VITX
20 247 MTR 2525 M33x2 G1A 336 | 399 | 420 35 26 10 KDS33X KDS33VITX
T S - M42x2 G114A 424 | 499 | 499 3.5 12 KDS42X KDS42VITX
3D T TS M48x2 G112A 484 | 559 | 600 35 26 16 KDS48X KDS48VITX
Page 125 Page 126




MifF  Single parts ViASiore MASI=ro

M4  Single parts

Knurlirg
-
441 ol &
Q| g
X1)
_U —
X2) ©
) Vo prrrrrrrrrs
L1
B —
EE
KD AFERGEAEL (WHTH) B e Reinforcing Rings
HEFINEXET , mEme
AFEILOEEED SpHEF IS TbeoDx P Ordering
wall thickness ~ Tube ins@ | d d, symbol steel
6x1 4 155 2,6 3,8 M-VSH 6xI
X1) PTFE 23 6)(0,75 4,5 15,5 3,1 4,3 M-VSH 6)(0,75
X2) ZHHF (FHEH) 6x0,5 5 155 3,6 4,8 M-VSH 6x0,5
Bl 6 155 46 58 MVSH 81
~ 8x0,5/10x1,5 7 17 56 68 MVSH 8x05/10x1,5
10x1 8 16,5 6,6 7,8 M-VSH10x1
AT AT = = - 1 ks N
0BLRKD71 G1BA 100 17.0 25 2 KD1/871 12x1 10 165 86 98 MVSH12x1
08LR/06SRKD71 G14A 135 22.0 3.0 4 KD1/471 14x1/15x1,5 12 175 106 11,8 MVSH14x1/15x1,5
10LR/08SRKD71 G14A 13.5 22.0 3.0 4 KD1/471 ~ 15x1/16x1,5 13 185 11,6 12,8 M-VSH 15x1/16x1,5
12LR/10SRKD71 G38S 171 27.0 3.0 6 KD3/871 16x1/18x2 14 185 12,2 13,8 M-VSH 16x1/18x2
12SRKD71 G3/8A 17.1 27.0 3.0 6 KD3/871 18x1,5 15 175 132 148 MVSH 18x15
R ey 51 5T iE E> AT o 18x15 E
18LR/16SRKD71 G12A 214 320 45 12 KD1/271 i8R A 16 2242 158 M¥SHISx120x2
22LR/20SRKD71 G34A 26.8 41.0 35 17 KD3/471 20x1,5 17 22 152 168 M-VSH20x1,5
28LR/25SRKD71 G1A 335 46.0 3.5 17 KD171 _ 20x1/22x2 18 22 162 17,8 M-VSH 20x1/22x2
35LR/30SRKD71 G11/4A 42.4 57.0 35 26 KD11/471 22x1,5 19 18 172 188 M-VSH22x1,5
42LR/38SRKD71 G1112A 48.4 64.0 35 35 KD11/271 22x1/25x2,5 20 23,5 18,2 19,8 M-VSH 22x1/25x2,5
06LMKD71 M 10x1 10.3 17.0 25 2 KD1071 T 25x2 21 235 192 208 M-VSH25x2
08LM/06SMKD71 M 12x1.5 12.3 22.0 3.0 5 KD1271 .
10LM/08SMKD71 M 14x1.5 14.3 225 3.0 5 KD1471 2,5 22 21 202 215 Ml 25l
12LM/10SMKD71 M 16x1.5 16.4 27.0 3.0 9 KD1671 28x2 24 18 222 23,8 M-VSH 28x2
15LM/12SMKD71 M 18x1.5 18.4 29.0 3.0 9 KD1871 28x1,5 25 18 232 248 M-VSH 28x1,5
14SMKD71 M 20x1.5 20.4 32.0 3.0 9 KD2071 28x1/30x2 26 255 242 258 M-VSH 28x1/30x2
18LM/16SMKD71 M 22x1.5 224 32.0 45 12 KD2271 35x2,5 30 22,5 27,8 298 M-VSH35x2,5
22LMKD71 M 26x1.5 26.4 41.0 35 18 KD2671 35,2 31 225 788 308 MVSH35x2
20SMKD71 M 27x2 27.4 41.0 3.5 18 KD2771 . . .
35x1,5 32 225 29,8 31,8 M-VSH35x1,5
28LM/25SMKD71 M 33x2 335 46.0 35 17 KD171 38x2 5 = S R 38’(2 -
35LM/30SMKD71 M 4252 42.4 57.0 35 26 KD11/471 X : . : - il
421 M/38SMKDT71 M 48x2 48.4 64.0 35 35 KD11/271 42x2 38 235 358 37,8 M-VSH 42x2

Page 127

Page 128




